ST-2048 RRB CLERK (MAINS) 2020 (PRACTICE)

Passage for Question 1, 2, 3, 9, 40 (ST-02 SBIASSO.BCL(16-20)2015)
eng Passage

Read the following information and answer the questions given below-

In a family of six members A, B, C, D, E and F each plays one game out of six games Football, Hockey, Golf, Pool, Tennis and Swimming. There are two married
couples. B who plays Hockey, is daughter — in — law of E. A is father of D who is a Golf player and D is father of C who is a swimmer. F is brother of C. Football
is not played by any female member. E’s husband plays pool.

hi Passage
Rraforiad gaamsll #7 e\ IE® Tedh A+ &7 T 77 % AL <A1

: AR A, B, C, D, E 3T F # & Wi &: fafere @« -geatar, g, Tew, T, A o7 330 § ¥ uF @« goqr g1 398 a7 faared e g1 B S gt
GAAT § E FT S(eT-33-91 81 A, D 7T f9q1 8 ST TeF @ear § i D, C &7 a1 8 ST a7 81 F, C F7 ATS gl F1 AIZAT TG Feald dgl °aodl gl E &l
af O =T gl

Q-1 Who is tennis player?
01. A 02. D
03. E 04. C
05. B

Q-1 Fmfaemdiame

01. A 02. D
03. E 04. C
05. B
Solution for Question 1 Ans Key: 3

[A |==(E) Tennis

Pooal
Golf[ D] (B) Hockey

SwimmingC Football

[] = Male O = Female

Q-2 How is C related to B?

eng
01. Daughter 02. Son
03. Brother 04. Can’t be determined
05. Mother

Q-2 C, B ¥ for waTe "afaa g2

hi
01 =t 02. o=
03. w1 04. et T2t o ST Fear
05. HTET

Solution for Question 2 Ans Key: 4



eng Poal [Al==E) Tennis
Golf[ D] (B)Hockey
SwimmingC Football
hi

Q-3 Which of the following is not correct?

eng
01. A-Pool 02. B-Hockey
03. F-Football 04. C-Swimming
05. E-Golf

Q-3 Frerforfera & & #1 a7 @8t 781 82

01. A-ger 02. B-ziehr
03. F-weard 04. CaF
05. E-T<%F

Solution for Question 3

A =) Tennis

Poal

Golf[ DF—=(B) Hockey

Swimming C—E] Football

Ans Key: 5

Passage for Question 4, 5, 6, 7, 8 (ST-03 SBI PO PRE (16-20) 2016)
eng Passage

an illustration of an input and rearrangement given below.

Input: Digital India 17 20 make in 23 43 56 16 network internet
Step I: 16 digital India 20 make in 23 43 56 network internet 17

Step II: 20 16 digital India make in 43 56 network internet 17 23
Step III: 56 20 16 digital India make in network internet 17 23 43
Step I'V: digital 56 20 16 India make network internet 17 23 43 in
Step V: India digital 56 20 16 make network 17 23 43 in internet
Step VI: make India digital 56 20 16 17 23 43 in internet network.

Input: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

A word and number arrangement machine when given an input line of words and numbers rearranges them following a particular rule in each step. The following is

Step-VI is the last Step. As per the rules followed in the above Input, give the answer of the following questions.




hi Passage

T 58 3T U AT ATEATIT HLH FT ST Fil% A (AT ST ¢ a1 98 TS  5a1 T FeArsft & foheft Faa- e % e a7 go =0
AT AT TEdT 81 TS T UF IS0 31T [egaet e wame & «=r & wf & -

T¢<: Digital India 17 20 make in 23 43 56 16 network internet

=T I: 16 digital India 20 make in 23 43 56 network internet 17

=07 11: 20 16 digital India make in 43 56 network internet 17 23

=07 111 56 20 16 digital India make in network internet 17 23 43

=7 IV: digital 56 20 16 India make network internet 17 23 43 in

=TT V: India digital 56 20 16 make network 17 23 43 in internet

=07 VI: make India digital 56 20 16 17 23 43 in internet network.

LT VI MG F0T 1 ITH A H AR T 10 fet 3 srene a2 = f3w e et 3 3w 3

TTYLE: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

Q-4 How many elements are between clock and hands in step number [V?
eng

01. None 02. One

03. Two 04. Three

05. Four

Q-4 =TIV # clock 37 hands ¥ fi= # fra 77 27

01. g T2t 02. w=
03. a7 04.
05. 9T
Solution for Question 4 Ans Key: 1

Input: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

StepI: 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
Step IT : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
Step III : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
Step I'V: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
Step V: clock 60 40 30 10 minutes seconds time hour 9 13 19 69 hands
Step VI: hour clock 60 40 30 10 seconds time @ 13 19 69 hands minutes
Step VII: seconds hour clock 60 40 30 10 9 13 19 69 hands minutes time
Step VII is the last Step.

§19<: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

=0 [ : 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
=IO 11 : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
=07 111 : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
=T [V: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
=T V: clock 6040 30 10 minutes seconds time hour 9 13 19 69 hands
=0T VI hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
=0T VII: seconds hour clock 60 40 30 109 13 19 69 hands minutes time

=T VIT TG TR
Q-5 How many steps will be required to complete the final output of the given input?
eng
01. v 02. VI
03. VII 04. 1V

05. None of These
Q-5 2T T T e 7 2 F 3 for P st i strareshar i

01. v 02. vI
03. VI 04. 1V



05. =7 # & FE T

Solution for Question 5

eng

Q-6

Q-6

Input: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

StepI: 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
Step IT : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
Step III : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19

Step IV: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69

Step V: clock 60 40 30 10 minutes seconds time hour 9 13 19 69 hands

Step VI: hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes

Step VII: seconds hour clock 60 40 30 10 9 13 19 69 hands minutes time
Step VII is the last Step.

E:FE!‘E: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

=T [ : 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
=07 11 : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
=111 : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
=T TV: 60 40 30 10 minutes seconds time hour clock hands © 13 19 69
=0T V: clock 604030 10 minutes seconds time hour 9 13 19 69 hands
=0T VI: hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
=T VII: seconds hour clock 60 40 30 109 13 19 69 hands minutes time
RO VI TG =R €

What is the position of ‘seconds’ in Step number III from left?

01. Fifth from the right 02. Sixth from the left
03. Fourth from the left 04. Fifth from the left

05. None of these

=207 111 § 974 FITH “‘seconds’ T FAT TITH ZHIT?

01. =73 & 9i=ar 02. I T T
03. 73 F 59T 04. TF T Ti=ar

05. =9 T FIs ALl

Solution for Question 6

Input: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

StepI: 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
Step IT : 30 10 60 minutes seconds time hour 19 69 clock hands 409 13
Step III : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
Step I'V: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
Step V: clock 60 40 30 10 minutes seconds time hour 9 13 19 69 hands
Step VI: hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
Step VII: seconds hour clock 60 40 30 10 9 13 19 69 hands minutes time
Step VII is the last Step.

192 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

=AM [ : 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
=T 11 : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
=7 111 : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
=M IV: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
= V: clock 6040 30 10 minutes seconds time hour 9 13 19 69 hands
=T VI: hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
=M VII: seconds hour clock 60 4030 109 13 19 69 hands minutes time

Ans Key: 3

Ans Key: 2



=7 VI 1TfEd = 2

eng

Q-7

Which of the following steps is the Step V of the given input?

01. Clock 3040 60 10 minutes seconds time ~ 02. 10 30 40 60 clock minutes seconds time hour hands 9 13 19 69.

hour 69 19 13 9 hands.

03. Clock 60 40 30 10 minutes seconds time ~ 04. Clock 60 40 30 10 minutes seconds time hours 13 19 69 9 hands.

hours 9 13 19 69 hands.

05. None of these.
e & & f3u 13 29e § V 9201 FH-497 g0 2

01. Clock 30 40 60 10 minutes seconds time ~ 02. 10 30 40 60 clock minutes seconds time hour hands 9 13 19 69.

hour 69 19 13 9 hands.

03. Clock 60 40 30 10 minutes seconds time ~ 04. Clock 60 40 30 10 minutes seconds time hours 13 19 69 9 hands.

hours 9 13 19 69 hands.
05. None of these.

Solution for Question 7

eng
Input: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40
Step I: 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
Step IT : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
Step III : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
Step IV: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
Step V: clock 60 40 30 10 minutes seconds time hour 9 13 19 69 hands
Step VI: hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
Step VII: seconds hour clock 60 40 30 10 9 13 19 69 hands minutes time
Step VII is the last Step.
hi
F19¢: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40
=AOT [ : 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
=IO 11 : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
=07 111 : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
=07 [V 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
=0 V: clock 60 4030 10 minutes seconds time hour © 13 19 69 hands
=0T VI: hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
=0T VII: seconds hour clock 604030 109 13 19 69 hands minutes time
=T VI AT =R 8
Q-8 How many more steps will be required to complete the final step for the given input?
eng
Input: 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
01. Two 02. Three
03. Four 04. Five
05. There is no such step.
Q-8 30 I TAqe QT A o forw A ot st wwon Y sraeTar gl 2
hi

TTYZ: 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19

01. =y 02. @+
03. =¥ 04. 9=
05. THT IS AT AGI B

Solution for Question 8

eng



Input: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

StepI: 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
Step IT : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
Step III : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
Step I'V: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
Step V: clock 60 40 30 10 minutes seconds time hour 9 13 19 69 hands
Step VI: hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
Step VII: seconds hour clock 60 40 30 10 9 13 19 69 hands minutes time
Step VII is the last Step.

FT9¢2: 60 minutes 10 13 seconds time hour 9 30 19 69 clock hands 40

=T [ : 10 60 minutes 13 seconds time hour 30 19 69 clock hands 40 9
=M 11 : 30 10 60 minutes seconds time hour 19 69 clock hands 40 9 13
=T 111 : 40 30 10 60 minutes seconds time hour 69 clock hands 9 13 19
=T IV: 60 40 30 10 minutes seconds time hour clock hands 9 13 19 69
= V: clock 6040 30 10 minutes seconds time hour 9 13 19 69 hands
=T VI hour clock 60 40 30 10 seconds time 9 13 19 69 hands minutes
=0T VIT: seconds hour clock 60 40 30 109 12 19 60 hands minutes time
=T VI TR =T &

Passage for Question 1, 2, 3, 9, 40 (ST-02 SBIASSO.BCL(16-20)2015)
eng Passage

Read the following information and answer the questions given below-
In a family of six members A, B, C, D, E and F each plays one game out of six games Football, Hockey, Golf, Pool, Tennis and Swimming. There are two married

couples. B who plays Hockey, is daughter — in — law of E. A is father of D who is a Golf player and D is father of C who is a swimmier. F is brother of C. Football
is not played by any female member. E’s husband plays pool.

hi Passage

e feriad GTst 7 e gE® TEh A1+ (&d T TA7 % I arford-

F: A0 A, B, C, D, E 31T F # & e =: fafers @at -geater, git, Teh, T, 24 T Gl § § UF @ GodT gl 394 &l [adiiad siie &1 B S gt
GAdT & E#T STeT-3A-a11 81 A, D &7 a1 & ST T @erar € 37 D, C &7 a1 & ST 3274 81 F, C T 9TS gl FIs AIZAT TaeT Feard dgl aodl gl E &7
ot I @erar g

Q-9 How many male members are there in the group?

Lllg
01. None 02. One
03. Two 04. Three

05. Can’t be determined

Q-9 g | e geT qaea 82

hi

01. =7g =gl 02. T

03. =t 04.

05. fReifa w3 S whar
Solution for Question 9 Ans Key: 5
eng Pool [AF==(E) Tennis

Golf[ D] (B) Hockey

SwimmingC Football

[] = Male () = Female

hi s |AE=—E) =fm



e D] (B) stast

=1l C—1F] meata

O=gsw (O =afEa

Q-10

eng

Q-10

In each question given below three statements are followed by two conclusions numbered I and II,. You have to take the three given statements to be true

(even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements :

All open are load.

Some open are comments

Some comments are work.

Conclusions :

I. Some comments being work is a possibility
II. Some work being load is a possibility

Give answer-

01. Ifonly conclusion I follows. 02.
03. TIfeither conclusion I or IT follows. 04.

05. Ifboth conclusions I and 11 follow.

If only conclusion II follows.

If neither conclusion I nor II follows.

A Tl T | AT I T a7 Aoy 13T 1 w81 sraeny o 1 90 R0 T Aol @41 € (T F ATHIGAT gt gt | 9w 7= 7 20|
ATt &1 08 37 oY 72 a3 2 T 1 & o arfhsd =7 | @20 F7d &

g THIAT, FTH g

I. T THIAT, F FTH g4 6l TF GHET ¢
II. % FTH F TSI 6l TF GHadT 2|

I AfIT-

01. =rfg e [ SIgaTOr FdT g

03. fg 37 v e [ 37 I e Fear 21 04 arfe o7 fAeened 19 & 11 sregEeor eat 21

05. Ffg fAee [ 3i¥ 11 TAT STELT FEd 2

Solution for Question 10

02. =fg fAea 11 e F2dT &

Ans Key: 2

Q-11

eng

The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for

answering the questions. Mark answer -

Amongst five friends P, Q, R, S and T seated in straight line facing South, who sits to the immediate left of Q?

I. P sits third to the right of Q. T is not at the right hand side of Q.
II. Q sits third to the left P. T does not sit between P and Q.

01. TIfstatement I alone is sufficient but 02.
statement II alone is not sufficient.

03. If each statement alone (either I or II) is 04. TIf statement I and II together are not sufficient.

sufficient.

05. Ifboth statement together are sufficient, but
neither statement alone is sufficient.

If statement IT alone is sufficient but statement I alone is not sufficient.

A= o T et H G FAAT F AT F R AARTT 4T T2 g et Ag i w1 g 0 o7 oy § € 7 Sy 397 & & forg a7iy )

I difore-



af= = P, Q, R, S 3% T aferor &t e g vah Ua ufer § 9% § 398 ¥ A9 Q F A 10 3317 2

I. P, Q% a0 f1\T 21 T, Q % 314 a¥F 7! 2l
IL Q,P % a0 fHRT I T, P 3T Q F o= & 71 Jat 2

01. =f% Faa F [ &1 7T § A aaar 02, If Faar w0+ 11 &1 TATH § AR 3ael F9 [ 7478 T8 2

FA 11 T8 21 2
03. If =T Faet [ AT Fae [ T37H 2| 04. {13 [ FT TIITH &
05. =fg T Fa9 [ 11 UF 979 9379 3
AR STET-STENT TATH A1 2l
Solution for Question 11 Ans Key: 1
eng ® RorSRorSQ T
| | | |
il P RorSRorsQ T
| | | |

Passage for Question 12, 13, 16, 19, 24 (ST-133 CWEBCL (22-26) 2014)
eng Passage

Study the following information carefully and answer the questions given below.

Six executives Verma, Khanna, Gupta, Mishra, Singh and Rastogi are of a distinguished paint enterprise are travelling in four cars to attend a seminar in Delhi.One
person is driving each car and there are not more than two persons in any one of the cars. These cars are running one after the other from first to fourth. Gupta and
Rastogi are travelling in different cars. The first and the fourth have only one person in the car. The car, which Verma is drawing, Mishra is the only traveller in that
car. Singh is the only person in one of the cars.

hi Passage

oo

T ST T ST Oa® Tedd= hiford 3T Jr= {37 T 971 3 3T J o7

UF AT U2 S2W & gg Tiatrer a9, @, TET, e, [y o wanit uF e § orfae g9 & o, J F1 #§, fawsdt S 78 81 Ie® F1 #1 UF
SR =T BT 2 ST et oft e § 21 & arferek =i~ 981 §1 3 1 Tt § oI =eft T U 6 918 UF 9 Tl &1 AT 30T TR -3 w1l §
IATAT ¥ T Z| Tl 3T =TT 1Y § Fael Uk TT2a< | THT S 1 TAT 12 &, AL I haed (9T AT 2| U w12 § [ig vwgrr =af<r 2|

Q-12 If only Rastogi and Khanna are in the same car, which of the following people could be in the first car?

01. Verma 02. Khanna
03. Gupta 04. Rastogi

0S. None of these
Q-12  =f% Faer TEAft 3T @=T U & w1 A 8 A1 A o0 § & AT Tge F1 H g7 qhdar 82

01. =T 02. g+

03. T 04. vEFRIT

05. gt & 1 A
Solution for Question 12 Ans Key: 3
eng Car 1 : Singh/Rastogi/Gupta/Khanna

Car 2: Verma, Mishra/Gupta Khana/Khanna, Rastogi
Car 3: Verma, Mishra/Gupta Khanna/Khanna/Rastogi.
Car 4: Singh/Rastogi/Gupta/Khanna

Car 1 : Singh/Gupta

Car 2 : Rastogi, Khanna/Verma, Mishra

Car 3: Rastogi, Khanna/Verma, Mishra

Car 4: Singh/Gupta

hi F1Y 1 e/t AT/
T2 AT, TATAET F=T/a=, TEni
T3 T, FHAT/ATHT @1/ @n/AEd i,
FIY 4 : Fig/AEaitATaT /AT
#17 1: gt
FTT 2: 97, TA=T
T 3: G, T[AT
1Y 4: fig, Teanft

Q-13 If in third car, only Khanna and Gupta is there, which of the following is definitely true?
eng



01. Vermaincar4 02. Khanna in car 4 or car 2
03. Mishra in car 2 or car 4 04. Rastogiin car 1 or car 4

05. None of these
Q-13  =fe F= w12 | Fae @=1 o A1 8, 91 Fafaied § F 7 a1 =g €58 907 22

0l quTFT4H 02. TETFTA4ITFL2H
03. TEMFR2IATHF4LH 04, TR FX 1 ATFL4H
05. =8 & #rE T

Solution for Question 13

Ans Key: 4

eng Car 1 : Singh/Rastogi/Gupta/Khanna
Car 2: Verma, Mishra/Gupta Khana/Khanna, Rastogi
Car 3: Verma, Mishra/Gupta Khanna/Khanna/Rastogi.
Car 4: Singh/Rastogi/Gupta/Khanna
Car 1 : Singh/Rastogi
Car 2 : Verma, Mishra
Car 3 : Khanna, Gupta
Car 4 : Singh, Rastogi

hi F1Y 1: gt AT/
1T 2 : T, TATAET F=/ae, Tt
T3 : AT, THATATAT @1/ @n/AEd i,
F1Y 4 : FigAEaRi AT /AT
F 1: fHe/eantt
WZ:H’H‘T,&MT
T 3: AT, AT
FL 4: Tig, TRt

Q-14 The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for

answering the questions. Mark answer -
How many sister does D have ?

I. F who is the mother of D, has four children.
IL. In the family there are four male member. E is father of D.

01. Ifstatement I alone is sufficient but 02. Tf statement II alone is sufficient but statement I alone is not sufficient.

statement II alone is not sufficient.

03. If each statement alone (either I or II) is 04. [fstatement I and II together are not sufficient.
sufficient.

05. Ifboth statement together are sufficient, but
neither statement alone is sufficient.

Q-14 = few o st & 27 oAt 6 ATEAH q Fg TSI &1 T2 21 ATt 7 [ovs w2t € FF 7 oy § €F 1€ Sy 39 3 F forg 7=ty )

D #¥ A=t g+ 872

L. F ST D &T |77 8, % 912 9 2
IL E ST D &7 a1 g % aia #, 9% (59 937 gl

01. 7fx Fad FIF 1 & TATH g At daar  02. I Fae FA7 [ E TATH & AT dael 2 [ TITH 7ol g
ERCRIRRIEE

03. 7rfx =T Fa<t [ T Fae [ TITH 2| 04. {3 13 [ FAT I &
05. gz FATITM
Solution for Question 14

Ans Key: 4

eng In the family have 6 member in which four are male members and two are female members.Can't be determined

hi TRETe § 6 HIET BT & e F1¥ T8 937 § 3T a7 Afgar a3+ g et gt B S aswar

Passage for Question 15, 21, 39 (ST-03 SBI PRE(1-5) 2016)
eng Passage

Study the following information to answer the given questions.

facing the centre while some faces outside (i.e. in a direction opposite to the centre).

LK, L, M, N, O, P and Q are sitting around a circular area at equal distances between each other, but not necessarily in the same order. Some of the people are

Note: Facing the same direction means if one faces the centre then the other also faces the centre and vice-versa. Facing the opposite direction means if one person




faces the centre then the other faces outside and vice-versa.

O sits second to the left of M. M faces the centre. K sits to the immediate left of O. Only three people live between K and J. P sits third to the left of J. L sits to the
immediate left of N. Immediate neighbours of K face opposite directions(i.e. if one neighbour faces the centre, the other neighbour faces outside and vice-versa). N
sits third to the right of K. Both N and L face opposite directions. Q faces the same direction as K.

hi Passage
ffafrafea ST #1 e 3 ofzw o i e v oottt 3 s s

J,K,L,M, N, O, P 3T Q U FATHIY &7 & g T T UT 9 g, AT T Agl 1% U & FH H 21 | HF AN 4 0l G0F F Fh 95 & T /S
AR &g & AT o & 9@ w0 92 gl

e UF 2T [ | T@ F7 7qad g i TT2 F1S ARE F7 3 a0 3@ @1 & a9 a0 9 35 Al TTF o 79 W27 2| Faodia fZem 1 #7qera g & s v
T A% 6T TUF <@ TgT ¢ a7 TaLT AE hg o fAadiq faom § 3@ @1 g o T 3t avg & g0 o)

O, M F aTd T 92T 81 M &1 HE %% 1 % gl K,0 F I a1 AT 927 g1 K 37T J F &1+ Faef o1 a7 95 81 P,J 3 v qreer 37 g1 LN F qea ars
AT 1K F A TSIl a0 o § 9@ 2 98 ¢ (AT 30 UF TSR 3% il T0F 19 T8, T T 3% & [AUd 39 g1 8 ¥ 6T g o o
o )1 NLK & o8Y a13 el 927 81 N #iiT L 31 81 U g9 | fadia faem # 33 72 g1 Q SHY e § 39 g1 ¢ o fRem & K #7193 2

Q-15  Whossits exactly between O and P, when counted from the left of O?

eng
01. Q 02. K
03. L 04. N
05. J

Q-15 O FT ¥ axF | R T HF-A1 ARE O TP F STF AeF F q27 8 2

01. Q 02. K
03. L 04. N
05. J
Solution for Question 15 Ans Key: 2

K \ 'Fi

Passage for Question 12, 13, 16, 19, 24 (ST-133 CWEBCL (22-26) 2014)
eng Passage

Study the following information carefully and answer the questions given below.

Six executives Verma, Khanna, Gupta, Mishra, Singh and Rastogi are of a distinguished paint enterprise are travelling in four cars to attend a seminar in Delhi.One
person is driving each car and there are not more than two persons in any one of the cars. These cars are running one after the other from first to fourth. Gupta and
Rastogi are travelling in different cars. The first and the fourth have only one person in the car. The car, which Verma is drawing, Mishra is the only traveller in that




car. Singh is the only person in one of the cars.

hi Passage

Referad ST 7 S IE® Teqae Aty o F= &3 T 7 & I <Aor-

U WA U 32w % B Tar=re a6, @, AT, e, [ & wantt uF Gmaw § onfae g & o, I #7130 ¥, et 1 79 81 TF F1 F UE
=feF AT 7T 8 T foret ot e ® <7 # srfern safce 781 g1 T A agedT F T Af TF UF F 978 UF AA Tol g TAT ST TN AT Hd §
ITAT FT T | TEAT 3T AT F12 H Faol UH T2AT g1 THT ST FE AAT L B, 3T ITH dhaet (A7 AT g1 U w12 § g vaars =af< 2

Q-16 If Gupta and Khanna are not in the same car, which of the following people could be in the first car?
eng
01. Verma 02. Khanna
03. Rastogi 04. Mishra
05. None of these
Q-16 =3 AT 3T AT UF & FI H A41 &, AT (79 ARM | F 1T TZeAT F1C H g ThaT 22
hi
01. =T 02. =T
03. =Y 04. T
05. i & 7 T
Solution for Question 16 Ans Key: 3
Car 1 : Singh/Rastogi/Gupta/Khanna
Car 2: Verma, Mishra/Gupta Khana/Khanna, Rastogi
Car 3: Verma, Mishra/Gupta Khanna/Khanna/Rastogi.
Car 4: Singh/Rastogi/Gupta/Khanna
w12 1: fig A ArET faeT
T 2: 9T, T ATAT W1/, e
1T 3: T, A7 AT " /AR
1Y 4: TogREamitATaT A=
Q-17 In each question given below three statements are followed by two conclusions numbered I and II,. You have to take the three given statements to be true
(even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.
Statements :
All open are load.
Some open are comments
Some comments are work.
Conclusions :
I. All work being open is a possibility
II. Some work not being open is a possibility
Give answer-
01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.
03. Ifeither conclusion I or IT follows. 04. TIf neither conclusion I nor I follows.
05. Ifboth conclusions I and II follow.
Q-17 19 ¥oF W ° o9 F9 F &7 o 1807 11 3w 10 81 sroent 33 0 41 F2a1 61 Get A9 8 (T F SIaadr def a2t § 19 #4971 T 20
hi Aot 7 9% 37T 3T 75 T F 1% F F Aend qrfdhe &7 F SqH01 7 2|
FI:
Tl ZTaT, 9T 2
T AT, THET g
T, THIEAT, FTH B
Aewe:
I &ft 19 % STET g T S9TEET 2
I1. T FTH % IAT A g1 1 TF FHTEET 21
IR ARA-
01. =rfg e [ ST FaT gl 02. rfy AT 11 ST F2dT 2l
03. Ffx 77 a1 Ad 13T [ e Fxar gl 04, =fe 7 a7 Ao 17 1 11 S8 F:3a1 2
05. rfe fea [ 3/ 1 Z1 STTEE0T Fd g
Solution for Question 17 Ans Key: 5
eng

@. Comments



Q-18

eng

Q-18

In each question given below three statements are followed by two conclusions numbered I and IL,. You have to take the three given statements to be true

(even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements :

All open are load.

Some open are comments

Some comments are work.

Conclusions:

I. Some comments being open is a possibility
II. All open being comments is a possibility

Give answer-

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.
03. Tfeither conclusion I or IT follows. 04. TIfneither conclusion I nor I follows.

05. Ifboth conclusions I and II follow.

A= IeE Wy ° A F A T &7 Ay 1 11w o 81 sraeht 3 T i R T qE QAT 2 (AT F AT Jet a2 & fU = A 2|

oot &7 9E 37 3fiY Tg a7 ¢ o i & Aoy arfaha =9 & oTq@ #3d 8
HY:

aoft ZmaT, T E)

T 1T, THTET B

L. & e, 3 a7 g1 1 U SqTeaT 8
L. =T =TAT, % v 21 T U AT 2|

ITLAR™I-

o01. Zl'%i:lb”hqcldiﬁ(w ‘*{ﬁ'”%—l 02. I{fé’ﬁbﬂhb“l \51'1*1(‘” °h<~<'||%|
03. fy =7 v fAeshed 1 77 [ srqaor wzar g1 04 7 a7 feed 171 &Y 11 st it 21
05. 7f% fred [ 377 11 3T SgaeeT F2 21

Solution for Question 18 Ans Key: 2
”’@
\FHIETT
| ‘

Q-19 If in third car Verma and Mishra, is there, which of the following must be true?
eng

01. Singh is in the first car 02. Gupta is in the fourth car

03. Rastogi is in the second car 04. Khanna is in the second car

05. None of these
Q-19  =fe F=d w1 # aut & v €, a1 7 °§ & i a7 907 g7 AR
hi

01. Rigugei #XHE 02. AT AT FTEHE

03. el gEdy FCH 2 04. FaT T AT HE

05, e o T
Solution for Question 19 Ans Key: 4

eng

Car 1 : Singh/Rastogi/Gupta/Khanna
Car 2: Verma, Mishra/Gupta Khana/Khanna, Rastogi



Car 3: Verma, Mishra/Gupta Khanna/Khanna/Rastogi.
Car 4: Singh/Rastogi/Gupta/Khanna

Car 1 : Singh/ Rastogi/Gupta/Khanna

Car 2: Gupta/Khanna

Car 3 : Verma/Mishra

Car 4: Singh/ Rastogi/Gupta/Khanna

BR 1 : RisRErNAaTrE=T

PR 2: i, AT weE, e
BR 3: gHT, RREar @ SRR
BrR4: TysReaEATEST

PR 1 : R TariArarE=T

FR 2: ETE

PR 3 ; qEifHsT

DR 4: Rigl TR

Q-20

eng

Q-20

In each question given below three statements are followed by two conclusions numbered I and IL,. You have to take the three given statements to be true

(even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements :

Some Coca are Cola.

All Cola are Quality.

All Quality are Pots.

Conclusions:

I. All Quality being Coca is a possibility.

II. Some Pots not being Coca is a possibility.

Give answer-

01. Ifonly conclusion I follows. 02.
03. Ifeither conclusion I or II follows. 04.

05. Ifboth conclusions I and II follow.

If only conclusion II follows.

If neither conclusion I nor II follows.

A= e Ty § N Fore T &1 A 1R 10w e 81 sraeht (33 v 19 et i 98 4T 8 (AT F S TeAaAT get = F {6 =4 T 80

oot &7 9E 37 3fiY Tg a7 ¢ o i & Aoy arfaha =9 & oTE #3d 8

FI:

T T, AT 2

T AT, T99 2

st

I &Y T=¥0T 3 T 29 61 T ST 2
II. T T & HIHT 7 g1 i U GH1ET 3|

ITLAR™I-

01. =fe e I sIgaor F2ar 2l

03. FfzaTar Ao [T [ srgaeor F2ar gl 04, =fe 7 a1 fehe 17 21 1 a7 F2ar gl

05. rfe feehef [ i< 11 1 S8 Fd 2

02. orfe fAeh 11 &0 7T 2l

Solution for Question 20 Ans Key: 5
eng
hi

Qe

Passage for Question 15, 21, 39 (ST-03 SBI PRE(1-5) 2016)
eng Passage

Study the following information to answer the given questions.

LK, L, M, N, O, P and Q are sitting around a circular area at equal distances between each other, but not necessarily in the same order. Some of the people are
facing the centre while some faces outside (i.e. in a direction opposite to the centre).

Note: Facing the same direction means if one faces the centre then the other also faces the centre and vice-versa. Facing the opposite direction means if one person
faces the centre then the other faces outside and vice-versa.




O sits second to the left of M. M faces the centre. K sits to the immediate left of O. Only three people live between K and J. P sits third to the left of J. L sits to the
immediate left of N. Immediate neighbours of K face opposite directions(i.e. if one neighbour faces the centre, the other neighbour faces outside and vice-versa). N
sits third to the right of K. Both N and L face opposite directions. Q faces the same direction as K.

hi Passage
Ffatafea S it eaw T afgy s = R 2 e & e e

J,K,L,M, N, O, P 3T Q U# AT & & g TH T IT 95 &, AT =T A5l 1% U g1 F7 § Bl | T AN % ol a0F G FF 9 g T Hg
AR &5 | fAadq e § 93 F 92 gl

e U g 39 § T@ 7 7qaa g H AT FIS ATE $F 0l a0F <@ 1g1 ¢ a9 AT 9 F% 61 a0 of o 1T gl Fodia e #71 #7qea g & svw s
FTE A% 1 U <@ Y&l ¢ a7 Ta3T ARE 718 8 [AIiq Q9 § 3@ T@T g7 T 36 a3 & THaT il

O, M & a8 Y 92T 81 M &1 qE %% 61 a¥F gl K,0 F I a1 AT 927 81 K 37T J 3 == Faef o1 o079 1 P,J % a1 16T 937 g1 LN F qia ars
AT B K & A TSIET AT e § H@ 0 90 ¢ (AT 30 UF T2 3% 6l 90k <@ @1 ¢, 9 GO 3% & [00d 39 2T & o7 IHT q3g o a7
B )| NJK & T a3 ST JoT I N i LE g U g i fRem A sw @ gl Q s fRem d smw g g S fRem # K F19q@ 21

Q-21  Whatis K's position with respect to N ?
eng

01. Second to the left 02. Tmmediate left
03. Immediate right 04. Third to the left

0S. Third to the right
Q-21 N & g% § K & #7111 572

01. = & gor 02. Taard
03. gt 04. = & freer
05. =7 & e

Solution for Question 21 Ans Key: 4

7 Passage for Question 22, 23, 33, 34, 35 (ST-133 CWEBCL (33-37) 2014)
eng Passage

In the questions given below, some symbols @, %, $, © and # are used with the following meaning as illustrated below :

A@B means A is not greater than B


mailto:A@B

A%B means A is not smaller than B

AS$B means A is neither smaller than nor greater than B.

A©B means A is neither greater than nor equal to B

A#B means A is neither smaller than nor equal to B

Now in each of the following questions, assuming the given statements to be true, find which of the two conclusions I and II given below is/are definitely true. Give
answer -

hi Passage

= faw 1wt 7 T =Rt @, %, $, © ST # &7 T Aetertad oref 3 |ver o v @ S A fREr A g -

A @B FT T ABH FET AR 2

A%B FT oS ABH T

ASB FT 1 A,B | T 1 ®leT & T T &f a=T &l

A©OB FT 372 A,B & T dqT I=T ¢ 37T 7 & 197 |

A#B FT 3% A,B & 7 A1 BIeT ¢ 37T 7 & <& 2|

o Feferferd weat § & T | [0 1 FI+1 7 907 719d g0 aaqry {4 a1 =ehdi 17 17 & Fi 97 /F [iea 79 9 8721 397 A0 -

Q-22  Statements: RR © MM, MM # WW, TT @ WW

eng
Conclusions: I. TT © MM II. TT©RR
01. Tfonly conclusion I is true. 02. Tfonly conclusion IT is true.
03. TIfeither conclusion I or II is true. 04. TIfneither conclusion I nor 11 is true.

05. Ifboth conclusions I and II are true.
Q-22 #IT:RROMM, MM # WW, TT @ WW

fasse: L. TT © MM II. TTORR

01. =fg Fae Aoy [ 97 B 02. =fg Fae g [1HT 2
03. fE 77 a7 fFohd [ 37 52 11 77 2 04. wfe Ta7 Aord [T 2T 1T 2
05. g fAeref [ 7 11 ST @< 2|
Solution for Question 22 Ans Key: 1

@ means <

% means >

$ means =

© means <

# means >

Statements: RR < MM > WW > TT
Conclusions: |. TT < MM (True)

II. TT < RR (False)

@ ®I3ad =
% I >
§ el =
© wmrad -
# ®rael -

DeE-  RR = MM>WW =TT
Toreeet-
LTT<MM HcI

IILTT < RR 3[HcI

Q-23 Statements: HZ @ LZ,LZ $ DZ,DZ $ AZ

eng
Conclusions: 1. HZ @ AZ II.AZ@LZ

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.
03. TIfeither conclusion I or II is true. 04. TIfneither conclusion I nor II is true.

05. Ifboth conclusions I and II are true.
Q-23 FITM:HZ@LZ,LZ$DZ,DZ$AZ

fssf: LHZ@AZ ILAZ@LZ



01. Ff Faer Aoy [T B 02. 7fy Faer Aoy 1197 8
03. Ffy =7 a1 Ao 171 R a3 04. Ffg 7 ar fAewT [T 1T B
05. 7fx e 19 11 THT 7 2
Solution for Question 23 Ans Key: 1

eng @ means <
% means >
$ means =
© means <
# means >
Statements : HZ < LZ=DZ = AZ
Conclusions: |I. HZ < AZ (True)
Il. AZ< LZ (False)

hi
@ Tl <
o @rael =
5 @rael -
© wrast <
# I3 >

Passage for Question 12, 13, 16, 19, 24 (ST-133 CWEBCL (22-26) 2014)
eng Passage

Study the following information carefully and answer the questions given below.

Six executives Verma, Khanna, Gupta, Mishra, Singh and Rastogi are of a distinguished paint enterprise are travelling in four cars to attend a seminar in Delhi.One
person is driving each car and there are not more than two persons in any one of the cars. These cars are running one after the other from first to fourth. Gupta and
Rastogi are travelling in different cars. The first and the fourth have only one person in the car. The car, which Verma is drawing, Mishra is the only traveller in that
car. Singh is the only person in one of the cars.

hi Passage

oo

e ferfed ST 7 e a® AEAAT hiford e A= &7 T 747 & I <o -

U AT Ue 32 & Sg Trarer a9t, @, JET, e, g o wanit uF e § orfae g & o, F w1 §, fawedt S 7 81 I® F1 &1 UF
<R =TT W27 8 9T Fohelt ot 12 & 27 & srfer =af<r 78t 81 T F18 wgelt & A7 Sef7 9 UF F 97 U A Tol g1 AT T TR A= FT0 H
IATAT X T2 g1 Tl 3T ATt 1% § Fael U 2% gl THT S 1 TAT 1 &, AY IAY el (0T AT 2| U w12 § [ig v =af<r 21

Q-24  Which of the following person could travel in the same car in which Gupta is there?

01. Verma 02. Khanna
03. Mishra 04. Singh

05. None of these
Q-24  fA=forfad AW # & 9 6T F1L § 6 HT T6aT & OTH TAT 82

hi

01. =HT 02. =T

03. forsm 04. g

05,z & 78 T
Solution for Question 24 Ans Key: 2
eng Car 1 : Singh/Rastogi/Gupta/Khanna

Car 2: Verma, Mishra/Gupta Khana/Khanna, Rastogi
Car 3: Verma, Mishra/Gupta Khanna/Khanna/Rastogi.
Car 4: Singh/Rastogi/Gupta/Khanna

Car 1: Singh

Car 2 : Verma Mishra

Car 3: Gupta, Khanna

Car 4: Rastogi

hi DR 1 : RigrerhgrE=T
PR 2: 9, AT W, R

TSI S . (i ST " B S . VT .



AN e M7y I"?"‘llfg“\ll AT AT IR .
FR4: RisRwriRg=E=T

TR 1: g

PR 2 : g7 s

SR 3: e, G

BN 4: TR

Q-25 The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the questions. Mark answer -

How is ‘reason’ written in a code language?

I. ‘There were many reasons’ is written as ‘Pa da na La’ in that code language and 'There were many lesson’ is written as ‘La na Ta Pa’.
II. ‘There were many reasons’ is written as ‘Pa da na La' in that code language and “There were two thing’ is written as ‘Pa La Sa Ra'.

01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. Ifeach statement alone (either Ior II)is ~ 04. If statement I and II together are not sufficient.
sufficient.

05. Ifboth statement together are sufficient, but
neither statement alone is sufficient.

Q-25 I U T st 6 q7FHAAL K ATEAH | Hg SATARTAT &1 T2 8| ATTh! A o w27 € 76 77 et # ¥ TS Sy 39 & % fofg 7a7d &

‘reason’ FT TFH FZ ATY T F9 foraT e 2
I. “There were many reasons’ &l 3H T AIUT H “Pa da na La’ for@T SITAT § 1T 'There were many lesson’ FT 3 i AIOT H “Lana Ta Pa’ foraT smar
2l

II. “There were many reasons’ &1 3& i AT H ‘Pa da na La' for@T SITAT & #I¥ ‘There were two thing’ FT ‘Pa La Sa Ra’ foraT SITaT 21

01. 7fY Faer FI9 1 &1 9T & AT Faar 02, 7fT Faa F99 [ & TATH g Afhe Fael F24 [ II79 Tel g
ERERIRRIEEFIR

03. rfe o7 Faer [ AT Fd< 11 T4TH 2| 04. FfT 1= 1 T ATATH Fl

05. Ifz T 97 1 91 UF A7 7479 &
ST S-SR TITH 721 gl
Solution for Question 25 Ans Key: 1

"There were many reasons’'—Padanala
"There were many lessons’'— La na Ta Pa

reasons—da

hi "There were many reasons’'—Padanala
"There were many lessons’'— La na Ta Pa
reasons—da

Passage for Question 26, 27, 31, 32, 38 (ST-133 CWEBCL (17-21) 2014)
eng Passage

Study the following information carefully and answer the questions given below.

In a guest house there are seven rooms from east to west numbered 1 to 7. Three of these seven rooms are vacant, there are two guest in one room and one guest
in each of the remaining three Five guest living are - Q, P, O, N and M.

(i) Q and M live in adjoining rooms.

(i) M’s room lies in the east of O’s room.

(iii) P’s room lies in the east of N’s room.

(iv) None of the unoccupied rooms are adjacent to each other.

(v) Room no.5 is unoccupied. Q occupies room no. 1.

hi Passage

fReferfd ST &1 eommaEs e iy o = {33 13wt F 3w Ofora-

U e G § W F I 7 T F#7 | § 7 67 a7 97 FAL g1 37 919 FAU F F T Greft &, U 03 § 27 3% & 7 a0 9 § T+ § UF e
g1 I Tg ATl AT Q,P,O,N 3T M 81

(i) Q 3T M SRT-a0A % FAL § Tl 2l

(i) M =T FHIT, O F FAL % A § Bl

(iii) P T FHT, N F FAL F T4 7 2

(iv) FTE T FTelt FHIT TF gL 6 (e Tl &l

(V) FHLOA. 5 GTAT 81 Q FHATA. 1 § Tl 2l

Q-26  Ifunoccupied rooms are not at any end then which of the following is definetly false?



eng

01. Plivesinroom 1.

03. Room 3 is unoccupied.

02. O lives in room 5.

04. M lives in room 7.

05. N lives in room 5.

Ffe gret FA T Ft g aw el g a1 et § 7w a1 s =9 8 swa g2

01. P &HYT | H TgaT 2l
03. FHT 3, GTeAT Bl
05. N, 975§ Tgar 2

02. O, FwT 5§ TEAT 8
04. M, FHIT 7 | TEAT B

Solution for Question 26 Ans Key: 3
e“g [
Westy | T T 4 1T 1 East
UN O J; OUNM Q
N UN P
7 6 § 4 3 2 1
| [ 1 |1 ] |
b1
UN UN UN
7 6 5 4 3 2 1
| 1 1 | [ |
Westvy I [ T 4 [ 1 East
UN O & O UNM Q
N UN P
7 6 5 4 3 2 1
| [ | 1 ] |
I U
UN UN UN
Q-27 Which of the following is definitely false?
01. O is not the neighbour of N 02. N and P are not neighbours of each other
03. Q is the neighbour of M 04. Two members live in room no. 7
05. None of these
Q-27 fwffa & & #iw a1 i = & e 22
01. O, N FT gt 7t 2l 02. N 3T P UF g&< 6T T2ET 7271 2
03. Q M FUEHET R 04, FHOTATEL T H ST AT A2 |
05. =a® FFTE TEF
Solution for Question 27 Ans Key: 4
en
¢ i @85 &8 2 3
| | [ | | |
Westv | | | 4 1T | East
@) 1 OUNM Q
N UN P
hi
¥ 8 &4 3 Z |
A
UN O ‘l’ O UNM Q
N UN P
Q-28 In each question below is given a statement followed by two assumptions numbers I and II. An Assumption is something supposed or taken for granted.
eng You have to consider statement and the following assumption and decide which of the assumptions is implicit in the statement.

Statement :

Delhi Metro has decided to start new trains and increase frequency on several routes.
Assumptions :

(D At present, Mertro trains do not suffice for daily travellers.

(II) The new and additonal trains would have sufficient passengers so that they are economically viable.
Give Answer -



01. TIfonly assumption I is implicit. 02. TIfonly assumption IT is implicit.
03. If either assumption I or IT is implicit 04. TIfneither assumption I nor IT is implicit.

05. Ifboth assumptions I and II are implicit.
Q-28 = faw Tu wede wor § vt U A fogm wa § O sueh A= J1 @ e 17 11 3T T §) e qE@eied A1 |/ o T
hi ATV FZATAT g1 STTRT FAT 3T a6 A= & TS TELTLOTA T2 o= 347 8 o7 o6 a7 F:33A7 3 736 Fi ot [@amon #29 § aeqi+ied g

FIT:

oot Wl T HS TN 92 9 2 [ FIA 3T IThT B2l il HeAT § iz HA T HAqaAT 3647 2

TE T :

(1) F99T |, &5k ATt 3 fore #2729 =ty 98 2

(I0) 72 3T Afah oot & are A g Tafery T atie 3fe & =ragry 2

01. 7fT Fae qEemoT [ A Ed &l 02. Ifz Fae @O Il Safed gl
03. =rfg T a1 @Yo [ AT [ saiigd g1 04. TS T 7 T@emeom [ 9 11 s=ai+ied 2l
05. =3 F=T QALY [ 7 11 sTafatad gl

Q-29 The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the questions. Mark answer -

On which day of the month was Anjali celebrates her birthday ?

I. Rahul correctly remembers that Anjali's birthday was before 27th March but after 21st March.
II. Asha correctly remembers that Anjali's birthday was before 29th March but after 25th March.

01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. Ifeach statement alone (either Ior I)is ~ 04. If statement I and II together are not sufficient.
sufficient.

0S. Ifboth statement I and II together are
sufficient, but neither statement alone is

sufficient.
Q-29 = U T oAt H qT FAAT F WA H H ATRTAT & TS G| AT T i 5w @ 6 a2 ey § & 78 It 399 3 F forw a7ty )

HEI  fore o sioreft &1 srewfae o 2

I. g HT A5l § AT 2 T SISTell 67 SIeATaT 27 ATH | T@e o1 21 714 % 12 =)
IL. STTSTT T &t ¥ TS 2 T30 SfSTell T Seafae 29 HTH | Ugel «Ifehe 25 ATH & a1 7|

01. IfE Fgel FI7 1 ST UATH 2 hT Faer 02, TS Faer F97 1L 2T TATH € AT Fael F99 [ 77T 21 2

Fa [[ 7979 Tl 2|
03. =g J7 St [ AT Faet [ 97T 2 04. rfg 1= 11 ST 3199TH &l
05. =rfg ST A7 [ 11 UF 971 9979 &
Solution for Question 29 Ans Key: 5
eng According to Rahul - after 21 march but before 27 march

According Asha - after 25 march but before 29 march therefore Anjali birthday was on 26 march.

hi TEA & AGHTT . 21 ATH % A& AThA 27 ATH F TgA| AT 5 SATATL . 25 HTH 6 A1 ATH 29 HTH 6 Tgel| THINT SASTAT T TeATSA 26 ATH =TI

Q-30 In each question given below three statements are followed by two conclusions numbered I and II,. You have to take the three given statements to be true
eng (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

Statements :

Some locks are mirrors

No locks is maaza.

All mazza are pepsi.

Conclusions:

I. Some pepsi being locks is a possibility

II. Some locks being mirror is a possibility

Give answer-
01. Ifonly conclusion I follows. 02. TIfonly conclusion II follows.

03. TIfeither conclusion I or II follows. 04. TIfneither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.



Q-30
hi

eng

Q-31

A= e T § O Fore T &7 AT 1R 1 fRw e 81 skt (3 v 9 et 7 98 4T 8 (AT F QAT get et | {64 9 T80

ot 7 9% 37T 3T 78 TT Y 1% A1 F Aoy qrishes &7 8 STH0 77 2|

FI:

g a1 TIT

FIE ATl WIS AT 2

aoft e, Tt g

IGLE B

I % T F T I 1 U a7 8l
II. & a7 % AT g T TF TH1EET g

ENESHIECE
01. =rfx et [ Ageeor 2T 2|

03. fE 77 a7 Ao [ 37 [l e Fear g1 04, fe 7 a7 Ao 19 &7 11 SI|eor #2at g
05. fx AT [ 377 11 THT SIqEe0r F3d &

Solution for Question 30

S0

Which of the following rooms is occupied by the guest N?

01. 7 02. 5
03. 3 04. 6

05. None of these
Aeferiaa w8 § § 9 971 7% N g7 Afe#d g 2

01. 7 02. 5
03. 3 04. 6
05. =9 9 FIS Tal

Solution for Question 31

Q-32

eng

F 6 5 4 3 2 1

[ =: T8
UND_LDI..NIIQ

LY
T 6 5 4 3 2 1

Weal Eml
UN O | OWM QO

HLWN P

Which of the following rooms is unoccupied?

01. 6 02. 4
03. 2 04. |
05. None of these

et & & w9 91 797 @1t g2

01. 6 02. 4
03. 2 04. 1
05. =% T FIS AT

Solution for Question 32

eng

A s
West¥y | [ | 4 | | East

02. =rfx [wY 11 stEeor F7aT 2

Ans Key: 1

Ans Key: 4

Ans Key: 5
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UNO‘LOUNMQ
N UN P

eng Passage

A@B means A is not greater than B

A%B means A is not smaller than B

A$B means A is neither smaller than nor greater than B.
AO©OB means A is neither greater than nor equal to B
A#B means A is neither smaller than nor equal to B

answer -

hi Passage

Passage for Question 22, 23, 33, 34, 35 (ST-133 CWEBCL (33-37) 2014)

In the questions given below, some symbols @, %, $, © and # are used with the following meaning as illustrated below :

Now in each of the following questions, assuming the given statements to be true, find which of the two conclusions I and II given below is/are definitely true. Give

Fr=r fo o vt ® 5 Rt @, %, $, © ST # w7 AT Mt oo % |y T g s A R g -

A @B FT 4 A,BH TSI 51 2

A%B FTATABHERET Tl

ASBFT AT AB T T AT Grar & T AT A= 21
AOB FT T A BT T a6 92T 8 3T T &1 aa< 2l
A#BFT AT AB T T A1 FIaT ¢ 3T 7 21 araw 2l

o1 feferter woat § & woas # 30 7 F2A1 7 97 919 g0 aaqru. o6 91 [Fewut 19 1 & i 91 /4 [ €9 & 977 8/ 398 0 -

Q-33 Statements: MM % FF, FF © RR, RR # KK

Conclusions: I. KK © FF II. KK % FF

01. Ifonly conclusion I is true.
03. Ifeither conclusion I or IT is true.
05. Ifboth conclusions I and II are true.

Q-33  FIT: MM % FF, FF O RR, RR # KK

fAs: 1. KK © FF II. KK % FF

01. =f Faa AT [TT 2
03. i 771 {"ehy 147 (e 1 97 g
05. =rfy fehe 17 10 <41 97 81

Solution for Question 33

02.
04.

02.
04.

If only conclusion 11 is true.

If neither conclusion I nor II is true.

Tfe Fger AR 1197 2
i 7 1 9oy [ 9 g1 11 8 gl

Ans Key: 3

eng @ means <
% means >
$ means =
© means <
# means >

Statements : MM > FF < RR > KK

Conclusions: |. KK < FF
1. KK > FF
Either | or Il is true

hi
@ @I <
% HIAA =
§ w3t -
praet <
# I3l =

DEl- MM > FF < RR > KK
foreeet

| KK = FF


mailto:A@B

Q-34

eng

. KK = FF

ardr | =mll

Statements: HH @ KK, KK % DD, DD # BB

Conclusions: I. HH @ BB II. BB @ KK

01. Ifonly conclusion I is true. 02.
03. Ifeither conclusion I or II is true. 04.

05. Ifboth conclusions I and II are true.
w9: HH @ KK, KK % DD, DD # BB

frssf: LHH@BB 1L BB @ KK

01. Ff% F3r A [ 57 2 02.
03. rfg 77 a1 Ao [T fRe 1 &g 21 04.

05. rfy feh 19 1 <41 97 81

Solution for Question 34

@ means <

% means >

$ means =

© means <

# means >

Statement : HH < KK > DD > BB
Conclusions: |. HH < BB (False)
Il. BB < KK (False)

Statements: VV © KK, KK % DD, DD § FF

Conclusions: I. VV @ DD II. FF @ KK

01. Ifonly conclusion I is true. 02.
03. Ifeither conclusion I or IT is true. 04.

05. Ifboth conclusions I and II are true.
HYd: VV O KK, KK % DD, DD $ FF

fAassd: LVV@DD  ILFF @KK

01. 7z Faer Aowe [ 97 81 02.
03. Ffx =7 a1 Ao a1 R 1T 2 04.

05. fy fowe [ 11 ST 7T &

Solution for Question 35

eng

Statements : VV < KK > DD = FF
Conclusions: I. VV < DD (False)
Il. FF < KK (True)

Peel- VV < KK = DD = FF
foreptl-

1 TNt - M ST =T

If only conclusion I is true.

If neither conclusion I nor II is true.

7f% Faer w11 77 21
i 7 a7 e 19 27 197 21

If only conclusion II is true.

If neither conclusion I nor II is true.

TfT Faar w11 97 2
Ffxadr g 1987 197 2

Ans Key: 4

Ans Key: 2



oy P e A gy o Tl

ILFF = KK 3o

Q-36 The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the questions. Mark answer -

How many students of Maths got more than 70% but less than 80% mark ?

I. Out of total students, 70% students got less than 80% marks.
II. Out of total students, 30% students got more than 70% marks.

01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. Ifeach statement alone (either I or II)is ~ 04. If statement I and II together are not sufficient.
sufficient.

05. Ifboth statement together are sufficient, but
neither statement alone is sufficient.

Q-36 = fIw T st § F7 FHAAT F AT H H ATARTAT &F TS 2| ATl 7 iy w27 € T 7w wvoret § €F T8 Sy 39 3 % forg a3t &)
hi I A=

wfora & forae et 7 70% & srfars St 80% & & o yta R g 2

L A fF=mfsrat § & 70% Tt #1 80% & FH 3% JTd gul

1L o =t § | 30% fE=ti=t #7 70%  TfaeF s 9T gul

01. {2 Faer FOT [ T T ¢ AT Faer 02, T Faer FA7 11 £ TTH € AT dhael F99 | TITH T2l 2

FAT [ 7T T=1 2

03. =z 77 Feaer [ 7 Faet [ 7419 2 04. =g [ = 11 ST 3997H 2l

0S. fz T A7 1 T 11 TF 779 T1H &
Q-37 In each of the following questions a statement is given followed by two courses of Action. A course of action is taken for improvement, follow up etc. Read

Q-37 A U g 9o § UF FAF T &I Fwraaradi (1) 3 (1) g1 Fre @ Frdaret Fret game a1 o 67 BT st grdt 81 F9 F eqraq@s Tied i

the statement carefully and give answer -
Statement : A large number of people in village X are diagnosed to be suffering from a fatal malaria type.

Courses of action :
(I) The municipal authority should take immediate steps to carry out extensive fumigation in village X.
(II) The people in the area should be advised to take steps to avoid mosquito bites.

01. Tfonly Course of Action I follows. 02. If only Course of Action II follows.
03. TIfeither Course of Action I or IT folllows.  04. Ifneither Course of Action I nor II follows.
05. Ifboth Course of Action I and II follow.

I AN -
FAA: T X H ATTF AATAT IRT F TET HSAT H AR % ST 21 /1 9aq7 77 &l
FrAaTiEat :

(1) T T 3 SrferaRTe &7 T X H AT T I T % o FaH 3519 AT U
() & F AW FT AT FIT HIE A F T 6 (70 FIH IS ol AATE & AT AT

01. =fx Fae FrAATRl [ T2 2 02. =f Fae FAATET 11 921 &
03. =rfe Ferer FTAATEN 147 11 72T 21 04. =fx ST FAaTRAT [T 11 HET 721 8
05. fy T FraTRAT 1 11 72T

Passage for Question 26, 27, 31, 32, 38 (ST-133 CWEBCL (17-21) 2014)
eng Passage

Study the following information carefully and answer the questions given below.

In a guest house there are seven rooms from east to west numbered 1 to 7. Three of these seven rooms are vacant, there are two guest in one room and one guest

in each of the remaining three Five guest living are - Q, P, O, N and M.
(i) Q and M live in adjoining rooms.

(ii) M’s room lies in the east of O’s room.

(iii) P’s room lies in the east of N’s room.

(iv) None of the unoccupied rooms are adjacent to each other.




(v) Room no.5 is unoccupied. Q occupies room no. 1.

hi Passage
Referad ST 7 S IE® Teqae Aty o F= &3 T 7 & I <Aor-

U ¥ g § T F T 6 AT HF | | 7 GCAT AT 97 FAL | 37 919 FHAU F F A Gredt &, TF FAL H 27 9% 8 o7 O 9 § ToIF § TF Tee
21 I7 T ATl ART Q,P,0,N ST M 81

(i) Q 3T M 3TTA-aTA F FHL H Tl 8l

(i) M FT FHT, O F FHL F TH § I

(iii) P T FHIT, N % FHL & 04 § 2

(iv) FTE ST GTA FHT UF T F e 1 2

(v) FELT . 5 GTAT g1 Q FHITA. 1 H Tt

Q-38 If Q occupies N’s room with someone else, which of the following conditions will be affected? (arrange the room in such a way that only one condition
eng should be affected)

01. Condition (i) 02. Condition (ii)
03.  Condition (iii) 04. Condition (iv)
05. None of these

Q-38  =fy Q faFefi i 3 |mer N o7 ey o o1l 2 oY fAy ardl & & e &) wi1fard My 2 (F90 &7 26 TohTT A fead #3 (3 Faer ua & o gerfad
hi ZHT AT )

01. o () 02. ot (ii)
03. ore (i) 04. 9T (iv)
05. =% T IS Tor
Solution for Question 38 Ans Key: 3
£ 6 5 4 3 2 1
I I N N
westdy | T T 4 T 1 East
UN O 4 OUNM Q
N UN P
7 6 5 4 3 2 1
| [ 1 | | |
(1 1 T ]
UN Q M N UNP UN
O
7 6 F8F 4 BN Zaa
. | | W7 | el (W] S
o=y | T [ 4 ]
UN O ‘L G iy O ™
N UN P
7 Bl 4 3 2 1
| = 1 | |
LT 1
UN Q M N UNP UN
O

Passage for Question 15, 21, 39 (ST-03 SBI PRE(1-5) 2016)
eng Passage

Study the following information to answer the given questions.

LK, L, M, N, O, P and Q are sitting around a circular area at equal distances between each other, but not necessarily in the same order. Some of the people are
facing the centre while some faces outside (i.e. in a direction opposite to the centre).

Note: Facing the same direction means if one faces the centre then the other also faces the centre and vice-versa. Facing the opposite direction means if one person
faces the centre then the other faces outside and vice-versa.

O sits second to the left of M. M faces the centre. K sits to the immediate left of O. Only three people live between K and J. P sits third to the left of J. L sits to the
immediate left of N. Immediate neighbours of K face opposite directions(i.e. if one neighbour faces the centre, the other neighbour faces outside and vice-versa). N
sits third to the right of K. Both N and L face opposite directions. Q faces the same direction as K.

hi Passage
Ffatafea S 1 e T afy i = R 2wt & s i

J,K,L,M, N, O, P 3T Q U= AT & % g TA g IT 98 &, ATk ST=4T Ag1 1% U &1 F7 § 31 | T AN x ol a0F & FF 9 g T fg
AR %% & faadia o § @ & 9 2

e U g 3o § 3@ 7 7aaa g F AT FIE AE $F 0l a0F <@ TgT 8 a9 AT 9 F% 6 a0 o 2@ 1T gl Fadid fGen #1 7qea g & svw s
=IRF F% T TCF 3 QT & I7 SO =A<k &g o [Aua o & 3@ w7 g i< St a<g & o A




O, M & 7% THL 43T 21 M FT q& %3 H1 a7F g1 K,0 F qd a1e A< 927 g1 K 3T J F 6= et i 091 93 &1 P,J 3 91 197 431 21 LN F G ars
AT 1K & A TSIET [A90q e § H@ 0 90 § (AT 30 UF T2 3% 6l 90k <@ T@T &, 9 O 3% & [d00d 39 &1 ¢ o7 6T q3g o a7

B )| NJK & T a3 s JoT 1IN i LE1 g U g  farfig fRem A sw @ gl Q s fRem d smw g g S fRem # K F1q@ 2

Q-39  Whosits second to the left of J?
eng

01. K
03. M

05. Q
Q-39  JFaTd H THL A T AT a5T 82

01. K
03. M
05. Q
Solution for Question 39

eng

02.
04.

02.
04.

Ans Key: 2

eng Passage

hi Passage

Passage for Question 1, 2, 3, 9, 40 (ST-02 SBIASSO.BCL(16-20)2015)

Read the following information and answer the questions given below-

In a family of six members A, B, C, D, E and F each plays one game out of six games Football, Hockey, Golf, Pool, Tennis and Swimming. There are two married
couples. B who plays Hockey, is daughter — in — law of E. A is father of D who is a Golf player and D is father of C who is a swimmer. F is brother of C. Football
is not played by any female member. E’s husband plays pool.

Referfad gaaTsi T e\ ga® Tea? A1+ &8 T =07 % I 2l 1ord-

F: AR A, B, C, D, E #liT F & & weir 3 i @t -gaaier, 2i, Mo, 0o, 23 ofre 3t & & v &t Gefar 21 378 &7 Aanfza siig §1 B < iy
Fdt g E Y Siex-39-11 21 A, D =7 {991 & S Tie® @erar 2 3T D, C &7 fUaT & ST 9<7% 21 F, C &7 9T% 81 F1S AT 9eeq Reaid qa! gedt 2| E T




afdr I Eerar 2

Q-40  How is A related to F?
eng
01. Mother 02. Father
03. Grand father 04. Grand mother
05. Sister
Q-40 A, F & b e gdfaT 22
hi
01. =Hrar 02. foar
03. < FraT 04. i€ H=X
05. =&
Solution for Question 40 Ans Key: 3
eng Pool [Al=—={E) Tennis
SwimmingC Fanitl
Q-41 Find the value of quantities and state the correct relationship-
Four coins are tossed simultaneously
Quantity I- Probability of getting at least two heads.
Quantity II- Probability of getting at most two tails.
01. Quantity I > Quantity 11 02. Quantity I > Quantity II
03.  Quantity I < Quantity II 04. Quantity I < Quantity I
05. Quantity I = Quantity II
Q-41  WTATSH FT A AT AT TAT Tt GFaee ST Hitord-
- T gt 7 UF 97 ST 14T ¢
HTAT [- 7 & FA 27 ofT I A 7 FHEAT
HTAT 11 —37Fere & srfer 21 T e T e i bl F7a |
01. AqEATI>ATATII 02. |TATI>AT=T 1L
03. @m=T [<HATEAT I 04. gETI<ATATI
05. wm=T [=9T=T 1
Solution for Question 41 Ans Key: 5

eng

Quantity I-11/16
Quantity IT-11/16

Quantity I = Quantity II

HEATI-11/16
HEATII-11/16

HEAT = HE 1T

Q-42

Find the value of quantities and state the correct relationship-



eng

If a & b are natural numbers and 6 >a>b > 0.
Quantity I: 5a%b
Quantity II: 6ab?

01. Quantity I > Quantity II 02. Quantity I > Quantity II
03. Quantity I < Quantity II 04. Quantity I < Quantity II
05. Relation cannot be establish or Quantity I =

Quantity II

TTATSA T T ST T a7 gt Tvaeer wqrfua -

IfT a & b YTFAF FATTE 3T 6>a>b > 0.
AT L 5a2b
HTAT 11: 6ab>

01. gr=TI>9mE=Tll 02. gEETI>HETI
03. HETI<HTETII 04, AETI<HTTII

05.  Tweer wTIOT AT 3T ST FafaT 37 /AT
=971

Solution for Question 42

Q-43

eng

Dividing Quantity I and Quantity II we get
I 5a

I e

Now b has to be > 0 and a has to be > b
I[fa=2,b=1,1>1I

Similarly we will get [ > II in all cases
Buta=6andb=>5

Then

a=b

Quantity [ > Quantity I

HTAT 1 7RCATT 11 3T 97T 3 01

I 5a

I e

FTb>03a >b

e a=2,b=1,1>1I

T &9 H [ > 118+t 31w R

T a=63Rb=>5

GES

a=b
AT [ > 9T 11

Find the value of quantities and state the correct relationship-

Average of 11 consecutive odd numbers is 99.
Quantity I- Average of second highest and lowest number.
Quantity IT- Average of third highest and fourth lowest number.

01. Quantity I > Quantity II 02. Quantity I > Quantity II
03. Quantity I < Quantity II 04. Quantity I < Quantity II

0S. Quantity I = Quantity IT
HTATSA T | ST FSTT TAT TGl Tl T hitor-

11 FART frow Searsii &7 &fied 99 2 |
AT [- THT SEaH i fAeas gear &7 $ea|
AT 1] T Sgaw ST 3rdt Reay w@ear &1 fiwdql

Ans Key: 2



01. AETI>wHETI 02. HMETI>HETIT
03. AETI<®HETI 04. HETI<HATETIT
05. A=TI=9dm=AT1l

Solution for Question 43 Ans Key: 5
eng Quantity I-100
Quantity II -100
Quantity I = Quantity II
hi T [-100
HEAT I -100
CIEIRESEIEINI
Q-44  Find the value of quantities and state the correct relationship-
eng
A train cross a platform 250 meter long. Find the length of train.
Quantity I- Train is running at 54 Knvhr and crosses the platform in 45 seconds.
Quantity II- Train is running at 72 Km/hr and crosses the platform in 36 seconds.
01. Quantity I > Quantity II 02. Quantity I > Quantity II
03. Quantity I < Quantity II 04. Quantity I < Quantity II
05. Quantity I = Quantity II
Q-44  WTATSH FT A AT FISTT TAT TT qFaw EATO FITora-
T 7 250 HeTolF T WIewhTH T 1% FIAT 81 2 6T FdTS A7 |
AT 127 54 Torefi/aie it =l 3 =9t Tal 8 ¥ 45 The | WIEHH 1 97 FdT 2l
7T I - 29 72 Toeft/ere Y =1er & =7 W27 ¢ 31T 36 T § wiawhiy i a1 el 2l
0l. A=TI>H|ETI 02. HTATI>HTATII
03. AETI<H|ETI 04. AT I <HTATII
05. ATATI=HT=TII
Solution for Question 44 Ans Key: 3

Quantity [-425
Quantity II -470

Quantity I < Quantity II

HET [-425
HET 1L -470

HEATI < HEAT 1T

Q-45

eng

Find the value of quantities and state the correct relationship-

There are 3 Red balls, 5 Green balls & 4 White balls in a bag .Four balls are chosen at random

Quantity I: The probability of their being 2 Red and 2 Green ball
Quantity II: The probability of their being 2 Red, 1 Green & 1 White ball

01. Quantity I > Quantity II 02. Quantity I > Quantity II
03. Quantity I < Quantity II 04. Quantity I < Quantity II
05. Relation cannot be establish or Quantity I =

Quantity II

HTATSA T HIT ST FHSTT TAT TGl Tl T hIor-
T 9T H 3 T, 5 2T ST 4 A% A2 2, T H 4 T2 AAF0q = 7 747 2

HTAT I 21 &7l 7T a7 24 T2 21 1 47 77 2|
HTAT II: &7 ATA, TF gL 3T TF THa T3 g1 T FT T9TET

01. AT 1> 9T I 02. HETI>HETI



03. HETI<HETII 04. HETI<HATATII

05. Fpwrg w1 Tt (AT ST &Fat AT /AT
[=HT=T I

Solution for Question 45

Ans Key: 1

eng Quantity I

Ae,dc)yt?e, =211
Quantity IT

(Gey3c x4y, = 60/495 = 4/33

hi HEAT I

Ce,dc)yt?e, =211
Ll

Cey3c <), = 60/495 = 4/33

Passage for Question 46, 47, 48, 49, 51 (ST-2037 SBIPO MAINS M (11-15) 2018)
eng Passage

Study the following graph carefully to answer the given questions
Total downstream distance=200 Kms (Distance provided in charts are in percentage)

Friday, 26

Monday, 24

Tuesday, 15

Thursday,
20

Wednesday
, 15

Total upstream distance=300 Kms

| Friday, 12 -

Monday, 30 B

Thursday, 14

Wednesday,
24

Day Speed of boat in still | Speed of stream
water
Monday 5 _
Tuesday _ 6
Wednesday 4 -
Thursday _ 4
Friday 3 _

hi Passage




e T wat F 393 * fou afofaa are 1 qmgds wegga w1 -
FH ATIATE =200 Y (A€ 7 & 7 ThH wRea 7 7)

Q-46

eng

Q-46
hi

A boatman rows downstream at 6 kmph on Wednesday. Find the time taken by the boat to cover upstream distance on the same day.

01. 36 hours 02. 24 hours
03. 30 hours 04. 48 hours
05. None of these

T 1T AT T SATIATE 6 T Tf =5 6T AT | 719 FAT1aT g1 IHY (87 Sedwarg g &1 aF F & (o1 914 1T forw 70 997 &7 71

EnEpl

01. 36w 02. 24 =
03. 30 04. 48 =
05. w7 & S

Solution for Question 46

Ans Key: 1

eng Downstream Speed = 6kmph=(4+2)
Upstream Speed = (4-2) kmph = 2kmph
Time taken by the boat to cover upstream distance = 72/2 = 36 hours
hi ITIVETE =T = 6 Foreft wfer wrer=(4-+2)
FEAvaTE 9T = (4-2) TRt ufa wrer = 2 fft
SEAYATE U I 0 T o e e grar foram o e = 72/2 = 36 79
Q-47 A boatman rows up stream at 16 kmph on Tuesday. Find the approximate time taken by the boat to cover downstream distance and upstream distance on
eng the same day.
01. 3.5 hours 02. 4.25 hours
03. 4.75 hours 04. 525 hours

05. 3.75 hours



T ATfA Freare &1 16 Frft i =@ it =1 F Sedvarg ama Ferar g | 36 37 syarg @ oY Feayarg g8 i a7 w9 F forw = g o
AT AT THT AT AT

01. 35%2 02. 4.25%<
03. 4754 04. 525%
05. 3.75 %<

Solution for Question 47 Ans Key: 3

eng

U=u-v=16
V=0
u=22

D=28
Required answer = % + 0 _ 475 =hours

U=u-v=16
v=6

u=22
D=28

fer= 20, 0 _475i=9
28 16

Q-48

Q-48

Find the difference between the upstream distance travelled by boat on Tuesday and Friday together and the downstream distance travelled by boat on the
same days together.

01. 12km 02. 18km
03. 16km 04. 14km

0S. None of these
TATAATE 37T SIRATE &l A1 ZIT JTAT 00 TS SEATATE ZXT 31T Sral (oAl H UHATS THeATHR A9 ZIT ATAT T T AGTATE L1 6 A9 3q< 1
ENED]

01. 12 et 02. 18 frT.
03. 16 faT. 04. 14 frT,
05. =% ¥ FIS 721

Solution for Question 48 Ans Key: 4

hi

Q-49

Required Difference = 96 — 82 = 14
sflegll =96 -82=14

Total downstream distance travelled by boat on Monday, Tuesday and Wednesday together is approximately what percentage of total upstream distance
travelled by boat on the same days together?

01. 65% 02. 38%
03. 49% 04. 32%

05. 55%
AT, FIAAT 3T AT HT ATd FIET ATAT T TS [ TATATE T2 Irel 1a § AT G ITAT 08 T2 HA SHLATATE T T AT TehaaaT Srerera
&2

01. 65% 02. 38%
03. 49% 04. 329%
05. 559

Solution for Question 49 Ans Key: 3

eng

Total downstream distance travelled by boat on Monday, Tuesday and Wednesday = 108
Total up stream distance travelled by boat on Monday, Tuesday and Wednesday = 222

Required percent = 0% =100 = 49%
222

HHATT, HIAETL ST AT HT A1 51T ATAT 01 T2 el ALIATE 327 = 108
HIHATE, AT ST FEATT HT AT FTT ATAT 6T TS F{A SEATATE g2T = 222

e wfqera = %xmﬂ ~ 49%




Q-50

Two containers having a capacity of 6 It. and 10 It. respectively are filled with the mixtures of milk and water. First container contains 75% of water and

eng second container contains 75% of milk. Both the containers are emptied in a big container having a capacity of 21 It and the remaining capacity is filled with
water. What is the ratio of milk and water in the big container?
01. 3:7 02. 3:4
03. 4:3 04. 4.7
05. None of these
Q-50 =T FAT AT AHAT HHL: 6 AT 10 T2 & ST e T T 6 07 F 9L U 2 ITEA Feda § 75% T g1aT & 30T oL HedL 7 75% g 2rav
hi 21 FAT FeAT 21 T &AHAT AT a2 FAT § @Il BT T ¢ ST AT 37T TIHT F 9T 1 T2 FA H & 3T I T T F47 82
01. 3:7 02. 3:4
03. 4:3 04. 4:7
05. =i F AT A
Solution for Question 50 Ans Key: 2
eng In the first container, Milk = (100 - 75)% of 6 = 1.5 1t.
In the second container, Milk = 75% of 10="7.5 1t.
Total milk in the big container = (1.5 + 7.5) It. =9 It.
Total water in the big container =21 -9 =12 1t.
Required Ratio=9: 12
=3:4
Hence, option(2) is correct.
TEd HeAT H, T = 6 FT (100 - 75)%= 1.5 #fex
TEL FHedT H, I = 10 FT 75% = 7.5 FAleX
TS FeaT H {A g8 = (1.5 + 7.5) e = 9 ez
TS FeAT H {A AT =21 - 9 = 12 #iex
ST AqATq = 9: 12
=3:4
zHfer, foseT (2) 72T 2
Q-51 Find the ratio between the down stream distance travelled by boat on Monday, Wednesday, Thursday and Friday together and the Up stream distance
travelled by the boat on the same days together?
01. 15:27 02. 14:21
03. 20:27 04. 17:24
05. None of these
Q-51  HHATE, THEATT, [FATT ST FHATE T AT GIT ATAT Al TS ATTATE T2 T Iral (el H UHATY TG ZI ITAT 01 T SEATATE L1 6 A= AT
01. 15:27 02. 14:21
03. 20:27 04. 17:24
05. 9 §his ARl
Solution for Question 51 Ans Key: 4
eng Required ratio =170:240=17 : 24.
hi ST U = 170 : 240 = 17 : 24.
Q-52 A man purchased 35 kg. of rice at the rate of Rs. 9.50 per kg and 30 kg. of wheat at the rate of Rs. 10.50 per kg. He mixed the two approximately at
eng what price per kg should he sell the mixture to make 35% profit in the transaction?
01. 12.75 02. 13.25
03. 13.5 04. 13.75
05. None of these
Q-52  UHAARE9.50 F. wia 1T T 2% & 35 . =t o< 10.50 . wia . &t 22 & 30 . g @diear 1 9 a1 &1 fHarar g1 ag weor &t
hi T T 22 & o T O HTS H 39 35% AT ATH 12

01. 12.75 02. 13.25
03. 135 04. 13.75
05. =7H qFIE Tol

Solution for Question 52 Ans Key: 3



eng Cost price of 65 kg of mixture

=35x9.50+30x%10.50

=332.5+315

=Rs. 647.5

Required answer = e ® =3 =155
65 100

hi Cost price of 65 kg of mixture

=35%9.50+30%10.50

=332.5+315

=Rs. 647.5

Required answer = ) % il 13.5
65 100

Passage for Question 53, 70, 76, 77, 78 (ST-50 SBI (136-140))
eng Passage

Read the following informations carefully and answer the questions given below.

In a ship, there are total 1680 passengers. Out of these, the ratio of males and females is 7:5 respectively. All passengers go to Britain, France and London. One-
fifth males go to only France. Twenty percent females go to only London. Ten percent males go to only Britain. 24 percent females go to Britain and France both.
The number of females going to only Britain is two hundred percent of the number of males going to the same country. One-fourteenth males go to all the three
countries. The respective ratio of the number of males and females going to France and London both is 2:1. Ten percent females go to only France where as eight
percent females go to France and London both. Remaining females go to all the three countries. The number of males going to Britain and France is 200 percent of
the number of females going to the same countries. Remaining males go to only London.

hi Passage

oo

e ST &7 eA @ ATeaaaa $= T T 07 o 3L &A1)

T frT § et ATCAT AT TEAT 1680 21 SHH [0 37T AIRZATSH AT HEAT F 1= SAATT FHL: 7 1 5 5| THT ATAT {oeA, Wi < da ST 1 TFh-TG=H7er
&Y & B ST g1 T 9T AGATd Fad dad STt g1 &9 Taerd T8 had (s SITd g1 24 Tiaerd Aigerd fHee s wie @1 St g1 Fae o
ST ATEAT WigeATS ol HEAT IHT F97 7 ST AT [T 61 ST 7 &7 °T TG 1 T=UT T 1/14 TA7 I90 H ST g1 i 3T AT QA1 S ATl [T 3T
wigaTal 1 |7 & A= ST 2 ¢ 1 g1 9 AIAerd AigeATd Faet e STt & ST 7% Tiqerd AigeArd Wie i< e a1 ¥ g1 a7 AigeAnd dia qor
H SITAT g T6e 3l Wi ST aTel Ul il ST Iral |1 <90 | ST ATt HigeAT3l st ST & 200 T gl 97 T€T Fad @ad Sd gl

Q-53 The total number of females going to Britain is approximately what percent of the total number of passengers in the ship?
01. 26% 02. 18%
03. 29% 04. 33%
05. 22%

Q-53 o ST atett Afgarat i o qedr fora # a1 Friat &t w@edr v e A gtaerd g2

01. 26% 02. 18%
03. 29%, 04. 33%
05. 229
Solution for Question 53 Ans Key: 1
eng . Male Female
Total 980 700
Only France 196 70
Only London 420 140
Only Britain 98 196
Britain+France 84 168
France+London 112 56
All 70 70
Req. percent = %xﬂ)o =26
hi To9 qHET
|/ 980 700
Bael Big 196 70
BIA T 420 140
B faes 93 196
e+ 84 168
BiE+T ST 112 56

w4 70 70



434

e gferera == ——— %100 =26
1680
Q-54 A right circular cone is exactly fitted inside a cube in such a way that the edges of the base of the cone are touching the edges of one of the faces of the
eng cube and the vertex is on the opposite face of the cube. If the volume of the cube is 125 cc, what is the approximate volume of the cone?
01. 30 cc 02. 27 cc
03. 33cc 04. 44 cc
05. 49 cc
Q-54  UF AFEGAE OF FT UF AT % HIL 1% =7 THY 4 (e 671 SI1av &, T3 o F e o AT, =9 % werani | F el U et 0l orrail i o797
hi FA 3 AT IHT o1, = F oo et a7 g1 AT o F7 A=A 125¢c @, AT 39 9 AT QT AT o r 82
01. 30cc 02. 27cc
03. 33 cc 04. 44 cc
05. 49 cc
Solution for Question 54 Ans Key: 3
eng Length of side of cube will be 5 so
So base radius of cone will 2.5
Hence volume will be 33 cc
H % ST ol AT 5 R o7
o 97 AT % Bear 2.5 ERft
A AT 33 cc ERIT
Q-55 A shopkeeper purchased 25 identical pieces of mobile phones at the rate of Rs. 1500 each. He spent an amount of Rs. 2500 on transport and packing. He
fixed the labeled price of each phone at Rs. 2000. However, he decided to give a discount of 5% on the labeled price. What is percent profit earned by
him?
01. 12.5 02. 16.67
03. 18.75 04. 225
05. NonE of these
Q-55  UF THFMIW 25 HIETEA I Al 1500 F. T FIF 6T &7 T GLRT| G G307 U9 91 T2 2500 F, @F 67| T 39T 39 I AT a9 29
2000 F. TR 7 S o dtha T =7 i To T2 39 5% 2 &+ &1 A= Fham a1 30 =7 = § e sfaera &1 are gan
01. 125 02. 16.67
03. 18.75 04. 225
05. NonE of these
Solution for Question 55 Ans Key: 3
Total cost of 25 mobile sets =
15000 x 25 + 2500
=40000.
Cost price of 1 mobile set = alallal =1600
Labeled price = 2000.
S.P. 1 mobile = 95% of 2000
=1900
profit % = 1290 =1600 _ 1 5006 = 18.75
160
hi 25 HIETE H2T T F/A HT T =
15000 x 25 + 2500
= 40000.
| HraTEe He H FT T = #Efm:mog
Hfehd 7 = 2000.
1 HisTge HE 2T forshl 76 = 95% of 2000
= 1900
g o = 12001600 1 150, 1875
1600
Q-56 What approximate should come at place of question mark (?) in the following questions?
eng

200 2207+11.1="7



01. 2 02. 3

03. 5 04. ¢
05. 4
Q-56 fawfafaa wst & warfreg (2) F =T AT ATHT FT HTH STTAT?
hi
290 %2.07<11.1="
01. 2 02. 3
03. 5 04. ¢
05. 4
Solution for Question 56 Ans Key: 2
eng 5o bk g
11
hl T= =g =3
11

Q-57 A can finish a piece of work in 1 days, B in 2/5 days. They satarted working together and worked for 1/5 days and left. Remaining work is completed by
C alone in 6 hours. If they get Rs. 734.50 for this work then calculate share of C and it is given that 20 hours is assumed as 1 day.

01. 250.5 02. 220.35
03. 240.75 04. 175.50

05. None of these
Q-57 AfFfrFEFr1GT# =T B 2/5 A0 # 0 FT aaT g1 Sraid UHh q1 FTH FHIAT % H7 (o371 3% 1/5 &A1 % forg & B i g fagm aw
A 6 5 | Tl C g TR AT SITaT 81 Tt 3w =0 &1 % To70 734.50 % s 0 STt C Y FREaaTeT it vE #3778 fearman g

& 20 = =T | o w7 STt 21

01. 2505 02. 22035

03. 240.75 04. 175.50

05. =8 ¥ FTS T2l

Solution for Question 57 Ans Key: 2

Worker Work (lem) Efficiency
A-1 day=20 4 2
hours
B-2/3dav=28 3
hours

Remaing work after 1/5 days means 4 hours =
40 - 4=xT =12

This is completed by C alone in 6 hours.
Efficiency of C=12/6=2

Work done by A=4=x2=28

Work done by B = 4x5=20

Work done by C=6x2=12

Ratio of the work done by A, Band C=2:5:3

Share of C= (3:*10&?34.50 =220.35

PieEs T (lem) AT
A-1fe=20492 | 4 2
B2/5TEa=38 5

el




Remaing work after 1/5 days means 4 hours =
1/5 Tt o7ai| 4 =i o 912 T e

40-4x7=12

g el C 0 6 5 9 I R e @
CHigaaT=12/6=2

AT T T FA =4x2=38

B 5 6T T & = 45 =20

C 5 T T FrE= 6x2 =12

A, BT C o 5T fobdl T b o7 3@ =2:5: 3

C T 60T = (3/10)%734.50 = 220.35

7 Passage for Question 58, 63, 64, 69, 74 (ST-2051RRBCLMAINS(46-50M)2019)
eng Passage

Study the following bar chart and table chart carefully and answer the questions given beside.

Following bar graph shows the amount of money allocated (in lakh) to 2 builders by six different state governments for various government projects such as House
building, Road development, Bridge development and Metro projects.

5 = 5 — B Project | Builder A | Builder B
o House 25% 20%
16 |
+ _— — Roads 30% 35%
I Bridge 20% 25%
Metro 25% 20%

hi Passage
[ Freafarfaa aTTATE s T3ae A1 T SATTIA S ALTIT L AL IATA H TSI WA 6 SALI

feferfad am 3 A aeard afrsETe s e At g2 G, 0o @ o 927 aREsmret F o 97 SemT- 370w 97 JETl g 2
el &1 (AT ®) srateq arfer T 21

fmiarA | FEETB
25
" 25% 20%
15 30% 35%
10 20% 25%
5
. 25% 20%

Q-58 If the amount allocated to builder A for Metro development in Kerala is 25% of total amount allocated to him for Roads development in given 6 states and

eng amount allocated to builder B for House development in Kerala is 52.6% of total amount allocated to him for Bridge development in given 6 states, then
find the difference between the amount allocated to builder A for Metro development in Kerala and amount allocated to builder B for House development
in Kerala (in lakh).

01. 5 02. 7
03. § 04. 6
05. 4



Tt F7er | 921 % e 3 forg fRetar A 1 srated wrtern, 6 Treat & a=e A & forw <& smafea wfer 1 25% § &iT #ea § arhe A &
orT F9ATaT B &7 srafed Tier 6 Trsai § T & faenre & T I8 srafed fo T F7 52.6% &, e H3e § el fowe & forg fAwiar A &7 smafeq

T7far T Feer & wreRt farewre % forw fRwtar B & swafea wrfer 3 < st &1 war s (ame ®/)1

01. 5 02. 7
03. § 04. 6
05. 4

Solution for Question 58

eng

Q-59

B C T Ho Ro Br Me
A K 24 6 72 4.8 6
Ta 32 8 9.6 6.4 8
De 24 6 72 4.8 6
L6f 20 5 6 4 5.
Bi 28 7 8.4 5.6 7
M.P 32 8 9.6 6.4 8
B K 12 2.4 4.2 3 24
Ta 28 5.6 9.8 T 56
De 36 7.2 12.6 9 7.2
U.P 16 3.2 5.6 4 3.2
Bi 24 4.8 84 6 4.8
M.P 36 72 12.6 9 7.2
20-12=28
B C T Ho Ro Br Me
A K 24 6 72 4.8 (3
32 8 9.6 6.4 g
24 6 7.2 4.8 6
20 5 6 4
28 7 8.4 5.6 7
32 8 9.6 6.4 g
12 24 4.2 3 24
28 9.8 i 6
36 2 126 9 7.2
6 3.2 5.6 4 3.2
24 4 8.4 6 8
36 ] 12.6 [} 2
20-12=8

What approximate should come at place of question mark (?) in the following questions?

63.49% of 8918.4+7% of 5321.2= 6826.55

01. 26 02. 33
03. 41 04. 19
05. 22

FraferRaa went & warfereg (2) & T O ST ST A SATOT?

63.49% of 8918.4+?7% of 5321.2= 6826.55

01. 26 02. 33
03. 41 04. 19
05. 22

Solution for Question 59

eng

Q-60

eng

63.5% of 8920+7% of 5320=6830
5320x?=(6830-5664)x100
7=22 (approx)

63.5% of 8920+7% of 5320=6830
5320x?=(6830-5664)x100
7=22 (approx)

Ans Key: 3

Ans Key: 5

The question given below contain three statements giving certain data. You have to decide whether the data given in the statements are sufficient for

answering the question ?

Rakhi, Surjeet and Aditya together started a business. What is Surjeet's investment?

I. The amount invested by Surjeet is half the amount invested by Rakhi and Aditya.

II. The average invested amount by all the three is Rs. 30 lakh.

III. The ratio between the amount invested by Rakhi and Surjeet is 3 : 4.

01. AIlT, 1T and III 02. OnlylandII



03. Only IT and 11T 04. 11 and either I or III

05. Answer can't be given even using all the
three statements.

Q-60 1= [T 7T FeAf H AT FAFT F ATEAH & FHF STFRTLAT AT % & ST T (00T F7AT 2 6 7 FAAT H & T2 ATHH I & 6 (70 G471 2|

TTET, TSI T AT 7 ey U sqaer Arees 6T av gesta 1 a9 #r g2

I gesia gy fAaferd wfer Tt sie sfaes grer fAatera arfer &t s 2
1. AT 5T i et wrfer 30 @ma =, 81
I TTET 3T qEiiq g7 At Trfer & &= sara 3: 4 2

01. 7+t [, 1 =¥ I 02. FFr [ Il
03. Fae 11 =¥ I 04. 11337 dT [T I
05. =T et 1 e oft 39 gl faar
ST "/ehdT
Solution for Question 60 Ans Key: 2
eng From I and I
Surjeet = Rs. 30 lakh
hi [T,
AT = %. 30 ATE
Q-61 What approximate should come at place of question mark (?) in the following questions?
(42.03% of 495.04 + 58.02% of 1200) = 9x?
01. 285 02. 315
03. 275 04. 260
05. 245
Q-61 frufafag wai & wf™reg (2) F AT TTATHT FITHIT ATTIAT?
(42.03% 0t 495.04 + 58.02% of 1200) = 9x?
01. 285 02. 315
03. 275 04. 260
05. 245
Solution for Question 61 Ans Key: 1
(207+696)/9=284.3=285 (approx)
(207+696)/9=284.3=285 (approx)
Q-62 What approximate should come at place of question mark (?) in the following questions?
- 68% of 1288 + 26% of 734 —215="?
01. 800 02. 900
03. 850 04. 750
05. 950
Q-62 fwfafad wai & waf~eg (?) F 7T T ATHT FITHIF SOCIAT?
hi
68% of 1288 +26% of 734 —215="?
01. 800 02. 900
03. 850 04. 750
05. 950
Solution for Question 62 Ans Key: 3
eng 68% of 1288 +26% of 734 — 215 =x 875.84 + 190.84 — 215 = 852=850 (approx)
hi 68% of 1288 +26% of 734 — 215 =x 875.84 + 190.84 — 215 = 852=850 (approx)

Q-63 Find that the amount allocated to builder B for Bridges in the states Delhi, UP, Bihar and MP together is how much more than the amount allocated to

eng builder A for bridges on same states together (in lakh)?



01. 72 02. 56
03. § 04. 6.8
05. None of these

Q-63  =a w o faeett, o, e sfe MLP o=t & gt % forw fRmiar B &1 smafea wrfer ua |mer ==t o=t 3 qeit # forg fAwtar A #iv smafeq afora
hi et srfars & (o= #)2

01. 72 02. 56
03. 8 04. 6.8
05. =i F AT A
Solution for Question 63 Ans Key: 1
eng B C T Ho Ro Br Me
A K 24 6 T 4.8 6
Ta 32 8 9.6 6.4 8
De 24 6 T2 4.8 6
U.P 20 5 6 4 5
Bi 28 7 8.4 5.6 7
M.P 32 8 2.6 6.4 8
B K 12 24 4.2 3 24
Ta 28 3.6 2.8 7 5.6
De 36 72 12.6 9 T2
5P 16 3.2 5.6 4 3.2
Bi 24 48 8.4 3 4.8
36 T2 12,6 <] 7.2
28-20.8=7.2
B C Ho Ro Br Me
24 6 T2 4.8 6
32 8 9.6 6.4 8
24 6 72 4.8 6
2 6 4
28 8.4 5.6 7
32 8 2.6 6.4 8
12 2.4 4.2 3 4
28 5.6 0.8 7 5.6
36 7.2 12.6 9 7.2
16 32 6 4 32
24 4.8 8.4 6 4.8
36 T2 12.6 Q 7
28-20.8=7.2
Q-64 Find the ratio of amount allocated to builder B for House development in the states Karnataka, Tamilnadu, Delhi and UP together to the amount allocated

to builder A for House development in the states Karnataka, Tamilnadu, Delhi and UP together.

01. 92:125 02. 125:92
03. 86:137 04. 137:86

05. None of these
Q-64  TTSAT FATeH, amAdTs, TRl ¥ It | =2 T & forw [MaTar B &' sated Ty 7 Fdiesh, qadrs, faeet e ot § v aro [{amar A
1T F Ao o fory strafed Trfer 1 srqurd s F20

01. 92:125 02. 125:92
03. 86:137 04. 137:86
05. i A TS T
Solution for Question 64 Ans Key: 1
eng B c T Ho Ro Br Me
A K 24 6 72 48 [3
Ta 32 3 9.6 6.4 8
De 24 [ 7.2 4.8 6
UP 20 5 6 4 5
Bi 28 7 5.4 5.6 7
M.P 3z 8 9.6 6.4 8
B K 12 24 4.2 3 24
Ta 28 5.6 2.8 7 5.6
De 36 7.2 126 9 S
UP 16 32 5.6 4 32
Bi 24 4.8 5.4 6 4.8
M.P 36 72 126 9 2
18.4:25 = 92:125
hi B € T Ho Ro Br Me
A K 24 6 7.2 4.8 6
Ta 3z 3 9.6 6.4 8
De 24 6 7.2 4.8 6
uP 20 5 6 4 5
Bi 28 7 8.4 5.6 7
M.P 32 8 9.6 6.4 8
B K 12 24 4.2 3 2.4
-~ o s = o o




Q-65

eng

Q-65

De 36 7.2 12.6 9 7.2
i 16 332 5.6 4 3.2
Bi 24 4.8 8.4 [ 4.8
M.P 36 72 12.6 9 T2

18.4:25 = 92:125

What approximate should come at place of question mark (?) in the following questions?

7+ 1342 x24-13.83 =895

01. 1600 02. 2025
03. 2500 04. 1225
05. 3025

Rraforfag vt & wafreg (2) F T TT AT FIT /1T dArTIAT?

7+ 134222413 83 =895

01. 1600 02. 2025
03. 2500 04. 1225
05. 3025

Solution for Question 65

Q-66

Q-66

7 +36%24-14 =895
7 +850 =805
J1=45

— A &=

Ans Key: 2

A boat can travel 4.2 km upstream in 14 min. If the ratio of the speed of the boat in still water to the speed of the stream is 7:1. How much time will the

boat take to cover 17.6 km downstream?

01. 42 minute 02. 48 minute
03. 40 minute 04. 44 minute

05. None of these

T A 14 e # 4.2 Tt 97 % S 9ate AT FT G gl TS 9T 0 AT T ATT ST § A1 6T AT | 7:1 FT AT g1 qT G 6 Aqaarg §

17.6 Tt 1 321 77 e § o & e

01. 42 e 02. 48 fime
03. 40 fa=e 04. 44 fe
05. =H q FIE T2t

Solution for Question 66

eng

Let the speed of the boat in still water and the speed of the stream is 7x and x
Then, Downstream speed= 8x, upstream speed = 6x

According to the question-

Upstream speed

= 4.2x@ =18 kmph
14

6x=18=>x=3
Hence Downstream speed =8 x 3 =24

Time taken for 17.6km = 17.6 % % = 44min

gfe aid ST & g Y TA T URT hY T 7x 3R x 2l
dq, 3guare Afd = 8x, Ufdee aIfd = 6x

THTTER
CIGEGEUGH

> 4.2x§=18ﬁﬂﬂ/ ge
6x=18=>x=3
3, JefaTe M = 83 =24

Ans Key: 4



17.6 Topaly 99 &t & orm =T AT

2176520 = 14 B
24

Q-67 The question given below contain three statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the question ?

What is the speed of train?

I.  Train crosses a signal in 14 seconds.
II. Train crosses another train in 16 seconds.
III. Train crosses 200 m. long platform in 24 seconds.

01. OnlyIandII 02. OnlyIand III
03. Only IT and 11T 04. Any two

05. AllIl,Hand I
Q-67 AR FTL

L 7 U R & 14 FF0 | 9T FHdT 2
I 39 & T & 16 0 H I FHAT 2
IIL 277 200 HYe¥ ¥ WIehiH & 24 FFHUS H I FHAT 2

0L F [ 1l 02. F=er [ & Il
03. Fae I1 377 I 04. FrTaT
05. &Y [, 11 ¥ 111
Solution for Question 67 Ans Key: 2

From I and III
X _x+200
[TT

x =280 m.

Speed = 230
14

=20 m./sec.

[ Y I 9,
X _x+200
14 24

x =280 #T.

Q-68 In an examination, the number of student passed was four times the number of students failed. If 35 student less appeared and 9 more had failed, then
the ratio of passed and failed students would have been 2 : 1. Find the total number of appeared students?

01. 135 02. 155
03. 145 04. 165
05. 124

Q-68  TF THEAT H I BIAT 0T HEAT, AT (S=TIHIT T AT HT AT AT gl AT TE&AT 7 35 FFameit ##7 qieaferd gra ua 9 sTier e ard
hi AT IAOT 3T srgeiiot et o o= erqama 2 ¢ 1 87 STrar Fe e farameff &2

01. 135 02. 155
03. 145 04. 165
05. 124
Solution for Question 68 Ans Key: 2

eng failed = x
passed = 4x
total = 5x

according to question,




s T |

total students = 155

hi T 3T = x
It = 4x
F/A = 5%
TLAT,

5x-35 3
x+9 1
—Za=31

e fermmfaa &t " = 155

Q-69 If Builder A saves 20% of the amount allocated for House development in the state Delhi and deposited that amount in a scheme which offers 6% simple

eng interest per annum, then find that what amount builder A will receive as interest from the scheme at the end of 4 years from the investment.

01. 100000
03. 144000

05. None of these

120000
136000

Q-69  =fx [wTar A Trs7 feeett # =¥ % fome & for swafea Tfer 1 15% a=rar & 3T 39 119 T U Ut ATSHT § STHT FIAT 8, ST 91 99 6%

HTETOT ST T&TH T &, T F1d F. T fRerer 71 4 a9 3 3@ & At | et T7f9r f6eey A 7 5971 % =9 | 9T gl

01. 100000 120000
03. 144000 136000
05. =q9 ¥ IS Aol
Solution for Question 69
B C Ho Ro Br Me
24 6 D 4.8 6
32 8 9.6 6.4 8
24 6 2 4.8 (3
20 b 6 4 5
28 7 8.4 5.6 !
32 8 9.6 6.4 8
12 24 4.2 3 24
28 5.6 9.8 7 3.6
36 7.2 12.6 9 7.2
16 3.2 5.6 4 3.2
24 4.8 8.4 6 4.8
36 7.2 12.6 9 7.2
600000x6x4
————— =144000
100
B C Ho Ro Br Me
24 6 7.2 4.8 6
32 g 9.6 6.4 g
24 6 2 4.8 6
u.p 20 5 6 4 5
Bi 28 7 8.4 3.6 o
M.P 32 8 9.6 64 8
B K 12 2.4 4.2 3 24
Ta 28 5.6 0.8 i, 5.6
De 36 7.2 126 9 7.2
Uu.p 16 32 5.6 4 3.2
Bi 24 4.8 8.4 (] 4.8
MP 36 T2 12.6 9 72
600000x6x4 _; 14000
100

Ans Key: 3

eng Passage

Passage for Question 53, 70, 76, 77, 78 (ST-50 SBI (136-140))

Read the following informations carefully and answer the questions given below.

In a ship, there are total 1680 passengers. Out of these, the ratio of males and females is 7:5 respectively. All passengers go to Britain, France and London. One-
fifth males go to only France. Twenty percent females go to only London. Ten percent males go to only Britain. 24 percent females go to Britain and France both.
The number of females going to only Britain is two hundred percent of the number of males going to the same country. One-fourteenth males go to all the three
countries. The respective ratio of the number of males and females going to France and London both is 2:1. Ten percent females go to only France where as eight
percent females go to France and London both. Remaining females go to all the three countries. The number of males going to Britain and France is 200 percent of
the number of females going to the same countries. Remaining males go to only London.




hi Passage
e TRt 1 eam@e seaaasme = T T =77 % 39 &A1)

T fT § o ATCAT AT FEAT 1680 21 SHH [0 37T AIRATSH AT TAT F 1= SAATT FHL: 7 1 5 5| THT JTAT 5, i i< & AT g1 Th-TG=H7er
TR FF HH ST gl S8 (a9 Aigars Fae dad St g1 a7 Taerd (69 Fae f6ed 1 gl 24 Widerd afgard e siv swie a7 St g1 #3a e
ST ATt AIGATS T TEAT IHT 19T 7 ST AT [T 0T HEAT HT I AT ATAqT g1 [T T 1/14 A7 3907 H O 1 B9 3T FaT ZAA1 ST aTel TRuT 37
HigeATst ¥ HaT F = AT 2 ¢ 1 81 T T AT Fael Wi STl g STath A3 Traerd Aigars B T da a1 Sl gl O qigard =t g9n
H ST g1 Fore ofT Thie STT aTer Ol o7 ST Ieal 2t 2971 § ST arelt Aigarel 67 S &7 200 Siaerd g1 99 (57 Fad dad Sd 2|

Q-70 What is the respective ratio of the number of males and females going to all the three countries?
eng
01. 2.7 02. 1:1
03. 3:11 04. 45
05. None of these
Q-70 T Tl H ST ATer TEUT ST AIEATSH ¥ wEAT F A FHT: ATAT FAT §2
hi
01. 2.7 02. 1:1
03. 3:11 04. 45
05. =% FFIE TE1
Solution for Question 70 Ans Key: 2
. Male Female
Total 980 700
Only France 196 70
Only London 420 140
Only Britain 98 196
Britain+France 84 168
France+London 112 56
All 70 70
Ratio=70:70=1:1
g5y BILISH
T@ 980 700
EEC i 196 70
EECICES] 420 140
Faa faea 98 196
[ECEtaE] 84 168
wia+eied 12 56
Eskail 70 70
STTITA=707"70i=gly: 1
Q-71 In a election for society head 3/5th of the voters in the society promised to vote for Priyanshi and rest promise to vote for Anchal. If 10% voters who
promise to vote for Priyanshi did not vote and 20% of those who promise to vote for Anchal did not vote on election day. What is the total resident in the
society who vote if Priyanshi got 540 votes?
01. 720 02. 860
03. 940 04. 1020
05. 650
Q-71  UF TEATWHE & FAE § 3/5 TR FAaTarei w7 (et 7 7 IA7 F7 a1aT F7d § Tath AT = Fl 7 <A77 H7 A&7 Hd | Teg 7 AT &
hi TSrioft 7 aTaT F+X ATer AARTATH H T 10% AT Tl STA ST STk 7= T ATET FLA ATAT H T 20% AT STA Al 3| Afs Srvefy v 540 7
et & ar st oy frae aaaTarst F 7 = 2
01. 720 02. 860
03. 940 04. 1020
05. 650
Solution for Question 71 Ans Key: 2
eng let total voters in the society be x

xxExE:SﬁIO
5 100

x=1000
1000x2x£:320
5 100

540+320=860



Q-72

eng

AT NS T AEAT x &
e M
57100
x=1000
1000x2x 22 320
5100

540+320=860

Raman took a loan of Rs.15000 from Laxman. He was agreed that for the first three years rate of interest charged would be at 8% Simple Interest per
annum and at 10% Compound Interest (compounded, annually) from the fourth year onwards. Ram did not pay anything until the end of the fifth year. How

much would he repay if he clears the entire amount, only at the end of fifth year? (In Rs.)

01. Rs.22506 02. Rs.22105
03. Rs.22900 04. Rs.22500
05. Rs.22450

THA, AT I 15000 FTT FHT 0T AdT g1 T8 TH a1 T2 HZHA 2IdT & 13 Tgel o1 auT o (o7 STy s3a1t ¥ 37 8% Fiaad grft sfi¥ =y ag &
AN o o0 =ehgfag sATT T 3T 10% (AT SITSTd) R |, T a9 6 3T T Hls S Tai FdT gl Fad Tiae a9 & 0 H, I T a0

T o form faraet Trfer &1 T AT g (F9T H)

01. Rs.22506 02. Rs.22105
03. Rs.22900 04. Rs.22500
05. Rs.22450

Solution for Question 72

Q-73

Q-73

At the end of three years amount will be 15000+ 360 = Rs.18600
Now after three years CI will be charged so amount will be

11 11
Rs.18600X — X —=Rs.22506
10 10

A =TT = T | T 2R 15000+ 360 = Rs. 18600
ST I | 7R F T3S 3 Qe Foram ST av afer gRiy

11 11
Rs.18600X — X — =Rs.22506
10 10

All the words of "ALIVE' are arranged in dictionary order. Find the position of the word LIVEA.

01. 49 02. 55
03. 57 04. 61
05. 90

'ALIVE' % STe1%i 1 9Tsah1T o ST A2 [T ST 2 | orea LIVEA it fearfa s 1fSrr |

01. 49 02. 55
03. 57 04. 61
05. 90

Solution for Question 73

eng

words starting with A = 4! =24

words starting with E = 4! =24

words starting with [ =4! =24

words starting with LA=3!=6

words starting with LE=3!=6

words starting with LIA =2! =2,

words starting with LIE =2! =2

words starting with LIVA =1

the first word with starting with LIVE will be LIVEA
sorank=24+24+6+6+2+2+1+1=90

A H TEET I AT 7% = 4! =24
E & YTEFA g9 AT 9153 = 4! = 24

[ ¥ YTIFT B AT 9758 = 41 = 24

LA & ITEFT g9 AT 958 = 31 = 6
LE | YTTF g9 a7 eTe3 = 31 = 6
LIA & YTTFA g1 ATl 9768 = 2! =2,
LIE ¥ Y& B9 a7l o8 =21 =2

Ans Key: 1

Ans Key: 5



LIVA & I8 g aTef 9Te% = |
LIVE ¥ YTTF g1 aTaT 92T 2758 LIVEA T |
AT FATAA=24+24+6+6+2+2+1+1=90

Passage for Question 58, 63, 64, 69, 74 (ST-2051RRBCLMAINS(46-50M)2019)
eng Passage

Study the following bar chart and table chart carefully and answer the questions given beside.

Following bar graph shows the amount of money allocated (in lakh) to 2 builders by six different state governments for various government projects such as House
building, Road development, Bridge development and Metro projects.

Project | Builder A | Builder B
House 25% 20%
Roads 30% 35%
Bridge 20% 25%
Metro 25% 20%

Karnatka Tamilnadu Delhi urp Bihar m.p

EBuilder A EBuilders

hi Passage
RafafaT T aTe h2aq 9T FTATYAF ALTITHL AT IAA | TATTT T F TN

FRrferfeaa ar are fEfee g airsETa S = i, g% G, o e ot 721 oA SEret F o @7 SewT- oo s qYERT g1 2
faeedl 1 (@@ o) srafed wrfer femardt 81

- L . — gfEsEr | Fafara | feEiars
4 24 24 |
20 | & 25% 20%
16
+ — — EoEed 30% 359
T 20% 25%
Tz 25% 20%

R oy

Q-74 Builder B bought a car from the 25% of amount allocated to him for Metro development in the state MP. If the builder purchased that car at discount of
20% on the marked price, then find the marked price of the car.

01. 880000 02. 950000
03. 1000000 04. 800000

05. None of these

Q-74  fA=TaT B A w57 wAdY § #er F fawm ¥ forw 3= smafed widr #57 25% & v w1 @did) 7 Autar 3 35 w7 w6 HRAd gow 1w 20% fr gg  w
hi T g, a1 w1 AT =fEAd F9d F7 aar a9

01. 880000 02. 950000
03. 1000000 04. 800000
05. =/ FHTE T2
Solution for Question 74 Ans Key: 5
eng B Cc T Ho Ro Br Me
A K 24 6 7.2 4.8 (3
Ta 32 8 2.6 6.4 8
De 24 6 7.2 4.8 6
up 20 5 6 4 5
Bi 28 T 8.4 5.6 7
M.P 32 8 9.6 6.4 8
B K 12 2.4 4.2 3 24
Ta 28 5.6 9.8 7 3.6
De 36 7.2 12.6 2] Tt
u.p 16 32 5.6 4 T2
Bi 24 4.8 8.4 6 4.8
M.P 36 7.2 12.6 9 T2
1 5

720000 X = X > = 225000
4 4



Q-75

eng

B C T Ho Ro Br Me

A K 24 6 72 4.8 6
Ta 32 g 9.6 6.4 g
De 24 6 7.2 4.8 6
u.p 20 5 6 4 5
Bi 28 7 8.4 5.6 7
M.P 32 8 9.6 6.4 8

B K 12 2.4 4.2 ¥ 2.4
Ta 28 5.6 9.8 i 56
De 36 7.2 12.6 9 T2
UP 16 3.2 5.6 4 32
Bi 24 4.8 8.4 6 4.8
MP 36 72 12.6 9 T2

720000% L x> = 225000
a2

The question given below contain three statements giving certain data. You have to decide whether the data given in the statements are sufficient for

answering the question ?
What is the monthly salary of Pravin?

I. Pravin earns Rs. 1200 more than Amal.
II. The ratio between Amal and Vimal’s monthly salary is 5 : 3.
II1. Vimal earns Rs. 1000 less than Amal.

01. Anytwo 02. OnlyTand 1l
03. Only IT and I1I 04. AIlL I and III

05. None of these
= 0 0 o | A AT AIEAH R/ AARIAT &1 TS g oIl g o waar g o Fr s 5 &

AT T AT ST T2

. ST S1Her & 1200 %, (T8 FHTAT 2

IL 39 Y fomer 7 /1iee o o = I 5: 3 2

I faeer 3/ & 1000 T FH FATAT 21

01. =rTar 02. Faer [T
03. et 11 37 I 04. =Ty 1, 11 37 10

05. =% F TS TR

Solution for Question 75

From [ and III

Praveen = Amal + 1200 ---(I)
Amal : Vimal =5 : 3 ---(II)
Vimal = Amall - 1000 ---~(1II)
From eq. (I), (IT) and (III)
Monthly income of Praveen
2500 + 1200 = Rs. 3700

[ 3 111 7,

TAT = 3| + 1200 ---(T)
Fue: A =5:3 (1)
e = 3\t - 1000 ----(1ID)
FHHRTT (1), (1) 3T (100) 7,
ST T ATEF AT

2500 + 1200 ==. 3700

o

STTARTIT

3T

af

Ans Key: 4

Passage for Question 53, 70, 76, 77, 78 (ST-50 SBI (136-140))
eng Passage

Read the following informations carefully and answer the questions given below.

hi Passage
Referiad SR 1 eam@e seaaaame = T T =07 % 3L &I 1o10)

In a ship, there are total 1680 passengers. Out of these, the ratio of males and females is 7:5 respectively. All passengers go to Britain, France and London. One-
fifth males go to only France. Twenty percent females go to only London. Ten percent males go to only Britain. 24 percent females go to Britain and France both.
The number of females going to only Britain is two hundred percent of the number of males going to the same country. One-fourteenth males go to all the three
countries. The respective ratio of the number of males and females going to France and London both is 2:1. Ten percent females go to only France where as eight
percent females go to France and London both. Remaining females go to all the three countries. The number of males going to Britain and France is 200 percent of
the number of females going to the same countries. Remaining males go to only London.




e forg & et ATt Y TEAr 1680 21 SoraH O s AiArsi £t €At F &S qqard FwHer: 75 g aft At e, Wi o7 owe A g1 vh-v=wier
=Y Fad T ST gl S8 (A9 AeaTd daed dad St gl T TTed T8 Fad (e ST gl 24 Taerd aigard H6ew sfiv % a1 St 8| #3ad fsed
ST ATeAT WIGATSAT T HEAT IHT F9T F ST AT T T ST T &7 HT TIFrd F1 T T 1/14 A7 S0 H ST 1 I 3T A A1 ST AT T 31T
AT T F=AT F A= ST 2 : 1 g1 TH TAAd AGATH Fael Hid ST § STk 1S Taad AT i ¥ Fa a1 STt g1 9 qigard qi=r a9
H ST 31 T ST shie ST ATl T ¥ ST Irat AT 2901 § ST ATAT ATgATalt it ST 7 200 TAerd 81 9T THT Faf dae AT 2l

Q-76

eng

Q-76

The number of females going to only France is what percent of the number of males going to the only same country? (up to two decimal places)

01. 38.67% 02. 45.71%
03. 41.83% 04. 35.71%
05. None of these

FAA TlE ST ATeAT FIZATH T HEAT Faed IHT 90 H ST AT [T 30T HEAT FT oh el A9 g9 % a1 &7 Tl aF)

01. 38.67% 02. 45.71%
03. 41.83% 04. 35.71%
05. =8 qFIE A5t
Solution for Question 76
. Male Female
Total 980 700
Only France 196 70
Only London 420 140
Only Britain 98 196
Britain+France 84 168
France+London 112 56
All 70 70

Q-77

Q-77

eng

Req. % :17!:3 #7100 = 35.71 (Upto two decimal places)

&Y |EHAT

S| 980 700
ET;[ sapey 196 70

e 420 140
waa faes 98 196 %’“"“
fres+wr 84 168
HIE+EE 112 56
7+t 70 70

iy, = %xmu: 35.71 (S99 3 21 AT )

What is the number of males going to France?

01. 368 02. 456
03. 250 04. 362
05. None of these
TR ST AT T&UT ol HedT #4782
01. 368 02. 456
03. 250 04. 362
05. =H T FIE T2t

Solution for Question 77
! Male Female
Total 980 700
Only France 196 70
Only London 420 140
Only Britain 98 196
Britain+France 84 168
France+London 112 56
All 70 70

Total number = 462
qey AqARBAT

— P ——

Ans Key: 4

Ans Key: 5



b 24
DI B
Bael oied
Beadl Tae=
faeg+wia
Wi+ S
|

FHA GE&AT = 462

~ouJ
196
420

112
70

rJyJ
70

140
196
168

70

Q-78 What is the number of females going to all the three countries?

eng

01. 60
03. 70

05. None of these
Q-78 <Y Fert H ST ATt HIRSATSAN F¥ HeeAT AT 72

hi
01. 60
03. 70
05. =i 7 475 T

Solution for Question 78
! Male
Total 980
Only France 196
Only London 420
Only Britain o8
Britain+France 84
France+London 112
All 70
Number = 70
H| 980
B B 196
Bael TiaA 420
e faeq 98
frea+mTa 84
BiE+e g 112
W 70
qE&IT= 70

02. 65
04. 68

02. 65
04. 68

Ans Key: 3

Female
700

70

140
196
168

70

HIZHAT
700
70
140
196
168

70

Q-79 The question given below contain three statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question ?

What is the area of the rectangular garden?

I.  The perimeter of the garden is 220 m.
II. The ratio between the length and breadth of garden is 7 : 4.
III. The length of the garden is 10 m. less than twice the breadth of the garden.

01. OnlyIandII

03. Only I and either II or I

02. OnlyIand III
04. Only II and IIT

05. Answer can’t be given even using all the
three statements

Q-79 T U TT WeT § T FAAT F ATEAT F F, ATARAT &1 TS & Il Ag 077 F3A7 § T 1 2T | <F TS A1 I & & (oI 947 2l
ATTATHTE SR T EAHA FAT 52
I &= T ot 220 e gl

II. &= T T TE 3T A1STE & &1 S(qaTd 72 4 2
TIL. ST T TS ATETS 6 ZIA & 10 He? F7 &

01. Faer13fiTll

02. Faer [ =TI

03. et I i< T av 1L 3T 11 04. Faer 11T 1L
05. =T Feret 1 fremee oft s gt far

ST "ehdT



Solution for Question 79

Ans Key: 3

eng I and either II or I1I are sufficient
hi [T AT I 9TH g
Q-80 The question given below contain three statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the question ?

What is the population of state A?

I. The ratio between the number of males and females is 4 : 5.

II. 70% of the total population are literate.

II1. There are 8 lakhs male literate in state.

01. OnlyIandII 02. Only IT and IIT

03. Anytwo 04. AllL IIand III

05. Answer can’t be given even using all the

three statements

Q-80 = QU W Woy § T FAAT F ATEAT & 5, ATARIAT &1 TS & Al Ag 01 F2A7 ¢ T 7 FHora7 | <F TS SAAHTT IAL 3 & [o1T T4 2l
hi

ST A FT STHEEAT FT 82

I T JuT GIEATe T 667 F S SIqaTd FH: 41 5 2
L. A STTEEAT T 70% TTEAT &
1L 7757 H 8 AT &7 A1 2|

01. FFa 1Tl 02. et 1130 111
03. Frgar 04. TfY 1, I 30 110
05. T et 1 e off 3= T8y f2a

SIKETI

Solution for Question 80

Q-81

Q-81

All together are not sufficient

Ty U T Y oAy el

Who can issue to the Gilt-edged security?

01. RBI 02. SEBI
03. A company of minimum worth 4 cr 04. A Bank
05. None of these

e wst wftrsgfer 7 1 ST 7 Fhar 82

0L, |IEdi™ (<id 02. &t
03. =[ATH 4 FIE F7F il TAAT 04. UF %
05. =H T FIE TRt

Solution for Question 81

Ans Key: 5

Ans Key: 1

eng Government surities are called Gilt-edged security, which are issue by RBI.
hi LRI T 1 Fiee-Us Fgm AT &, ST STa T3S g1 ST 360 S 2|
Q-82 ‘Who among the following has become the face of Reserve Bank of India launched a twitter campaign recently?
eng

01. Akshay Kumar 02. Virat Kohli

03. M S Dhoni 04. Rohit Sharma

05. Amitabh Bacchan
Q-82 frwfafaa & & #19 warecfta fsrd & &1 =g a7 2 2 e grer 8 § v Raew afvam o frar g2
hi

01. Sere FHHTT 02. f3=7e Frget

03. T TH Y 04. wrfEa et
05. srfears aga



Solution for Question 82 Ans Key: 5

eng The Reserve Bank of India launched a twitter campaign urging bank customers to adopt digital modes of payment that are
convenient and safe.
hi AT TiSTel sfeh = ofeh ATEehi oh GloreTsieh ST GUETd alieh § 9TaT o fSiieet aileh STOT T 31T 3 8T U (el AT &
feram)
Q-83  Which is not correctly matched-
eng
01. CRR - cash reserve ratio 02. SLR - statutory liquidity ratio
03. NPA - nonperforming asset 04. NSDL - national security development Limited
05.  All are correct
Q-83 o @&t fae 4=t forar T 8-
hi
01. #reTae - o ATferd srqara 02. THUSAHT - FLTIAH TTAAT AT
03. Ay - fe-fAearte gREaEwT 04. NSDL - T8 g2eT fasme faffes
05. qFaEr e
Solution for Question 83 Ans Key: 4
NSDL is National securities depository Limited.
NSDL =9« ferern sy feaifsred ferfaes 2
Q-84 Which Country will host the Asian Boxing Championships for men and women in November December 2020?
01. Indonesia 02. Japan
03. India 04. China
0S. Pakistan
Q-84  FIT AT I FFGT 2020 H TEUT 37T AIZATSA * [oIT TITATE GHATST = (IAATAT T HSTATAT FHT?
01. Z=HfmET 02. o
03. «q 04. =i
0S. wrfear
Solution for Question 84 Ans Key: 3
India will host the Asian Boxing Championships for men and women in November December 2020.
TR Feer 2020 H T ST ATSATAT o [eTT TRTATS FaepalTsit < IR hl HSfaT=T 4|
Q-85  What is underwriting?
eng
01. Process of issuing a share by unlisted 02. A financial contract for the process of IPO
company.
03. Process of purchasing of share 04. Process of selling of Share
05.  Process of listing in share market
Q-85  Underwriting T 2?
hi
01. ST=Tag FUT T UF AT AT Fed 02, srEdtaqr it wienar & forg us & srqaer
EARIERI
03. 97 Y |drg iy wieear 04. 977 = T whar
05. ¥ aTeme ® ferfee it st
Q-86  Whatis the value of CCB in Basel-3 norms?
eng

01. 2.50% 02. 3.50%
03. 4.20% 04. 5.80%
05. 2.00%



Q-86 59« -3 HIEST § CCB &7 47 #4782
hi
01. 2.50% 02. 3.50%
03. 4.20% 04. 5.80%
05. 2.00%
Solution for Question 86 Ans Key: 1
eng CCB stands for capital conservation buffer.
hi CCB T qUT &9 &fved HH499 T gl
Q-87 What is the rank of India in ‘Open Budget Survey 2019, which is conducted by the International Budget Partnership?
eng
01. 49th 02. 53rd
03. 78th 04. 69th
05. 37th
Q-87 U aSte HAEU 2019 H WA HT TATF F4T &, ST AALE FoTe ARG G SATTd AT SITaT 872
hi
01. 494 02. 5347
03. 784 04. 69 =T
05. 37&f
Solution for Question 87 Ans Key: 2
eng India has been ranked at 53rd position among 117 nations in terms of budget transparency and accountability with the score of 49 out of 100.
hi 100 & & 49 = whR = G1Y e TR 37 Stareee! & At § 117 <91 o siter 9Rd sl 53 o T W W@l 727 2
Q-88 What is the name of the Ex-India football captain and first-class cricketer, who has passed away recently?
eng
01. Bijay Miahra 02. Ronny Roy
03. Dewanand Kowar 04. Basanta Das
0S. Chuni Goswami
Q-88  TA-9ITATT Feald HATT AT TIH AU o Fhahax w1 F#A7 AW ¢, Sowr g g1 6 e gr g2
hi
01. fas/ 7T 02. T T
03. TR FET 04. FFHaT ITH
05.  =g=ft ATt
Solution for Question 88 Ans Key: 5
eng Ex-India football captain and first-class cricketer Chuni Goswami passed away.
hi TR & qd el HHM SR Tom Soft et Tft et s frem & mm
Q-89  What s the minimum amount of a treasury bill?
eng
01. 1 lakh 02. 50,000
03. 5,00,000 04. 10 lakhs
05. 25,000
Q-89 T o= T =AqH T FAT 72
hi
01. 1«9 02. 50,000
03. 5,00,000 04. 10 <™
05. 25,000
Solution for Question 89 Ans Key: 5
eng There are 3 Types of treasure bill 91 days, 182 days, and 364 days. The minimum amount of treasure bill is 25000.
hi et o & 3w €, 91 fa=, 182 o+ 3w 364 fom1 === farer Y =gas 7rfer 25000 21




Q-90

What is the India’s GDP growth has been slashed by Fitch for FY21?

eng
01. 4.0% 02. 4.6%
03. 3.5% 04. 3.0%
05. 2.5%
Q-90 faTad 21 % forg e Ht STt I fFm gy =wer 1 12 22
hi
01. 4.0% 02. 4.6%
03. 3.5% 04. 3.0%
05. 2.5%
Solution for Question 90 Ans Key: 2
eng Fitch Slashed India’s GDP Growth Estimate for FY21 To 4.6% From 5.4 %.
hi T 7 v i S w1 g FY21 & fag 5.4% @ 4.6% e =ern
Q-91  Whatis sweat share?
eng
01. Share issued to the general public 02. Share issued to the employee of the company
03.  Share issued to the institutional buyer 04.  Share issued by an unlisted company
0S. Share issued by a listed company
Q-91 FEaITHTL?
01. =re ST=aT &1 ST T e 02. FUT F FH=TL FT AT AT a7 f2em
03. HEITTT GIIETT AT AT AT T fRear 04, Foneft sTaeitas F0 31T ST fo6a T3 9
05. T =it Fa1 grar St 6 17
T
Solution for Question 91 Ans Key: 2
When a company has issued shares to its employees, it is called sweat shares.
ST T FAAT O FHATAT T AT ST FT AT g A7 36 T4 AT Fgd 2
Q-92  Whatis CD in the money market?
01. commercial development 02. compact disk
03. certificate of development 04. certificate of deposit
05. certificate of discount
Q-92 HETASR H HiSt FAT2?
01. FyforfSas fasme 02. =HirFe owr
03. T =T ST T 04. STHT THTTTS
05. =g =1 {17 951
Solution for Question 92 Ans Key: 4

eng certificate of deposit started in 1989, it can be issued by a bank or financial institution.
hi 1989 ¥ 9[% T 7T STAT T THTOT I, TH S AT FE<( 1 ST g7 ST (3T ST H9e6dT 21
Q-93  Whatdo you understand by the IPO ?
eng
01. issuing of share by a listed company 02. issuing of share by unlisted company
03. issuing of share to employee 04. issuing of share for public
05. issuing of share for institutional buyer
Q-93 TS F AT FATAAAT 22
hi

01. U Fetag FUAT TT AT ST FTAT
03. FHATI T AT AT FZAT

02.
04.

FATorEes FAAT T AT AT FLAT
ST % forw orae ST AT



05. HEIWTG T F T 99 S 7T

Solution for Question 93 Ans Key: 1
eng when an unlisted company issuing share to the public the process is called Initial public offring.
hi S UF AAIZ FOAT STAAT T [GF AT ST FAT 8, AT TIHAT T ATATF AT ST Fgl ST 2l
Q-94  What do you understand by Stale cheque?
eng
01. Cheque presented on the bank counter after 02. A previous dated cheque
3 months
03. Cheque holds a dated which yetto come ~ 04. A Bearer cheque
05. none of these
Q-94 T FF AT FIT AHAT &2
hi
01. 3 HEM F a8 I Frge? T Y& a7 02. T faifera =+
LRI ET
03. == U faa T@ar g S ot TF AT 2 04 U fAT = F
05. =it 7 s T
Solution for Question 94 Ans Key: 1
A expired cheque is called stale cheque.
TFTITIE A%k %1 TaeT =k gl SATdT 2l
Q-95 Vineet Arora was appointed as new managing director and chief executive officer of which of the Insurance Company recently?
01. PNB MetLife India Insurance 02. Paytm General Insurance
03. ICICI Prudential Life Insurance 04. HDFC Standard Life Insurance
05. Reliance Nippon Life Insurance
Q-95  fafia et #1 g & § FwT Tt F 70 va e oY e S atew & w9 5 Fye G wm
01. U=t Hears® =2am 29qng 02. THUH FATA Z9ATLH
03. STEHTATSHTAS TS IATA ATSH 9T T 04, TASTUFHT 22 ATSH S9T1H
05. AT Mo a1 399"
Solution for Question 95 Ans Key: 2

Q-96

eng

Paytm has appointed Vineet Arora as new managing director and chief executive officer of Paytm General Insurance Ltd.

YT | fofid SISt 1 UITH S S3iLd Tfiiee ol 1T Sei fasTen ST qe shriehil ATeehi e fora 2

Recently YES Bank has announced the extension of its strategic bancassurance relationship with which Insurance company?

01. Oriental Life Insurance 02. Kotak Mahindra Insurance
03. SBI Life Insurance 04. Max Life Insurance

05.  Aegon Life Insurance
T & H T S 7 T STAT FAA 5 AT AT TOA (<o Hayel o (edqre ol Jreor sy &2

01. fydae are® oarH 02. e ATZET T9ART
03. TELTATE ATTH 9T 04. FoRT ATTH T9ATLH
05. T ATTF ZeARH

Solution for Question 96

Ans Key: 4

eng YES Bank has announced the extension of its strategic bancassurance relationship with the Max Life Insurance.
hi T Sk 3 Ao TS ST o AT 379 U oieh Heiey oh forea <Al S 1 2
Q-97 Recently who has been selected as a member of the Naismith Memorial Basketball Hall of Fame?

eng



01. T ee Williams 02. John Ruskin
03. Lenny Wilkens 04.  Tom Heinsohn

05. Kobe Bryant
Q-97 = &t 7 o ArsfEwyy Aeivae aredeate giet i %7 F 9357 F & § A7 747 82

hi

01. = faferavr 02. iq TRewT

03. &t fareseey 04. | AT

05. Fia g1
Solution for Question 97 Ans Key: 5
eng The late Kobe Bryant has been selected as a member of the Naismith Memorial Basketball Hall of Fame.

hi T Rlel SR T ATSEAS HHINAS STehealc Sict 1% T o Haw o &9 H 1 7471 2

Q-98 Recently who has been named as an advisor to Google Pay India?
eng

01. Arundhati Bhattacharya 02. Gita Mitta
03. Shikha Sharma 04. Rekha Sharma

0S. Chanda Kochar
Q-98  TTAE H I T =T F qATEHIT 6 &F H Ty AIHT 6T 7 22

01. sty swigr=m 02. sfrar o=
03. foraT 9ra7 04. @7 TZAT
05. FeTHEY
Solution for Question 98 Ans Key: 3

Former Axis Bank CEO, Shikha Sharma has been named advisor to Google Pay India.

oo s 1 g ©figent fmar vt it e ¥ $fean o weesEr SR W A

Q-99 Recently who has been conferred with ‘Hero to Animals Award’ by animal rights body PETA India?

01. Praveen Jadhav 02. Naveen Patnaik
03. Manohar Lal Khattar 04.  Ashwani Goswami

05. Trivendra Singh Rawat
Q-99 =T &l § vy AT wHEAT YaT AT G E 2 Ufreew srare & By sl B w82

01. =TT STEre 02. FHT TeATTH

03. TS ATl FgT 04, spsgit TreaTHt

05. g fig waa
Solution for Question 99 Ans Key: 2
eng Chief Minister of Odisha, Naveen Patnaik has been conferred with ‘Hero to Animals Award’ by animal rights body PETA India.

hi TSR o A Tel T ol TR SRR EEIT YT SIS ST TR ¢ THH TATS & FrTia et 71T 2

Q-100 Recently who has been appointed as the brand ambassador of Mobile Premier League?
eng

01. Tamannaah Bhatia 02. Virat Kohli
03. Kiara Advani 04. Sonam Kapoor

0S. Kartik Aryan
Q-100 =T & | Frarse NI S A UaHe & &9 # e g fhar mm g2

hi
01. FwaTE ATfeAT 02. f3wre Frgett
03. e srEaTIn 04. T F
05. =i s

Solution for Question 100 Ans Key: 1



eng Indian Actress Tamannaah Bhatia signed as brand ambassador for Mobile Premier League.
hi IR At qo=Te e 3 wremsa Shfter ofi & fore sire veaet & &9 7 garer fhy)
Q-101 Recently who has been appointed as India’s Permanent Representative to the United Nations?
eng
01. Abhay Mahajan 02. Ravi Shankar Sharma
03.  Anupam Srivastava 04. T.S. Tirumurti
05. Ramesh Goyal
Q-101 =T &t | 6 w6 g # 9a & st afaf=fer % =9 § fg B @ 22
hi
01. o7y ARSI 02. Tf9rH orT
03. oo “ferede 04. & uw. Temid
05. <FHer T
Solution for Question 101 Ans Key: 4
eng T.S. Tirumurti has been appointed as India’s Permanent Representative to the United Nations.
hi &r.um. fowenfd = wae g § aRa o vl sl % w9 5 g e
Q-102 Recently who has become the new Managing Director of the Sundaram Home Finance?
01. Lakshminarayanan Duraiswamy 02. Govind Shankar Sharma
03. Vijay Prakash Reddy 04. Satya Prakash Arora
0S. Ravindra Singhania
Q-102 BT &T § HITH ZIH FISAH & AT Tae (L9 FIe a7 82
01. Fesfiamergor gHearH 02. wfae o< T
03. fastr srefter gt 04. Fe TR LT
05. vz T
Solution for Question 102 Ans Key: 1

Q-103

Q-103

Lakshminarayanan Duraiswamy has become the new Managing Director of the Sundaram Home Finance.

R0 T et B WI3HE o T Yol Fawreh 54 7 2

Recently which State/UT Government has announced 5T plan to tackle the spread of Corona Virus in the Union Territory, which includes Testing, Tracing,

Teamwork, Treatment and Tracking?

01. Jammu & Kashmir 02. Delhi
03. Punjab 04. Goa
05. Chandigarh

T g1 H Foher Tro7 / Fg e T TR 7w AT =9 § FIET a7 % T9T F [Faew F forg 5T Jremr v oo 6 g, e adterr,

AL, ETHE , ITATY 37T ST orrferer &2

01. g =T FeHfiT 02. feweft
03. G 04. AT
05. =<hIE

Solution for Question 103

Ans Key: 2

eng

Government of Delhi announced 5T plan to tackle the spread of Corona Virus in the Union Territory. The 5T plan includes Testing, Tracing,

Teamwork, Treatment and Tracking.

hi

T T I 8

Toeeft TR = 3 TITTod YawT H ShIHT AR o FHR 8 9 3 foTw 5T A5 i =wom s 5T ST H eor, ST, dnesh , SUai

Q-104 Recently which state has become the first state to integrate Allopathy and Ayurveda to treat COVID-19 patients?

eng



01. Goa 02. Uttarakhand
03. Uttar Pradesh 04. Kerala

05. Assam
Q-104 =T & H FIF &7 75T COVID-19 TARAT F 3T & o0 TaAreft sfi¥ s T U F ardr Tgal 17 a7 147 52
hi

01. =T 02. 3ITRTEE
03. 3T e 04. F7T
05. =¥
Solution for Question 104 Ans Key: 1
eng Goa becomes the first state to integrate Allopathy and Ayurveda to treat COVID-19 patients.
hi TM&T COVID-19 AT & STl & fofq Tetieft 31T STRIde Al Tehlepd i aTelT TeatT US4 s TT)
Q-105 Recently which state government has set up a 24x7 toll free helpline for farmers during the upcoming Rabi procurement season?
eng
01. Uttar Pradesh 02. Madhya Pradesh
03. Kerala 04. Assam
05. Haryana
Q-105 2T T & FoFe T T¥aTe F ARTTHT T&lT @ETE HIS & I AT & [olT 24x7 21 T gedered SITad &l g2
01. I T 02. Heg gaoT
03. FT 04. 3w
05. gfmom
Solution for Question 105 Ans Key: 5

The Haryana government has set up a 24x7 toll free helpline for farmers during the upcoming Rabi procurement season.

FIATON TR A 5108 I & ST @ Tl HeH @S 6 o G e ohl 7aq o foIg <ieiTEl He e aTelt ‘2t 3l seues” I[& i 2

Q-106 Recently which private sector bank launched a two-month campaign, ‘Kona Kona Umeed’?

01. Laxmi Vilas Bank 02. Karur Vyas Bank
03. Kotak Mahindra Bank 04. ICICI Bank

05. IndusInd Bank
Q-106 T &t & e Tsft &1 o o9 7 37 ALl 7 SATHATT “FHIAT FAT IFAE ¢ AT 82

01. oreaft o 9= 02. %= H dF
03. ik AigwT iF 04, sirgefiariaians 4
05. Z=wee o
Solution for Question 106 Ans Key: 3
eng Kotak Mahindra Bank launched a two-month campaign, ‘Kona Kona Umeed’ with offers, discounts.
hi Shieh AEST ofch 7 &1 HEIH o1 STRRH, T AT 3fHTe” SRt feeehise & a1 iear foraml
Q-107  Recently which of the Railway Station has become the first station of Indian Railway to install sanitizing tunnel?
eng
01. Gorakhpur 02. Nasik
03. Vishakhapatnam 04. Ahmedabad
05. Dehradun
Q-107 =T &t 7 & &7 Yo w29 &fFers SR aver wanfia #3 arar T Ioa 7 Tt T2 &9 4T 82
hi
01. TER 02. =i
03. ﬁsrr@Tq'grm 04. srgHETATE
05. ég‘(@'—r
Solution for Question 107 Ans Key: 4



eng Ahmedabad Railway Station has become the first station of Indian Railway to install sanitizing tunnel.
hi HEHSTHTE (1ol TR SIS ST G TATIA L AT WA (e T T8 TR & T 2
Q-108 Recently which of the country has declared State of Emergency?
eng
01. USA 02. Italy
03. Japan 04. Germany
0S. Spain
Q-108 =TT &1 | T3 397 7 SITITARTA hT =IO T 22
hi
01. Fo[<h T ATV 02. zzet
03. ST 04. ST
05. =
Solution for Question 108 Ans Key: 3
eng PM Shinjo Abe has declared State of Emergency in Japan.
diuy 37T SATel = ST & STUTdehT shl STSOT < &l
Q-109 Recently the Independent Member Federation Sanctions Panel of the International Weightlifting Federation has banned which of the countries weightlifters
from competing in Tokyo Olympics 2020?
01. Malaysia & Singapore 02. Canada & Thailand
03. Maldives & Thailand 04. Malaysia & Thailand
05. Singapore & Thailand
Q-109 BT &F H TETAATA A FT TS eI o SUSe Haw Te Lol Herd Teer o o6 2977 3 Seferdedl &l STl e fash 2020 § Ffaeqe Fied &
giaeterd w7 f&a 82
01. woforT 3T iR 02. FATET 3T ATEAE
03. ATALT AT AT 04. TAfIAT 3T AT
05. TR =7 arsas
Solution for Question 109 Ans Key: 4
The Independent Member Federation Sanctions Panel of the International Weightlifting Federation has banned the Malaysia &
Thailand weightlifters from competing in Tokyo Olympics 2020.
ST TR HETHH o T Te HeTe o Gl 3 2R STieifUss 2020 H HARET 3R A1Eeis & YRRkl i Tfaeqel & o
wesifera st feam 21
Q-110  Recently People’s Bank of China has raised its stake in which bank from 0.8% to 1.01%?
eng
01. HDFC Bank 02. Axis Bank
03. State Bank of India 04. ICICI Bank
05. HSBC Bank
Q-110 2T ¥ & T ed o oA ATAT 7 o 5 | SO+T R 0.8% | F@The 1.01% HT 52
hi
01. T=STURHT 3% 02. Ul dF
03. 9Ty ¥ §F 04. srEHTaTEHTAE SF
05. THUHSTEHT 9%
Solution for Question 110 Ans Key: 1
eng People’s Bank of China has raised its stake in HDFC from 0.8% to 1.01%.
hi

e ok AT =TT - TS 7 7o fEer 0.8% & ST 1.01% FUE 2




Q-111

eng

Recently how much amount was sanctioned by Central Government for the 'India COVID-19 Emergency Response and Health System Preparedness
Package'?

01. [10,000 crore 02. [I2,000 crore
03. [15,000 crore 04. 0,000 crore

05. [J0O0O crore

Q-111 ET & H F% AHE g1 Ad COVID-19 THISTHT RETTH ST god e TSI Tt (o7 et Trfer w92 6t 75 01?
hi
01. 10,000 FTE 02. 12,000 FITE
03. 15,000 FTE 04. 20,000 FTTE
05. 8,000 FIIE
Solution for Question 111 Ans Key: 3
eng Centre has sanctioned E,OOO crore for the 'India COVID-19 Emergency Response and Health System Preparedness Package'.
hi F A "W HITTS-19 HATATTRTCA STTshaT 3 T JoTed! 3 i Tepst o forg. [15,000 g weg foru 2
Q-112  Recently Centre has approved 175 crore rupees for implementation of Jal jeevan mission for which state during 2020-21?
01. Meghalaya 02. Tripura
03. Odisha 04.  Arunachal Pradesh
05. Assam
Q-112  ZTAEH &7 72020-21 F 04 67 57 % For0 et Sitae 7o F Fraieaas & o 175 FE w99 #1976 82
01. F=maa 02. BT
03. srfeerm 04. STEUTH TaLT
05. E9
Solution for Question 112 Ans Key: 1
Centre has approved 175 crore rupees for implementation of Jal jeevan mission in Meghalaya during 2020-21.
&5 4 2020-21 % 3 HererRr H S Sfie R HrEtEd & g 175 s TR 6 Al & @l
Q-113  Recently Black rice of which state has bagged the Geographical Indication tag?
[.Lb
01. WestBengal 02. Punjab
03. Uttar Pradesh 04. Manipur
0S. Tripura
Q-113 2T &1 & T 1157 & Tl A9 F Ao Hahd &1 ST 67 22
hi
01. wf2s srer 02. Hore
03. 3T g9 04. wforqe
05. BT
Solution for Question 113 Ans Key: 4
eng Black rice of Manipur, also called the Chak-Hao has bagged the Geographical Indication tag.
hi AT o et e, TS Ssh-gret ot FeT ST 2, Hiifers Hehd &1 STH forart 21
Q-114  Recently Asian Development Bank has increased the size of its COVID-19 Response Package to $20 Billion, what was the initial package?
eng
01. $6.5 billion 02. $5.0 billion
03. $10 billion 04. $8.0 billion
05. $4.5 billion
Q-114 =T 21 | TS G 9% T 79 COVID-19 Reaiv T3s1 7 e a@tehe $ 20 Ao w7 fer 8, et st 77 o
hi

01. $6.5 faferm= 02. $5.0 fafer=



03. $10 fafera= 04. $8.0 faferm=

05. $4.5 faferrT
Solution for Question 114 Ans Key: 1
eng The Asian Development Bank (ADB) has increased the size of its COVID-19 Response Package to $20 Billion.
hi T3S faehT i (ADB) T 3199 COVID-19 Fri= Yt 7 TR sIgTaht $ 20 farfera 2 faam 2
Q-115 National Maritime Day in India is observed on 5 April every year, which edition of the National Maritime Day was celebrated on 5 April 2020?
eng
01. 52th 02. 67th
03. 65th 04. 57th
05. 75th
Q-115 a7 LT AT feaq g2 A1 5 ST HT AAAT AT 2, 5 T 2020 FT TET THET (@@ FT HI T FEHL07 THET T9T2
hi
01. 52&f 02. 6747
03. 654T 04. 5747
05. 754
Solution for Question 115 Ans Key: 4
National Maritime Day in India is observed on 5 April every year. This year is 57th edition of the National Maritime Day.
TR H TS Tl e & HTeT 5 ST ol BT ST 81 98 a gy S foae ot 57 af 66T 2
Q-116 Former Union Minister of State for Planning M.V. Rajashekaran has passed away recently, he was related to which Political Party?
01. Bharatiya Janata Party 02. Bahujan Samaj Party
03. National People's Party 04. Indian National Congress
0S. Nationalist Congress Party
Q-116 T3 FEF TroAT 157 T TH. AL, TG FT ZTA &1 § [ed g 7247 8, 78 g aereifae 77 ¥ gafd o
01. AT SaT IIer 02. g FHTS Tl
03. Foreer frqed a1t 04. AT TP FUH
05. TTgaTEr HRE TTET
Solution for Question 116 Ans Key: 4
Former Union Minister of State for Planning & Congress leader M.V. Rajashekaran passed has away.
& S AT T 3T ST i3 1 T 3. ToRIE a1 e 81 I 2
Q-117  Former Test spinner Stephen O'Keefe has retired from first class cricket after being omitted from New South Wales' list, he is related to which country?
eng
01. Australia 02. England
03. New Zealand 04. South Africa
05.  Afghanistan
Q-117 1A &%= o7 &6 AHE 7 = G137 98 il AT T AT 21 a1 AT A fohave | d+a19 o foram €, 98 g o | gaferd &2
hi
0L wiefor 02. Fwdz
03. =qsieie 04. =feror spsfiveeT
05. srRaTTREAT
Solution for Question 117 Ans Key: 1
eng Former Australia Test spinner Stephen O'Keefe has retired from first class cricket after being omitted from New South Wales' list of contracted
players for the next domestic season.
hi HATELTTT o el 252 R T2t SAThTTHT o ST ] 8 o foTdl = WISe el 31 STgsiierd Raetiea i Feh & TR ST o of1e w20l fohohe &

Hme of form




Q-118 Former India hockey player Balbir Singh Kullar passed away, he was related to which state?
eng

01. Haryana 02. Punjab
03. Rajasthan 04. Maharashtra

05. Madhya Pradesh
Q-118 «2a % A gl faaTeT aareiz fig Feaw 1w, ag e Tsg & Hafeq o

hi
01. gfrmoT 02. 99T
03. ST 04. wERTY
05. e o
Solution for Question 118 Ans Key: 2
eng Former India hockey player Balbir Singh Kullar passed away. He was a part of the 1968 Olympics bronze-winning team.
hi TRA % T4 oiehl Raee! aerei e ook & Fe) 98 1968 & HAicifies siea sfiaw areft 2 &1 fewr 9

Q-119  Cheque are mention under negotiable instrument act 1881 under which section?
eng

01. sec4d 02. sec5
03. sec6 04. sec7

05. None of these
Q-119 =% FT Ioc1@ TATAA SecHeH ATATTAH 1881 F Tgd [ SATANT & dgd [T TAT 52

01. secd 02. sec5
03. sec6 04. sec7
Solution for Question 119 Ans Key: 2

cheque mentioned under negotiable instrument act 1881 sec 6.

= T AU ANATAT TEEHE ATATTH 1888 F FFT 6 & H 37T 12T 8

Q-120 Appointments Committee of the Cabinet has approved the extension of tenure of all members and the current part-time chairman of the Bank Board
Bureau for how many years?

01. 3 years 02. 4 years
03. 2 years 04. 6 years
05. 5 years

oy
b
Y

Q-120 wf3w=e &t e afffa T aft aaeat F FawTe F FEdT sfiT 9% a7 421 F TAHTT STerHTiors sTeqel 1 fohae aut & fory oy

01. 399 02. 499

03. 299 04. 699

05. 599
Solution for Question 120 Ans Key: 3
eng The Appointments Committee of the Cabinet has approved the extension of tenure of all members and the current part-time

chairman of the Bank Board Bureau by 2 years,

hi ehferte 31 R AT = Tl TaRAT o FHTHHTC o [oRTL ST oieh SIS U o AT SIITRTICToh ST i 2 T oh (T8 Al o &1 2

Passage for Question 121, 122, 123, 124, 125 (ST-2048RRBBCLMAINS(1-5E)2020)

eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

The fact that Saudi Arabia, Egypt, Bahrain and the United Arab Emirates have handed over a list of demands to the Qatari regime should, on the face of it, indicate
some progress in the impasse created after they cut ties with Qatar. The list has not been officially released, but is reported to include demands that Qatar snap all
but trade ___ (A) with Iran, end military cooperation with Turkey and shut down the Al Jazeera news network. It may be that many of the demands are only
meant to be bargaining counters — even U.S. Secretary of State Rex Tillerson, who has been running the backroom negotiation along with the Emir of Kuwait, said
they are “very difficult for Qatar to meet”. In any case, such demands on the list may be more understandable if these countries ____ (B) with them as well. For
example, in asking Qatar to disown ties with al-Qaeda and the Islamic State, Saudi Arabia, Bahrain and the UAE cannot ignore their own role in building up Sunni




extremist groups across West Asia, sometimes in partnership with Qatar. The UAEhasa ____ (C) business relationship with Iran. And while the Saudi-led bloc
may object to “negative narratives” and the platform given to their dissidents on Al Jazeera and the other news outlets named, it is unlikely that they will (D)
too much on the internationally recognised news networks to close shop. The bulk of the demands, however, focusses on asking Qatar to enforce its own
commitments from the 2014 Riyadh declaration of the Gulf Cooperation Council on ceasing support to extremist and terrorist groups. This indicates that a path is
being cleared for a resolution to the current crisis. The next few days will be crucial in ensuring the __ (E).

hi Passage

9 frr g ra s afEge o g8 w eam T s R TvE q97S TTE=ATE IqTATTATE | T §&qT¢ II=a T & 19 A g, AT aeas: 5
THA (A), (B), (C), (D) T (E) foraeT g TEg I ST FIE CF A NF AT FT R I THF 3o & SULHSTH QU HFIIAT N
ATHT I FAFCT FTAITFLATY MTIFFTHFATFH T ITLH FTH IATATE | MAHT FAC A 97 F @ qa@ ITLH HTAIT FLATR

g o F ATHTE, AT AiEqoh, T, T=T, ATed, I29F, AT, &, I T T F1_(A)_ 3| Forar Freft amgy geaera & 3§ oo afa o srearfons
TRade & o some w1 81 G5 9O 9 F il & arrehd AT (B)_ g Y o o farsat & &4 et farer sma 37 sz & 39+ ot A=
T @ AT _(C)_ T¥ TR@Ed & oI Fgd gl 95 (o7 Sfaq i _(D)_ AT Ageaqur 81 36 a1 F7 39 d17 Tl _(E)_ F FHAT ST Thal gl 3W AT T
oI faeT =t % form arafierar 77 ST =rfan & 77 i 38% af & are7 e sitT 399 gu aE & gid et gn Ife 9 aafn i F sraTe-
T, Forae 2 FATaT, SHAT ST F4T oY, Fgh | SAAT A< SE 7 F T7 H IAA ST a1 T2 9 (o0 (7S A1 g TF o o0 emfian-greias
TEATH Hgd U gl &, Tod Afdsh 3T AreATiens: sitae &1 AT YT sraeds g1 30 YA § AR % fore o g3 7 37 S fFawor sire f&goor 3 are
5 ¥ F AT H _(F)_ 8| 5 F T390 3T Fahal § w5 UH T &, e g8 J1g o i1 572 g| faea si¥ @ IeadT & |0 SUed Hehel &l i %
IEI AT THT F _(G)_H Tad gU Ivg, A0Eg FHY TTATHFATT a7 6T AT AR IITE0T % oI g FiF J97T st T 398 JAa _(H)_ #1135, Fas
H, TTEIR ATAATH AT HHEATE QAT ht (57 FHEAT 2 ST T &1 aged AT 7 T 570 ot 81 G * for Far _()_ 21 9 7 0 orifa =7
m%‘;’n@w%nﬁa‘@ﬁaﬁm%lﬂﬁq%%ﬂaﬁsﬁaﬁtgwﬁwaﬁaﬁmélm—arrzrWﬁtnﬁaﬁww%ﬁﬁ?ﬁﬁ?ﬁ
%’T?WW%léﬁ%’}WHIHHM i Tror e 39fe 3 it e €, AT =9 et B oft aga veer & = B S v &) v W
ITTH_’I—‘TWIGI‘H“JIHH'J’J'_‘T H’ THEHT _(J)_ T:PTJT‘T*Tl

Q-121 Choose the correct option (A)

01. fries 02. ties
03. bond 04. share

0S. hoardings

Q-121 A * forwadt Awer g

01. faomr 02. wqgT
03. TET 04. F9Trg=T
05. =8 ¥ FTE T
Solution for Question 121 Ans Key: 2

Tie (n)- a thing that unites or links people.

JEl ‘FHTIT' Aeq B YANT 3R & FHTAA @ AT &- TEHAT MG BT TH 96 ThT Tl

Q-122 Choose the correct option (B)

eng
01. rectifies 02. complied
03.  implied 04. vile
0S. bathetic
Q-122 (B)F fawad RFea g+
hi
01. 30t 02. U=t
03. fF=m® 04. =rfen
05. =H q FIE T21
Solution for Question 122 Ans Key: 2
eng Comply (Vv)- act in accordance with a wish or command.
For other options-
Vile (adj.)- extremely unpleasant.
Bathetic (adj.)- producing an unintentional effect of anticlimax.
hi TR UL A B UANT 3T Tl AR B AT o-fFET 9 W 3 @ a1, S B drell, g

Q-123  Choose the correct option (C)
eng



01. ursine 02.  thriving
03. piscatorial 04. slandering

05. gossiping
Q-123 (O % forwadt fases 3+

hi
01. wfrsaT 02. F#rEr
03. fifeafy 04. s
05. it & e T
Solution for Question 123 Ans Key: 2
eng Thrive (v)- flourish; prosper.
For other options-
Slander (V)- defame
hi Tt ‘FHEIEY MEE FT U 3R FI FEIE F AT ¥ R aFg B SoS-RES FT ARTEE |

Q-124 Choose the correct option (D)

eng
01. sermon 02. quaint
03. ominous 04. lean
05. groan

Q-124 (D) ¥ frwadt fawer g

01. iy 02. T
03. «ifa=r 04. IqTch )
05. zit iy T
Solution for Question 124 Ans Key: 4

For other options-

Sermon (n)- a lecture

Quaint (adj.)- attractively unusual or old-fashioned.

Ominous (adj)- baleful/threatening

Groan (v)- make a deep inarticulate sound conveying pain, despair, pleasure, etc.

g ‘dlceplfele’ ASq @f TART 3d &l ‘dlcdlioid’ @ 31 & dedlel a1 gid

Q-125 Choose the correct option (E)

01. outcome 02. perjury
03. sloppy 04. slamming

05. escort

Q-125 E % fvuadtfawer g

01. IgIor 02. T

03. E:CEIES 04. EEE
05. =8 & #rE TEF

Solution for Question 125 AnsKey: 1

eng Outcome (n)- result
For other options-
Escort (N)- guard

3

gﬁr‘mw' A, B YANT 3§l 3G B 3 §- Fhell TEdeh, AICeh, AT G HTolE 3ATfe PT a5 dTFART AT TART Sl GAT &b T H Tk Tl ST
[

Passage for Question 126, 127, 128, 129, 130 (ST-2048RRBBCLMAINS(6-10E)2020)
eng Passage

In the following sentence, there are two blank spaces. Below it five pair of words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
which pair of words can be filled in the blanks in order to make a meaningful sentence.

hi Passage




= frg g raF oi=a8Td g8 w eama s Ruae g q97SR v a=ar @ qqtar 74131 3 g9&gmd oi=8 7 & 19 i €, shevass
A (A), (B), (C), (D) 3 T (E) fArFeq feuau g1 gT =1 & & F15 UH T LH eATTH TR I F 43 A STLFH N { U HIIATR
ATFHT ST FAFCT FTIITHFTATE AMTITFTHFATH T ITALH TT A IATAT | MIHT FXTAY FarFweai # & g4 STLH FTIIT FLATR

g o o ATHTT, AT AIEqoH, o7, THT, ATEd, I29F, AT, &, I T T 1 _(A)_ 2| o= Frefy amgy geaera & 3§ srow afas e srearfons
TEde & oI ST F3AT €| G5 ST o7 0 o HGTdl % qriehe Tevr & _(B)_ 8 ST F s+ foreat & faer et forer swaw 3 o1 & 39 o+ A=t
19t & AT _(C)_ 9% TEd & oIy Fgd g1 95  forw sfraq i1 _(D)_ =T ageayur §1 39 a1 #7 396 d17 Tl _(E)_ o THAT ST ThaT gl 3/ AT &
=T TRt 2f<h o forg srerfaerar ag gt AR 6 78 T 30 31T | aTe? (ol ST S8 gU =19 1 qid (=T al| TT a8 Ah d1¥ & ATHh1L-
T, forae S T, SHAT ST F47 o, FEh | AT e S oA F WAl H AR T A1 T2 9% o0 A 7aw g g3 F o entie-areiaE
TEATT Hgedqul Al &, dfedh Afde ¥ SATeATIcH STa &1 Hia¥ TATH AEeTF gl o0 YA § aneeid & o 93 g3 7 3 s fGawor sire g & a2
FTg oH F AT W _(F)_ 8| 5 F 990 ol Sl § %5 UH G &, 5\e g8 J o it seea g1 foa sfiv T Aqeaar & are SUfead d&ei 1 7 %
IEII AT TET F _(G)_ ¥ T gu I Avfiag w7 arafiaward q 7 st Jrfe v Iarer & forw g5 & awet sie saq s _(H)_ #1913, Bas
Her, qeEaT SAfaeaTe e FHEATT Aiaar i =7 quen § Sl g0 ot agd "l S ATt S At 71 g 6 forg AT _(D_ 21 T g e aifa
ITH 7 ACT F HIeATH I AT &1 THITOT o f=r T arifer off¥ @@= § FE0r 1 a1q F7d &1 qHEar, 747, Ta=dr ST AAariedwT A & dradiirs
3T o TH@ ToF 81 98 a1 T T AT ST TSI G904 % ST 3 &, ATehd eI &1 (6= 9T agd Tgo & o4<h (4 SI1d Tg &l Tr=1d qd
H T oot & it oo 7 2T, U g _(J)_ % g A

Q-126 The President gave nod to an order to implementation of the Goods and Services Tax regime in Jammu and Kashmir, clearing for the state
eng assembly for enacting a State GST law.

01. pertaining - sacks 02. pertaining - decks

03. entertaining - packets 04. reining - desks

0S. knowing - racks

Q-126 (F)* fagagr faser g+

01. wfrega 02. =R
03. frere 04. saferfy
05. =% FFIE 720
Solution for Question 126 Ans Key: 2

For other options-
Rein (V)- control
Deck (V)- decorate

Jgl ‘TR’ P AT 3RT &l

Q-127 Communal violence in a West Bengal district as and requested the state government to take
minority or majority".

steps to protect all the people - "whether they are

01. pique-risky 02. follower-elation
03. feud-cynical 04. eliminating-effective

05. unfortunate-effective

Q127 )% Frw wdt Fraew o

hi

01. =T 02. werT

03. gfada 04. 3f®

05. wfreT
Solution for Question 127 Ans Key: 5
eng For other options

Pique (N)- anger
Elation (N)- glee

hi Il ‘gRUET’ @1 gAer 3R ¥ uRUew &1 HY & 2@a 3yar A H 2@ A, el fwg, gear ar a9 & Afdea v

Q-128  The country's new anti-hijacking law, which capital punishment in the event of death of "any person", has come into force following a
eng notification.

01. prescribes-government 02. lays off- regime
03. points-follow 04. reel in- pressure

0S. prescribes-franchise

Q-128 M) ¥ frgad Awer g



01. fr<fifter 02. AT
03. &g 04. sremTeHT
05. =it i 7S
Solution for Question 128 Ans Key: 1
eng For other options-
Reel in- to bring in something/to attract someone
Lay off- give up or stop doing something.
hi FEl fafifer & g 3T § Rl o 319 & #3 I1  wmE, 3nd®E, S & Y|
Q-129 The gains from a single examination, when ............... at the district level in the regional language, as opposed to a multiplicity of tests in far fewer
eng locations are ...............
01. offered, self-evident 02. allocated, contradicts
03. positioned, bothering 04. released, challenging
05. calculated, admiring
Q-129 (¥ g adt RrFea a4
hi
01. e 02. ==
03. faftwa 04. iR
05. =% FFTE T
Solution for Question 129 Ans Key: 1
Option (A) is the correct answer.
Self-evident (adj.) - accessible
el ‘3EABR’ BT GANT 3T ¥ IENBR B 3 §- S DR B IT AU PR Q9T o @, AT, e
Q-130 Thelong-term............... of such reforms will depend on the commitment of governments to raise the level of public employmentand ...............
services to the public, both of which are low in India.
01. goal, offer 02. sustainability, render
03. objectives, give 04. authenticity, expose
0S. relevance, expand
Q-130 ) F fHuagr FFea A
01 Fugfd 02. gl
03. Wﬁr 04. FogTmoreT
05. fragfe
Solution for Question 130 Ans Key: 5
eng Option (E) is the correct answer.
Relevance (n)- purpose
Expand (v)- to increase
hi Tl ‘Qaef®’ & g 3R § .
%erﬁé‘er(nls)ahﬁﬁa ERREIRE ] ﬁﬁﬁ?ﬁ@ﬂﬂ%%m %@&m%l aﬁéa’rsﬂﬁ‘rﬁm?ﬁtr{waﬁﬁa%
mwaﬁqp‘fmmm%laﬁ e AT I 3HHh Gl ﬁ}lﬁv_d %Umal—cﬁra?r A 3ugw Mal H TIS DT
Q-131 Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
eng grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.
Cartosat-2E is the sixth and last of second generation cartography themed series, which started in 2007 with Cartosat-2 and includes Cartosat-2A,
2B, 2C and 2D.
01. last of a second generation cartography 02. last of the secondly generation cartography
03. last of the second generation cartography ~ 04. last of the second generating cartography
05. No Correction Required
Q-131 FRARTATTAFTITH ITRHEATT G GUE s TIoF T F AFeT LATCATE | T77 T F1E 139 T e 7@ IAF qg ATH
hi TF FALU ITFT TTATAT ¢ | TET A58 ATT HLIH (AT HTITLH T H FHq H1TY, TTTTT A537 § F 7 186 STLH A3 HT

FIT H™T



TLHTT FATITHRTLT T T FSreamd & 9mr w81 g, Tor it T RS &1 7 i 7 HTH T 92 8, WAy § Q¥ 397 i w=q1eg Fa7
EERAEE * ZATA gl SITUAf|

01. fore, woT 02. fafer, g
03. TaTesT, FEET 04. TrHTRER, TEO<T
05,z i 78 T
Solution for Question 131 Ans Key: 3
eng last of the (definite article required before generations) second generation cartography
hi Ugd RXeh WA 3 TR’ Aeg AN s 3D 0Tl Aag-TGUs ¥ T Jdi3 &1 Fest fom &1 g7y Reb TUe # ‘aeyr uee 3T Aifeh Tel
P cTIEAT W a1 & I B
Q-132 Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
eng grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.
The prices of high resolution satellite data in the international market were six times more then the price of comparable products” of Indian remote-
sensing satellites.
01. six times more then the prices off 02. six times more then a prices of compare
comparable
03. six timely more than prices of comparable ~ 04. six times more than the prices of comparable
05. No Correction Required
Q-132 FATRTTTTAFTITR T ICHEATTFE UE shTIAF T fAFCT GATCATE | T/ & FTS T I 1 SATAT IILG A § T A1HT
TF FAYLU FTFT TTATAT S | TET A58 AT HT 3D (AFET FTITLFH T A & Fovg Forg, frgrw ars3t # § gt fored Suge ars3i &7
FIT HAT
Tz wra T ar FEXT o G TgATd S ATl agd & #t g &1 3T & 7 #7799
01. FHTST, FroaTat 02. aT, TET
03. TH, TEl 04. wqeT, FI
05. =% T F1E TS
Solution for Question 132 Ans Key: 4
six times more than (used for showing comparison) the prices (plural prices could be there) of comparable
Ugel Neb TUTA A ‘AT sc &I YW 3T ¢, FIIeh I HIST bl Ul H ¢l qgy Reh TA F BEl Aeq 3MTIMN| T pIY § FST HUA DS Dhel
§ TEHNT U Bl
Q-133  Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.
Venezuelan President has warned the armed forces in his crisis-hit country against "fissures" in their ranks, ahead of war games seen as a show of
strength after the US President's threat of military action.
01. ahead of war games seeing as a showing of 02. ahead off war game saw as a show of strength
strength
03. ahead of war games see as a show of 04. ahead of war games seen a shows of strength
strength
05. No Correction Required
Q-133 dRAfrTagyAFITH T RweaTA P gUE sh I Sod v g FAFer gATC AU | 377  F1E 139 NF earai wxx@ A A ag ATHY
hi TF FACU ITFT T FATAT ¢ | TET A58 ATT HTIH (AT FTITLF TTH FHq H1TUY, TETTT 537 § F w0t (86 STLH U537 F7
FITFIQ
HAT T SATAT IS TINT ARl & SHEH ——— T & STATh I Fal § T AEqU AT HATU ST ST &by, TELAT AT FATSAT T HTAT F F@eA-
= & HIA-HT H off @ AT FeTE g1 /FAT B
01. =<, qTeTe 02. TS, fasht
03. wTE, oF-a 04. srTa, SRATSIA
05. <7, HaT-TaTE
Solution for Question 133 Ans Key: 5
eng No Correction Required
hi

Ugal Reh T # AT Qmmg?ﬁ%mﬁsagamrmasﬂ%mmmﬁﬂaﬁum#msﬁmamW%mﬁ ‘HeT-UdTe’ 3T,
FAG-TATE & T T AR H JG B HEA-UG BTl




Q-134

eng

Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Even though my grandfather was over eighty he still enjoyed reading books and sometimes spend an evening at the cinema.

01. sometimes spent an evening 02. sometime spent an evening
03. sometimes spent a evening 04. sometimes spends an evening

05. No improvement

Q-134 FARTITTAFATR ITICHEATT RS GUE A T3S T (AHeT GATLATE | TTH G TS ST I [4h &ITAI LG oA § I qTHT
hi TF FALU ITFT TT ATAT ¢ | TET A58 AT HT I (AHFT HTITLH T & T FIQ, TR 7T 9537 § & wat {8k UL U5 &7
EREEIE
EEIEEIEERICERIELK] T HS ST a9 AT &, ATHE-SHa H7 %15 9 & & & aqaa H ST el 2Tl
01. srfarsyrs=, stfasard 02. wEaol, A
03. FET, FHAFT 04. TaTHTIEF, FTAT
05. i & 7 T
Solution for Question 134 Ans Key: 1
eng sometimes spent (indefinite activity takes V2) an evening
Ueel Reh T & ‘3fadTed e 3Mwen, JfAHTeT & 37T & — S fawfaa @ fFar o1 3, o gus J a1 o 3, 39 & §AT_ A 99 Ald siad
&1 AT Td 8 30T = 7§l qEX Reb T # IAACHRY Aea MU iR faeteT F Soreror Haf &yt F anfavar fhw
Q-135 Which of the Phrases (1), (2) (3) and (4) given below each sentence should replace the phrases given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.
I made a quick count of the number of calls to various officials of the Health Department over the past two-three days.
01. few officials of the Health Department 02. Tittle officials of the Health Department
03. various officials of the Health Departments  04. various officials of the Health Department
05. No Correction Required
Q-135 A TRTTTTAFTITR T ICHEATTEE U E sH LSS T FAFeT ATCATE | T8/ F FTS T ST 1 AT IIIG A F TG I1HT
TF FAYU ITFT TTATAT ¢ | TET A5 ATT HL D (AT HTSTALH T A F{oha FIT9Y, TATTT U337 § F T {86 STLTH A3 HT
FIT HIT
ATHTIT: TET {797 ST1aT g T A TF F THT AT AAT T STHIS &, THT QAT AT TLHIT Fg &1 ST &, STateh 9c7 Tg 8 o aeeaer off
LI 1 1 2 s B
01. srfia, fRaw 02. roq7ef, HRf=T
03. zforerer, et 04. =z & 7S
05. gzvoe, idefier
Solution for Question 135 Ans Key: 5
eng No Correction Required
hi UEel Reh T & TERT e IO AR gEy Reb T F AfAMA fee 0T, FAifeh WFERT Teh Ifdefied Wy &1 & 2
Q-136 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng part is the answer. If there is no error, mark your answer as (5).
Sarah is aware that (1)/ replicating her winning cooperative formula (2)/ throughout Maghreb (3)/ is an ambitious step.(4)/ No Error (5)
01. 1 02. 2
03. 3 04. 4
0s. 5
Q-136 1= fXATTAT TeAF ATHFT ATTATAT & AT AT § g (A), (B), (), (D) Farweq fygwu & sruwr ag 3@ o area & foredy wror &
hi STHIW, ATHT, TAAT, ST & TAT TATTATIHAT ALG FHTHTS ST ATART ¢ | TIT ATTFIAT AT ATHFT & TpdT TF AT | T GI9T| S AT

FTHATH T SUL g | AT FToRY 7T TRT § TV STL(E) Fofq gty Tfvm)
Y A 7 (A)/ THT ToAT (B)/ 5 S %07 (D) Fewa it 7 #1 of1 (C)/ TEfed (B)

01 ¥raTy 02. Trefy g



03. T off 7 A off 04. FEReT

05. =z ST ¥
Solution for Question 136 Ans Key: 5
eng No Error.
hi TRl ‘ge A d B TG W gied @9 dr @ g3 sRa
Q-137 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng part is the answer. If there is no error, mark your answer as (5).
The Centre has given Rs 1,200 crore funds (1)/ to the Telangana government under (2)/ the National Health Mission (NHM) over (3)/ the lastly three
years.(4)/No Error (5)
01. 1 02. 2
03. 3 04. 4
05. 5
Q-137 = fXATTATTAF ITHFT ATTATAN & AT 7AT§ Breg (A), (B), (), (D) FArweq fygww & srowr ag 3@ 3 area ¥ fordy wror &
hi STHIW, ATHT, A AT, ST & TAT TATTATSHT ALG FHTHTS ST ATART ¢ | TIT ATTFIIAT AT ATHFT & TdT TF AT H FT G971 SH AT
FTHATH T SU g | AT FToRT 7T TRT § TV STL(E) Aot FEfga v
I H=ZF U7 (A)/ F-1 WA U7 (B TF-TF TeI7 (C)/ FAT Z =) (DY T2 (B)
01. 3IFH=FIT 02. TH-UF e
03. <RI g o 04. FEfRa
05. AT ™
Solution for Question 137 Ans Key: 4
Option (4) Replace ‘lastly’ with ‘past’.
Q-138 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, mark your answer as (5).
Without a doubt, the young Tunisian hopes (1)/ that her successful career so far will inspire others, (2)/ and that other women especially will feel enough
strong (3)/ to shake the deeply anchored roots of these traditional agricultural practices.(4)/ No Error (5)
01. | 02. 2
03. 3 04. 4
05. 5
Q-138 = fEATTAT Y@ T ATFT AT AT & FTT AT R (A), (B), (C), (D) faFweq fyuaw | srowr ag s@aT 8 3% a1eeq & Frey A7 &
STHI, ATHT, TAAT, TSR & TAT TATTATSHATALG FHTHTS LT AT AR | TET ATT AT T ATHFT % (e T TFH AR T GITI ST ATTA
FTHATH ET I g | ITE F19Fg 7T YT § AV ST (E) Fgta gErcfga S
TZ 1T (A)/ TF I & (B)/ =T a¥g (C) HHATAT ST qhT 1(E) TEI =T (D)
01. Fgama 02. T I ]
03.  FHEATAT ST qFaT 2 04. st a2
05. Férfea
Solution for Question 138 Ans Key: 3
eng Option (3) replace ‘enough strong’ with ‘strong enough’ as adjective preceds noun.
hi TE FATR S Tl & & WA W FHSS S Fehell & &1 G207 30 ¢, s S0 Tear e e’ AT § 3HP AR Tk FASS S qebell &
& YA 3UGD &
Q-139 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng part is the answer. If there is no error, mark your answer as (5).

Egypt criticised the US decision (1)/ to reduce financial aid and (2)/ withhold some military assistance as a "misjudgement" (3)/ of strategic ties among the
two allies.(4)/No Error (5)

01. | 02. 2
03. 3 04. 4



05. 5

Q-139 = fRXATTIT Y@ T ATFT AT AT | FT2T AT § R (A), (B), (C), (D) faFweq fxuww | srowr ag s@ar g % areq & et A7 &

ST, WY, FAAT, 547 B TG T ITLEHT T HTHTE L VTG R A AT EA v a7 F Feft 0 woor & 7 o) v
FTFATF g1 S g1 T e & TfRa § AV I (B) srata gafga ffvrg

AT [ F (A)/ Tl 9 A7 (B) a8 T Ul g (D) 3 27 &9 &1 81 ST g1(C)/ TEefed (B)

01. it \f % 02. =fad qv off
03. g aa dw ST § 04. =g ot AT &
05. AEfRa

Solution for Question 139 Ans Key: 4

eng Option (4) ‘between’ will be correct as two entities have been mentioned.

hi

TEl ‘GE el At & & TIET W ‘dg a7 Al & & g7 3RT Bl

Q-140 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng part is the answer. If there is no error, mark your answer as (5).

A railway station in Rajasthan and eye-catching locations (1)/ in Qatar and Egypt are among the (2)/ early pictures beamed down by (3)/ the week-old
Cartosat-2 series spacecraft. (4)/ No Error (5)

01. | 02. 2
03. 3 04. 4
05. 5

Q-140 = fFRATTATTEAF ITHFT ATTATAT R AT TATE S5 (A), (B), (O), (D) FAweq frgwug g1 sruwrag @ g P area & Frefy wror &

STTHTW, SITET, T, AQT H TG T AT TG HT 778 A 77T ) & et v e & et g wvor & ff sty s o770
FTHFATH 1 ITT ]| T arFg 7 fga § Y s (B) rafa gdefga ffvrm

ST STLTET T (A)/ TR a1 Aal AT 9T (C)/ @ ag § Tg1 (B)/ &2 g1 #2(D)/ TEied (E)

01. RTT ST T 02. 97 aE A Tl
03. 3r< Fr 2 04. =T
05. =3 aTd TE1 HLAT AT

Solution for Question 140 Ans Key: 5

No Error

g ¢ A T BT AT p TAH | ¢ qId e Pl oA BT g 3T ol Fifh qAT-TS H IId’ USSP TAET TIAPT 37T & PROT
aﬁ%ﬁaﬁwaﬁmzﬁ'wmgmw%l = 3 a

Passage for Question 141, 142, 143, 144, 145 (ST-2048RRBBCLMAINS(21-25E)2020)
eng Passage

Rearrange the following parts (A),(B),(C), (D), (E) and (F) in the proper sequence to form a meaningful paragraph, then answer the questions given
below them.

(A) The Centre would like us to believe that

(B) By all accounts, the provision of basic services in urban India has been worsening,

(C) With the latest inclusions, there are 90 cities in the list, each of which proposes to turn ‘smart’,
(D) The Smart Cities Mission will transform urban life

(E) Utilising core funding from the Centre and other resources.

(F) In the agglomerations that enter the elite club.

(G) And this is clearly reflected in the winning city proposals.

hi Passage

frafafaa wrrt (A), (B), (), (D), (B) T (F) F T &7 § ga arelfs ag=ac AW & g aafRag w1 frrsas fi=w fegagwst F sz

(A) 1962 H ST 3T =19 & 1= T gl AT IA1 97 TEATV[LRE HI A1 o,

(B) T3 AT 1962 & Fgd 3T et [T & SATTT A1 &l IS HITAT § Tl Tl AT 0.
(C) T Z&Tt =1 |7 ZFAAT AT T2 37T AT ST | T AIAT SATAT 2.

(D) 37T T qTETE | AT 3T =9 <1 TZHT0] STl & o9 &,

(E) THaATH f5aTa 3 a9 qonteiid a1 Hi1 37807 STeetl o &7 2 Fgl oT.

(F) 58 |TAT aT& WA 37T =1+ S0 71k % "TH Tgad A0l (el 9 2.




Q-141 Which of the following would be the FIRST sentence after rearrangement?

eng
01. E 02. B
03. A 04. D
05. C
Q-141 AT FFHIT(IATEATH STTTEATATFT GTAFATG?
hi
01. E 02. B
03. A 04. D
05. C
Solution for Question 141 Ans Key: 3
eng The correct sequence is “ADFCEBG” and the passage is based on “The Smart Cities Mission”.
hi a@ra;pm ADFCEB"%aﬂTm@r "W 3R T Wanmﬁ?r% . . : : ,
1962 & HRA AR grg' Eﬁaa’ra?rtrm U A mfﬁrmﬁmaﬂ?zﬁam%@w#m%mmm
mmahqrﬁﬁ %v ?aﬁ@ﬁﬁ@maﬁmzﬁraﬁma@mﬁﬁw T ST . S [ade & agd
a—emhavmmhw ah-granﬁﬁm1962ﬁa?mﬁmgwtwﬁumaaﬁaﬁégmﬁﬁaﬁmm%m

Q-142  Which of the following would be the LAST sentence after rearrangement?

eng
01. E 02. G
03. A 04. D
05. C

Q-142 MAFTIRT(TATATF AT F AT ATFA G AFATR?

01. E 02. B
03. A 04. D
05. C
Solution for Question 142 Ans Key: 2

The correct sequence is “ADFCEBG” and the passage is based on “The Smart Cities Mission”.

e "ADFCEB" &, 3R o@ "%Rd 3R @ W 3naRd 2 }
1962 # HRA 3R A & 9= Jg ma‘ra‘ra’ra‘\)rm Tih HUel del J. 3T Eﬁfmﬂ@ﬁﬂnﬁ&ﬁr

I Gl URATY] ERART § o §. 58 Giell dIG
Nmaﬁr%ﬁaﬁ—amﬁ%%mﬁ aﬁésﬁfﬁﬁmaﬁmé?r IR AT JAI H TH_ AR il . ShAH [ddIg & agd
dchlellel Y& FHAT 30T Sicell av-g:rmﬁﬁsm?rwezﬂag?r&n fFpe T © SAIGIT Tl B Ble FINAT H Aol Teell dMRT.

Q-143  Which of the following would be the SIXTH sentence after rearrangement?

01. E 02. B
03. A 04. D
05. C
Q-143 AT T FIT(TATEATH ST AATATFT T AFATR?
hi
01. E 02. C
03. A 04. D
05. B
Solution for Question 143 Ans Key: 2
eng The correct sequence is “ADFCEBG” and the passage is based on “The Smart Cities Mission”.
hi e 31;?&1 "ADFCEB" &, 31X o "HRJ 3R da" W I9Rd % : : :
1962 & HRA AR I & = Ig T3 Eﬁaﬁa’rawm U A8 . 3T H dRE H HRT mmaﬁwmamgssmm
Waﬂwﬁah@ﬁﬂsmﬁ 3% aa’raﬁfr?ﬁﬁmaﬁmzﬁaﬁsﬁwa JA H TP _ART AT §. ShlH [dG & ToFd
Tcdhlelled &M AT 30T Sicell o ar a»-(:rmﬁs 19621#@@3 @%W%ﬁﬁémﬁﬁaﬁmm.
Q-144  Which of the following would be the FIFTH sentence after rearrangement?
eng
01. E 02. B
03. A 04. D
05. C

Q-144 AHd FF1T (TATEATH FITITHAT ATFTETAFATE?



01. E 02. B
03. A 04. D
05. C
Solution for Question 144 Ans Key: 1
eng The correct sequence is “ADFCEBG” and the passage is based on “The Smart Cities Mission”.
hi el 31;‘@1 "ADFCEB" &, 31X o@ "8Rd 3R did" X 3memig % : . )
1962 A HRA 3R ¥4 & d= Ig g3 Eﬂaa’rawlmw aﬁrﬁmﬁmaﬁrﬁa@aﬁwﬁ%ﬁﬂ%%ssmm
Waﬂ'\riﬂaﬂnf?rﬁﬁasma a’m’ra@raﬁrﬁmaﬁmaﬁraﬁraﬁta @aﬁﬁ:ﬁw T ST . S [ade & agd
Tcoplelld I&T HAT 3107 SAcall F ar EF&'-TﬂTﬁF 1962@ra§?r gmr%sm%r(r Hl Pl FIMAId H Ael Jeedl AIeT.
Q-145  Which of the following would be the THIRD sentence after rearrangement?
eng
01. E 02. B
03. F 04. D
05. C
Q-145 MAFATRT(FATEATE T AU ATFT I THATR?
hi
01. E 02. B
03. F 04. D
05. C
Solution for Question 145 Ans Key: 3
The correct sequence is “ADFCEBG” and the passage is based on “The Smart Cities Mission”.
qer "ADFCEB%H‘NF}E "HRA AR A" W 3ARd 2 ; ) ] d
1962 & HRA AR I & T g T3 dT gl G ARG HUed Aef I AT DI @ H AR ﬁrﬁa@ﬁmg%@aﬁ@rﬁa%.ssmaﬁ
Mm}ﬁriﬁﬁ@f‘&arﬁsﬂaﬁmﬁ AT e b ama?ﬁﬁ@maﬁm@raé‘r&ﬁrﬁ QAR H Th AR Sl & SblH [dd1G o deFd
Tceplellal 8T HAY 30T SAcalr mmﬁﬁwnﬁl%zﬁag?rsﬂ f¥ea gar & safT A aﬁaﬂéwﬁﬁaﬁmm.
Q-146 Choose the word most nearly the SIMILAR in meaning to the word given in bold.
Equat
01. paragon 02. make equivalent
03. Imbalance 04. regard
0S. agree
Q-146 = FFATFI A AT A58 A FATATE AT IoF T ITF YR 5% FRUATE T TF ET AT H qUaqi 0 KT ATSH A58 GHG FT 7 THE
FXA B | STTRT AT FTAT S T T TSI RITATE T ATFATA FTHET AT THE FLAT 2 | ST AFeq #1 g1 & smas13IqT 2|
“GF % 3T BT HT I
0. 37 e 02. IIIT=A
03. gaferer 04. IazeqTT
05. =it i 7S
Solution for Question 146 Ans Key: 2
eng Make equivalent
For other option:
Paragon (n)- perfect example
hi 3T — 9% Udd forae UIe ¥ ¥J & 36T el AT ST ol
Q-147 Choose the word most nearly the SIMILAR in meaning to the word given in bold.
eng
Bothered
01. irritation 02. convenience
03. digress 04. worried
05. aid
Q-147 R HFFATFAAIT AT THE FRTATE AT Iq* AT 07w TF 58 fRUATE 9T ¢F & A5 & ATHRATA FTATIF A5 GG HT AT THT
hi FLA G| AMTRT IATANTATE TR TG ASTHIT AT ST ATFRATA FTAGT AT THE FIATE | T (AFoq 1 G&AT T MIFHTIT RN

T S o= " W g ED



01. 3I== 02. 3recgsT

03. srqafa 04. A
05. 373 ¥ FrE 7

Solution for Question 147 Ans Key: 4

eng

hi

Q-148

eng

Q-148

For other options:
Digress (v)- deviate, diverge

el — ﬁ{wwﬁwﬁgﬁﬁl
3CTd — eI, 4, 399, 36X
g - awﬁﬁwg&naawﬁﬁammmﬁrﬁammﬁﬁgﬁmma(ﬁ —Sfa, HTeTe)

Choose the word most nearly the OPPOSITE in meaning to the word given in bold.

Systematic

01. sequential 02. haphazard

03. orderly 04. logical

05. judicious

A9 FEATFATAIT AT GG FITATE AT AT ATAUE A5 [AYTTE AT UFH T AT A aTFATAFTATIY A5C AHE HT AL THhe
FLA G| TR IATANTATE TR TG ASTFHITATE ST ATHRATA FTAGT AT THE FIATE | T (AFoq 1 T&AT ET MIHTITT RN

01. Oy 02. HqFHT
03. =r9r 04. T
05. i & S A

Solution for Question 148 Ans Key: 2

Q-149

Q-149

Haphazard (adj.)- lacking any obvious principle of organization.
For other options:

Logical (adj.)- having logic

Judicious (adj.)- justified

dX - &l # gRAfdd g drell Bel, 3TH & JaT H Howl|
HSIY —3 YO0, 3TA B G, 74T hige|

DI — HSR, G, Tl bl THT il

AP ﬂurgﬁqsﬁasﬁﬁ’eﬁﬁaaﬁ‘g’m%aﬁﬁ

Choose the word most nearly the OPPOSITE in meaning to the word given in bold.

Rapidly

01. in a haste 02. carelessly
03.  meaningfully 04. Jlately

05. slowly
9 FHATFATAIT AT G FATATE ATIqF AT A UH A5% fAYTTE T UF T AT A ATFATAFT AT IY A5T TG HT AL THE
FLA G| TR IATANTATE TR TG ASTFHIT AT ST ATHRATA FTAGT AT THE FIATE | T (AFoq 1 F€AT ET MIHFTIT LN

“Feel THT ATk § HaATA

01. FoaTH 02. =
03. e 04. T

05. =gEATTRE

Solution for Question 149 Ans Key: 5

eng

Q-150

Rapidly (adv.)- quickly.
For other options:
In a haste- hurry

;ﬂ%ﬁ%ﬁﬁ er?h?»ruﬁ'q’ra?rmquzhah; —
39 HEW AT, TR q G99 arer|
— FRETR®, i T wm?%

el - T, HER, 0T

Choose the word most SIMILAR in meaning to the word given in bold.



eng

Offset
01. Worse 02. Counterbalance
03. Launch 04. Approve

05. Hesitate

Q-150 A FFATFATA AT AT 9YE FRTATE hTSoF I wi= AR o153 RUATE Y UF & A7 F qUaqi A FTATIV@ A58 GG FT 94 THE

hi FLQ B MTAHRT IQATANTATE FF TZ AT T AT TN ATRATA FTAET (el THE FIATR | 3T Farsheq 11 &A1 & w1392
‘T % FHTL FATT G007 6T g0 Ao
01. 3ugHa 02. Wﬁf
03. W 04. W
05. =% T FIE T2l
Solution for Question 150 Ans Key: 2
eng Offset means to counterbalance.
hi m—ﬁﬁmﬂmﬁmw@rmml

Hard - WEWWW g(rﬁawsﬁs‘%wmzﬁmwmwr—«-r%’n

Passage for Question 151, 152, 153, 154, 155 (ST-2048RRBBCLMAINS(31-35E)2020)
eng Passage

Read the following passage carefully and answer the given questions.

Humanity is not about maintaining a gracious relationship between one another in the society but it is about building a bond amongst the society with the help of a
sustainable values. Humanity is not about showing passion and empathy to each other at times of need but about regarding love in high esteem and kindness in all
walks of life. Humanity is not just a word for symbolizing the human compassion and civilization but it goes beyond the horizons of human nature and his creations. It
is all about using hearts along with the minds in all the endeavours of human kind.

Human kind has come a long way in learning the ways of building relations and creating civilizations in order to inhabit this world with livelihood full of love and
harmony. Every human has a part in doing this great task of taking ahead the human race to a dignified and noble place on this planet. And this is where we all have
to be proud of ourselves and pass this message on to the future generations. Humanity, in general, is perceived as a charity. As the old saying goes, it begins at
home. It spreads across the roads we travel, places we dwell, and people we meet. Humanity, not as many criticise, is scarce today. It is very much available in
plenty. In fact, it has grown and evolved much better than centuries ago. From the individualistic aspect to a social, or even in a much larger perspective, humanity
has thrived well in embracing and supporting the human race in many different forms. Nevertheless, more and more people are still out there who are not that
fortunate to live the humanity in its central point of its existence; they are out there to seek the rays of hope and love and brace the traces of passion and kindness.

Today’s world, when we look at it in a social point of view, is full of greed, commotion, distress and distrust. Besides becoming more civilized and learning about the
intricacies of human race and development, we humans are mired by the new wave of modernization and outcomes of transformation due to technology innovations
and cultural incursions. As a result, we are preoccupied with our television, mobile phones, computers, etc., spending less time with the fellow humans. Our direct
interactions with our children, neighbours, and friends are taken away by this massive modern hi-tech living style. We do realise many times a day the importance of
humanity, love and kindness to other living beings but could not divulge them directly upon any one. We keep humanity in high regard in principle but have no time to
give it a meaning in our own life. We do not expend even a little time, a few seconds in the service of humanity, in the form of prayers or meditation or by any deeds.

hi Passage
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IFFTHFRIT

T § ST 7 STagre ATt ST 81 AT ZIT TATa T2 ST FOT ae FAreaer S (1881) =ffl 1940 F T9rF | 588 Sl ol AHFAAT
FOT T Al &7 STed 7ead Hf TS| FATaET G137 HOAT ATATIT FLALT 1949 § T g3, S 1@ | St Faae At == & 919 & Feriad gaim
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Q-151  As per your reading, what aids the building up of relationships within a society?
eng
01. Being understnding of the behaviour of all  02. Kindness towards mankind
generations
03. Values that are not fleeting 04. Knowledge of human behaviour
05. Both (2) and(4)
Q-151 Terier 3 SAATE, FoRa FTTU I F FTHT orveY 7 sr@reTor vy F e gam?
hi
01. Fsefreor 02. IETd=I
03. TSI 04. =i Y gy § Fhg F w0
05. = T TS TS
Solution for Question 151 Ans Key: 3
The answer can be inferred from the beginning of the first paragraph.
TEIHOT Tl & BROT A A T JUTel P FHYUROT I & TIEAR §3TI
Q-152 What is the message that author wants to convey from the passage?
A. People have cowardly or dishonourable behaviour.
B. A pretentious life is all people want.
C. People ignore to play a practical role on the path of humanity.
01. OnlyA 02. Olﬂy B
03. BothBandC 04. Both A and B
05. AllA,BandC
Q-152 T F JAATE, XoTd d & st 6 SRATH 7o gAATH G F ASTLFTHRITATHATUR?
01. 537 Hery 927 W2 02. 12 77 a9 FT €S
03. 837 HaH a7 WX 04. 1077 HaH FET WX
05. =48 ¥ IS A5l
Solution for Question 152 Ans Key: 5
The answer can be inferred after reading the passage carefully.
hi ReId §h 3T $iEAT & UK giedal & el & HSR Pl 1097 FIH I37 #75R &l
Q-153 How does today’s world appear when we look at it with the spectacles of socialism?
eng
01. Noisy disturbance of extreme anxiety, or ~ 02. The world is full of intense and selfish desire.
sorrow are prevalent.
03. There is a lot of distrust in the world. 04. Everyone is worried about the future not present.
05. All except (4)
Q-153 T ¥ AT, Foord & 7 6.7 <7 A7 A STATHT 0977 & 200 Hifew == =7 FFes @dar 9
hi
01. farg s+ 02. &<k g /A
03. farsg =TI &5 04. SFERTE qETHT
05. i & 7 T
Solution for Question 153 Ans Key: 5

eng

The answer can be inferred from the beginning of the third paragraph.

hi

Rord & & ‘Hadig @ AW A 200 A oA W W ATl




Q-154  According to the passage, what perception does the author have of humanity?

eng
A. Humanity is equivalent to charity.

B. Humanity is equivalent to malevolence
C. Humanity is equivalent to indignity

01. OnlyB 02. OnlyC
03. Only A 04. BothBandC

05. Both AandB
Q-154 THIAF ATHTL, TG #1 (59 TF F1 gAATFT 7979 §61 1 g1 § afeafaa rarrarg?

hi
01. srEHTameHTaTS % 02. §F ¥ F=TaT
03. =z 9% A AT 04. ST FoA IF
05. =iy & 78 T8
Solution for Question 154 Ans Key: 3
eng The answer can be inferred from the middle of the second paragraph.
hi ®e o 3 $f3ar &1 gfaan fr var ot H e F afFwiod fhar ¥ ®e d6 30 A & oRa F wed 3R am ¥

Q-155 Mention the negative impacts of modern hi-tech living style on the society.

01. Not much heed is paid to friends and 02. People now-a-days are occupied by electronic gadgets.
neighbours.
03. People don’t pay proper attention to their  04. Now, there are more intricacies in human behvioural patterns.
kids.
05. Both (1) and (3)
Q-155 i * AT, Fra TF AT A a7 1.3 AT AT stag?

01. = d =i =fear 02. 3% i a=reT
03. =¥ F IS AT 04. STTe 9 6
05. sTEHTaTSHTAS %
Solution for Question 155 Ans Key: 5

The answer can be inferred from the last paragraph.
hi TSEAINSHBTE db T oz o3 1.3 3RT IARST 3feR §l

Passage for Question 156, 157, 158, 159, 160 (ST-2048RRBBCLMAINS(36-40E)2020)

eng Passage
Read the following passage and answer the following questions. Certain words have been given in bold to help you locate the answer.

Think of the favourite gadgets and appliances, and it’s likely some of them started life in a randown, mosquito-infested dormitory complex an hour’s drive from
Malaysia’s capital, Kuala Lumpur. In each block there is a makeshift kitchen, a small, grubby toilet and three rooms crowded with bunk beds. There is no air
conditioning to break the oppressively humid air. Outside, burning rubbish sends acrid fumes through the labour camp, which is strewn with broken furniture and an
abandoned vehicle. To call it a slum would be generous. I’ve seen some truly appalling workers’ camps in Malaysia and the Gulf, but this rivalled the worst. Every
day, the men who live here work on factory lines making components used by Samsung Electronics, one of the biggest electronics companies in the world. Last
year, Samsung made a profit of almost $50bn (£38bn). In Malaysia that money is made largely by the hands of cheap foreign migrant labour — millions of workers
drawn from the region’s poorest countries. Malaysia, where forced labour — a form of modern slavery — is commonplace, has a reputation for the flagrant abuse of
workers’ rights. But that hasn’t stopped Samsung, and dozens of other leading electronics companies, from setting up shop here. Unlike its competitors, most of
Samsung’s products are assembled in-house, but it uses a long chain of suppliers to provide it with parts, services and labour, including foreign migrant workers.
Why must men who are part of the supply chain of one of the world’s biggest electronics companies live in such squalor and be treated so poorly? What was so
frustrating was that it’s a known fact. Men employed by a sub-contractor, but working on the assembly line of Samsung’s microwave oven plant, told me that their
passports had been confiscated, that they were being paid less than promised, and that they were deep in debt after shelling out high fees to recruitment agents in
their home country.

Despite working at seemingly normal factories, these men were effectively trapped in their jobs by debt bondage and felt unable to leave even though they knew
they were being exploited. Samsung’s response was quick. They fired the sub-contractor and announced improved guidelines for the recruitment and treatment of
foreign migrant workers. The guidelines, which apply to Samsung worksites and its suppliers, state migrant workers should pay no recruitment fees, receive the
minimum wage and retain their passports. The guidelines across the global operations as well as among suppliers of Samsung will be strictly applied and
implemented. At first, there were some positive signs. Workers at the microwave plant stated the factory was safe, the food was good and they liked the games
room in their hostel. Some said they were only being paid a basic salary of about a pound an hour, but they seemed complacent. Most importantly, those recruited
directly by Samsung since 2016 said they had not paid any recruitment fees. Although it was invigorating to see that changes had been made at this one plant, I
wanted to see if the same applied for workers further down the supply chain. Samsung certainly appeared to have made sure that conditions for the men it directly
employed and were legally responsible for had improved, but what about the many others also working at this factory, who were instead hired through sub-
contracting companies? According to its own guidelines, and international labour standards, Samsung is responsible for their welfare too. There were flats which




were home to 21 men from Bangladesh. All had been hired by a company that supplied workers, through another company, to Samsung. Even at Samsung’s
flagship plant in Malaysia, which produces batteries for its bestselling mobile phones, Samsung continues to use sub-contracted workers who have paid high
recruitment fees. What was striking was how afraid everyone appeared. They worried that if they spoke to they would be deported or punished. One worker,
referring to his direct employer, stated if they knew he gave an interview, they will take him to some place and beat him up.

What was found down this tiny part of Samsung’s electronics supply chain in Malaysia remains an everyday reality for the millions of migrant workers across the
world who toil daily to make the gadgets we use to make our own lives easier and more enjoyable. This is what it looks like when companies are left to police their
own supply chains; when mega-companies chase profit, with insufficient concern for a workforce that case has no means of comeback. The world who rely on the
sweat and toil of a migrant workforce need to imagine that everyone in their supply chain is their responsibility. Imagine recruiting them directly, not through agents,
and at zero cost. Imagine auditing your whole supply chain regularly and rigorously. Imagine paying everyone a decent wage. And then make it a reality.

hi Passage

9 g r@ s vy d A FRF A g gUE A8 T F fAFear gATTTC R | 79 § F1S T 9 I CH AT 7X@ IA A I ATFACH
FAQO FTFT TTATATS | TET A58 ATA BT IGH (AHET FTITLH €T A & Foha 10T, FRTTT 1537 & § T (8rF ST A3 FTIIT HI{TN

Q-156 Which of the following statements is NOT TRUE according to the passage?

eng
01. A few of the workers were satisfied despite 02. The intermittent work of the workers at Samsung makes our lives easier and more enjoyable.
the fact that they are not getting a promising
salary.
03. Samsung made sure that at least the 04. Almost every person immigrating from outside of the country has paid a huge fee for recruitment.
workers hired on legal grounds, get better
facilities at the firm.
05. Al of the above are true.
Q-156 sATITA fHFETAH TfREATTH FATA a7 AT I B, Sve TTLATTHT T 3 T ATt 1 7 47 & g Imame gqma &1
YTAAT HIATISAT ST IV AT HIA | AAEHA g1 A1 q9g & AFAL JA7d A g a1AT Fharer FTHIAIBTAAT |
01. @, &S 02. THHTH, ATcHZAT
03. wary, ST 04. HEeaqol, ASTELT
05. =i i 4TS T
Solution for Question 156 Ans Key: 2

The answer can be inferred after understanding the passage.

Q-157 What can be inferred from the line ‘To call it a slum would be generous’?

01. The area which was meant to live was for ~ 02. The ambiance of the living area was worse than a slum.
well-off people.

03. The workers would have to live in such 04. The generosity is that the area where workers live is being called a slum but it isn’t.
surroundings due to their circumstances.

05. Both (2) and (4).

Q-157 =Ea FwJagd BT 2, 19 TE AT &, AT TR | TR, TR FT I &; SH- g T, 91, =T, |, T, T, AT 7T 3777 Siifaq
hi FEGAT T AT 6 HIEH T e & ST 2
01. =igF, 37T 02. THTIITTAT, TFIT
03. orim, 57 04. se=wy, 91T
05. =i & F 18 T
Solution for Question 157 Ans Key: 2
eng The answer lies in the beginning of the first paragraph.
hi

Q-158 After migrating from another country, what are the consequences that the workers have to bear?

eng
A. The workers have to helplessly survive in surroundings which are not habitable.

B. Everything seemed a sign of pessimism to the workers right from the time when the work was embarked.
C. The wage given to them is a disappointing figure, lesser than the promised one which makes survival difficult.



01 Only (A) 02. Both (A)and (B)

03. Both (B) and (C) 04. Both (A) and (C)
05. All (A), (B) and (C)
Q-158 &+ sy T THATHTIAF § #4115 Freft adf faqw 7 7= ara @ o & w613 FF sfiaq ggfa s 19199 733 €, o
hi ITATAET AT FTUFATH A A (AUHTLGR FTHTE AT HLATE
01. sew, Torehi 02. wr, whi
03. 3w, erzorTferat 04. Trgra, STATASH
0.zt 3 A
Solution for Question 158 Ans Key: 4
eng The answer lies at the end of second paragraph.
hi
Q-159 In the question below a word is given. Find the alternative which is OPPOSITE in meaning to the given word.
eng
FLAGRANT
01. Blatant 02. Scandalous
03. Laudatory 04. Derogatory
0S. Unobtrusive
Q-159 g g MedIg wTig sadTar % T 9 TATTATAT HT AR T G TF G, Igi T a7 A 1190 Tgd § ¢ T a1 419
® giwg qfasr fasrs afes aodt g F arg AT F$ A arsii #1398 ariAa ga & fog o
01. ofsres, garfaa 02. wHesy, T
03. =fEm, IR 04. T, Mot
05. =H qFIE Tol
Solution for Question 159 Ans Key: 3
Laudatory (adj) — expressing praise.
For other options-
Blatant (Adj) — unashamedly done
Scandalous (Adj) — causing public outrage
Derogatory (Adj) — disrespectful
Unobtrusive (Adj) — not obvious
Q-160 As per the passage, why were the workers petrified?
01. They had a fear of getting suspendedor ~ 02.  They may get thrashed badly and face humiliation.
dismissed from the job.
03. They might get permanently terminated for 04. They had a perception that the employers are always rash.
giving an interview somewhere.
05. All except (4)
Q-160 T H AT ATTIATTIATCI@ATHIRFA G, TTTF EHAR G ELUF ATAT MALIAFATF IR A A AT grA1a1 8§ e zms forg
hi TET AT, A GLHTAATT & WATEATL 3 T FH=a1 #7 Ara=r 7 TET FTAFAT B
01. &=, a=TT 02. =y, owfaa
03. T, g 04. =H & FTE TN
05. armraT, fAfea
Solution for Question 160 Ans Key: 5
eng The answer lies at the end of the second paragraph.
hi
Q-161 Manipulating data to create information is known as------------- .
eng

01. Feedback 02. Processing



03. Programming 04.  Analysis
05. None of these

Q-161 = HTHIT T F forT STeT FT AATALT .......... FEATAT B
hi
01. Fi=as 02. wrafET
03. ST 04. uAtfartaE
05, T o T
Solution for Question 161 Ans Key: 2
eng Manipulating data to create information is known as processing.
hi TERTHIT a1 o o7 STeT A Tee AT TTHERT Fgardl gl
Q-162 A proxy server is used for which of the following?
eng
01. To provide security against unauthorized ~ 02. To process client requests for web pages
users
03. To process client requests for database 04. To provide TCP/IP
access
05. None of these
Q-162 = # & farg forw wist qa< v fhar sirar g 2
01. srafarsga g & form e et Suereg 02, 39 O % forw Fefreee R Trae e
AT
03. STeTe® T F {70 e ee fogee Trae 04, TCP/IP STt Tl
fTAT
05. =% ¥ HIS A5l
Solution for Question 162 Ans Key: 1
A proxy server is used for providing security against unathorise users.
T YTFET T T TANT ATAIIE LT bl TR & % [oI 21aT gl
Q-163  Which part of the computer helps to store information?
01. Disk drive 02. Keyboard
03. Monitor 04. Printer
05. None of these
Q-163  FFET FHT HIF AT TTE SHIAIT FX FIA § HEE FIAT &2
01. BvF3rEa 02. Frare
03. widrex 04. ffex
0.zt i A0
Solution for Question 163 Ans Key: 1
eng Disk drive of the computer helps to store information.
hi TS AT (ST T2 TR T F3 § 73 Fd 2
Q-164 Some thing which has easily understood instructions is said to be )
eng
01. User Friendly 02. Information
03. Word processing 04. TIcon
05. None of these
Q-164 == Forad ATt & TH=T & o1 9T T2 21 & 59 FgT ST 21
hi
01. ISR Feett 02. ZehTHoT
03. 7 JrHfET 04. szt
05. it i AvE
Solution for Question 164 Ans Key: 1




eng Some thing which has easily understood insturctions is said to be user friendly.
hi g o SEeaerT AT F THEA ST 9 & 39 I el Figd gl
Q-165 Addition to keying data directly into the database, data entry can be done from a/an
eng
01. Input form 02. Table
03. Field 04. Data Dictionary
05. None of these
Q-165 =TeTaH ¥, =TeT €Y ST & o, =TeT Ut T T SATAT 2
hi
01. =qe wH 02. ToeT
03. e 04. =Tar RRFRET
05. =it 3 A0S A
Solution for Question 165 Ans Key: 2
eng In database, data entry can be done from table.
hi T |, 29 & TTeT wiarg B srar )
Q-166 To test the IP stack on your local host, which IP address would you ping?
01. 127.0.0.0 02. 1.0.0.127
03. 127.0.0.1 04. 255255.255.255
05. None of these
Q-166 T gee T IP ¥ 2% Fed & (o0 & A7 [P UgH orq for w2972
01. 127.0.0.0 02. 1.0.0.127
03. 127.0.0.1 04. 255255.255.255
05. ==H T FIS 75
Solution for Question 166 Ans Key: 3
To test the IP stack on your local host, 127.0.0.1 IP address is pinged.
AT BTE U% [P & 2va o o7 127.0.0.1 IP TSH =T (U 27T STTAT 2
Q-167 Specialist programs that assist users in locating information on the web are called
01. Information engines 02. Search Engines
03. Web Browsers 04. Resource Locators
0S. None of these
Q-167 AT TRITH ST ISI¥ & 96 TT TRTHIT Alae Fed § AGE T & 9 FEAT &l
hi
01. =R 02. &= IS
03. 3T FTISIT 04. REE A
05. =H ¥ FTE TN
Solution for Question 167 Ans Key: 2

eng Specialist program that assist user in locating information on the web are called search engine.
hi TS TRITH ST A ¥ SHTHAT AThe Fed § Tag ATl g 39 T4 397 gl S1aT gl
Q-168 The process of trading goods over internet is called
eng

01. e-selling and e-buying 02. e-trading

03.  e-financing 04. e-commerce

05. None of these
Q-168 Zexwe ¥ qA At = Fit afswar FEATAT B
hi

01. £-3FrT i £-are 02. $3fET



03. Z_wreafenT 04. <_THE
05. it i v
Solution for Question 168

Ans Key: 4

eng Process of trading goods over internet is called e-commerce.

hi S T it AT R AT O S S 2

Q-169  Arithmetic operations
eng

01. involve matching one data item to another to 02. Sort data item according to standard, predefined criteria in ascending order or descending order.

determine if the first item is greater than,
equal to, or less than the other item.

03. Use conditions with operators such as 04. Include addition, subtraction, multiplication and division
AND, OR and NOT

05. None of these
Q-169 rfafeF stavem

01. =oH UF ST AEeH g G AT Fear g 02. =7er &7 weres, U9 AUl AT9de & S22t 37 sravral d # afe w3 g
ST g IaT STt g £ wger, gAY ¥ 9=y
g, @ AT )

03. TIET F AT FSIF TART FA 2 ofF 04, SIS, =TT, IO S 9T 2t 2
AND, OR #Z NOT

05. =% FF1E TEH

Solution for Question 169 Ans Key: 4
Arithmatic operation is used to add, subtract, multiply and devide.
AT AT | S, HET, YO ST A 2T 2
Q-170 The basic goal of computer process is to convert data into
01. Files 02. Tables
03. Information 04. Graphs
05. None of these
Q-170 FFET TTHA FT A16F 3299, STET BT T 2T 2
01. Frzer 02. oer
03. FmTHeTT 04. ITFH
05. T & FE T
Solution for Question 170 Ans Key: 3
eng The basic goal of computer process is to convert data into information.
hi FEFTT TTHH T AT 3297 STET T STRTHAT H FZT 21T 2l
Q-171  The process of a computer receiving information from a server on the Internet is known as
eng
01. Pulling 02. Pushing
03. Downloading 04. Transferring
05. None of these
Q-171 UF FFH S Ze¥Ae I Fa7 § THIALT TTH FHIAT § 39 FgT SATAT Bl
hi
01. wferr 02. qfET
03. ETRAAIET 04. zigwiar
05. =it i 7S
Solution for Question 171 Ans Key: 3

eng Downloading is the pricess of a computer receiving information from a server on the internet.

hi EISAATST H ZeiAe T¥ Ha § FFYEL SR oal gl

Q-172  What happen when we boot up a PC ?



eng

01. Portion of the operating system are copied 02. Portion of operating system are copied from memory to disk
from disk into memory
03. Portion of operating system are compiled ~ 04. Portion of the operating system are emulated
05. None of these
Q-172 & 3T PC € T Fd & af F#47 2l g2
hi

01. soefisr e FTarT REF A § 02, SirqefesT feew 7 9T a9 ¥ e a2 #idt gar gl
1T graT gl

03. siffe e T AT FraTEe T 04 sttt Rew it weere foraT St )
STaT

05. = ¥ 7S

Solution for Question 172 Ans Key: 1

eng We boot up a PC means - Portion of the operating system are copied from disk into memory

hi BH PC T&-31T F7d & THHT 7 & I Beed F7 AN fo&a § qHET § F7 F347 ZraT gl

Q-173 A graphic representation of the sequence of steps needed to solve a problem is calledan .

eng
01. Program Flow Chart 02. Step Chart
03. Rule Diagram 04. Program Graph
0S. None of these
Q-173 ¥ HHEAT &1 € F3A & (10 SAALTF €T %f AT @AT HT T2 FET ST 2
01. SR AT =TE 02. w=q=TE
03. =« U™ 04. THITH T
05. =% T FIS Al
Solution for Question 173 Ans Key: 1

A graphic representation of the sequence of steps needed to solve a problem is called an program flow chart.

T T AT (ST TRt ST HHEAT 2 e | (hIT STTaT & S° TR Tl A1E Fgd 2|

Q-174  Check constraint is used to enforce

01. Entity integrity 02. Domain integrity

03. Referential integrity 04. User- defined integrity

05. None of these
Q-174 @& 9% FA & o0 T AT F2d 3

01. ufeedy =HfuT 02. SEE S

03. ot s 04. o7 RRehrzes ZARE

05,z e
Solution for Question 174 Ans Key: 2
eng Check constraint is used to enforce domain integrity.

hi =T FrHC AT IAN ST Siefife & forg #:7q 2

Q-175 Which of the following are the computers that can be carried easily?
eng

01. Mini 02. Super
03. PC’s 04. Laptop

05. None of these
Q-175 = & I+ a1 Frege g o srarit & o St S @ 82
hi

01. 3+ 02. HT
03. i 04. ToaiT



05. =% A 1S T2

Solution for Question 175 Ans Key: 4
eng Laptop are the computers that can be carried easily.
hi AT F FFET & S AT | o Srar g
Q-176 The name that user gives to a document is referred to as
eng
01. Document name 02. File name
03. Name Given 04. Document - Identity
05. None of these
Q-176 =T\ & ToT STogHE FT 2qT § ST 489 AT gl
hi
01. =rrgHe 419 02. wrze AW
03. feaTgamam 04. =TEHe sTEefeedr
05. =it i s Y
Solution for Question 176 Ans Key: 2
eng The name that user gives to a document is referred to a file name.
ATH ST ISTX STHIHE FT AT § 3H B ATH Fgd 2l
Q-177 is a set of keywords, symbols and a system of rules for constructing statement by which humans can communicate the instruction to be executed
by a computer.
01. A computer program 02. A programming language
03. An assembler 04. Syntax
05. None of these
Q-177 _ FEE, a1 9 EaT @ ST UF TeHe aq & (o0 UF (A w1 [Heed grar ¢ S F6 FFge? gy uiEsee 3 & o
TECHI FH e Fd 2l
01. T FFT THUTH 02. T FRITHAT AT
03. TETEEY 04. e
05. =8 F FE T2
Solution for Question 177 Ans Key: 2
g A programming language is a set of keywords symbols and a system of rules for constructing statement by which human can communicate the instruction to
be executed by a computer.
T THITEAT AT ST frae, B e Rom &7 ffeed gl § S TeeHe a1t 8 oo g7 9a Seeaerd FeiHae Hi¥ 99d &l
Q-178 - can be another word for program.
eng
01. Software 02. Disk
03. Hardware 04. Floppy
05. None of these
Q-178 - THITH o forT TaeT 9158 g1 9T 2|
hi
01. =TI 02. fe=x
03. greaww 04. vy
05. it i S
Solution for Question 178 Ans Key: 1
eng Software can be another word for program.
hi Tqivag, T % forT e as8 g1 9%t g
Q-179 The dialog box specifies or modifies the worksheet cell range containing data to be charted is .
eng

01. Chart Location 02. Chart Style



Q-179  =TANT T ST, Fhefie T IT T AT AT ASHIS FIAT & ST ATE % ford ST T@aT gl a8

03. Chart Options 04. Chart Source data
05. None of these

hi
01. <7< Fraher 02. =7 Tz
03. =7e steerT 04. =T | =TT
05. =it & E T
Solution for Question 179 AnsKey: 1
eng Chart location specifies or modifies the worksheet cell range containting data to be charted.
hi FTE AT ST Fhefe T I T TR FIAT & SHH 79 gU ST =1E 67 ST 2
Q-180  Full form of DDR -
eng
01. Dual Divide Rate 02. Divide Data Ratio
03. Dual Data Rate 04. Data Divide Rate
05. Dual Disc Rate
Q-180 DDR & 0 &7 ---mom- AT eg?
hi
01. Dual Divide Rate 02. Divide Data Ratio
03. Dual Data Rate 04. Data Divide Rate
05. Dual Disc Rate
Solution for Question 180 Ans Key: 3
DDR stands for Dual Data Rate.
DDR %T 7% €9 Dual Data Rate 3|
Q-181 Artificial intelligence is related with which generation?
01. Ist generation 02. Second generation
03. 5th generation 04. 6th generation
05. None of these
Q-181  =ETRfraer Treefser o didt & Hefer & 2
01. ugoft digr 02. & figr
03. o=t g 04. =t figt
05. =% ¥ FIs A5l
Solution for Question 181 Ans Key: 3
eng Attificial intelligence is related with 5th generation.
hi ARt Teeforse qi=et et & Heferd 21
Q-182  Using print preview is useful when we want to
eng
01. Delete the document 02. Save the document
03. Colour the document 04. Change the document
05. view how the document will appear when
printed
Q-182 SEEW__ ATEdE al e e TN HTAT STINIT 2raT gl
hi
01. =TyHz fRefte Fear 02. =TRpHe e FeAT
03. TTRgHE AT 04. =TRTHE FEAAT
05. =Tergie ffe wea = FaT faer a8 T
Solution for Question 182 Ans Key: 5

eng

Using print preview is useful when we want to view how the document will appear when printed.

hi

TTRpHe FT faee st fife o S o zaes for ffe fSreg &1 st e st 2



Q-183  Which of the following refers to the fastest, biggest and most expensive computers?
eng

01. Personal computers 02. Super computers
03. Laptops 04. Note books

05. None of these
Q-183 77 ® & &I FaH oo, TG T=T T T HGIT FFEL 22

hi

01. e FFgeT 02. {U FFYeT

03. JUaiq 04. Freg®

05. =% A F1E ALY
Solution for Question 183 Ans Key: 2
eng Super computers refer to the fastest, biggest and most expensive computers.
hi Y FFAST T TS T A, T 9 AT HgHl FFEL 21 gl
Q-184  Animation Schemes can be applied to in the presentation.
eng

01. Current Slide 02. All slides

03. Select slides 04. All of the above

05. None of these
Q-184 TSEIAH --mmmmee H T ThIH ATATE gl FhcA! 2l

01. Fiee w1z 02. Ty wTEE
03. Ioree T2 04. IqT<F Ty
05. =% IS TGl
Solution for Question 184 Ans Key: 4

Q-185  Which of the following operations moves text from clipboard?

01. Drag and Drop 02. Cut
03. Paste 04. Copy

05. None of these
Q-185 At & & Fra-a7 sraved 3T 918 & eaee qa #var g ?

01. fruve iy 02. =

03. ez 04. =T

05. =i 778
Solution for Question 185 Ans Key: 3
eng Paste operation removes the data from clip board.

hi Tz A AT 1S & 21T gerat gl

Q-186 Which of the following type of internet access does not require a phone connection?
eng

01. Dialup 02. Cable
03. Satellite 04. DSL

0S. None of these
Q-186 7 H FI TF Sredric UFIH FT UF THT ¢ STAH I Hrlaeld i 9Tl Tal grdl 6%

hi
01. =faer =g 02. Faer
03. FeaTee 04. DSL
05. =H q FIS A5t

Solution for Question 186 Ans Key: 2




eng Cable internet access does not require a phone connection.
hi FIA Tredde UFH H I FdFd il ST&T qgl gl gl
Q-187 Which of'the following is the most powerful type of computer ?
eng
01. Professional work station 02. Desktop computer
03. Internet appliance 04. Network computer
05. None of these
Q-187 7 & & &9 FaH TaTqRa FFEL FT IFE & ?
hi
01. ST o T2 02. ITFel FFoger
03. Zavae Ut 04. Feash FFeT
0.zt 3 A0S
Solution for Question 187 Ans Key: 1
eng Professional work station is a most powerful type of computer.
hi TSI Fh &I U A8 TaTRd FFged e &l
Q-188 Find out the Input devices from given option?
01. Digital camera, speaker 02. microphone, printer
03. keyboard, mouse 04. scanner, monitor
0S. microphone, monitor
Q-188  Fwr it iy 7 2z foameer 29
01. Rfrea Fwer, v 02. wrzwM, fife
03. FarE, AT 04. AT, HivET
05. HTZHIFI, Hid1eT
Solution for Question 188 Ans Key: 3
Key board and mouse are input device.
#T TS AT 713 TAYE F2ATEH Bl
Q-189 DOS floppy disk does not have
01. A Boot Record 02. A File Allocation Table
03. A Root Directory 04. Virtual Memory
05. BIOS
Q-189 = wAMT BEF H Tl grar 2l
hi
01 gz frars 02. BT TATHIT 2T
03. TF wT AT 04. =T HHILT
05. BIOS
Solution for Question 189 Ans Key: 4

eng DOS floppy disk does not have virtual memory.

hi DOS AT fe&a & 9 a5 ot AT TET grat gl

Q-190 Which key should be pressed to start a new paragraph in MS-Word?

eng
01. Down Cursor key 02. Shift + Enter key
03. Enter key 04. Control + Enter key
05. None of these

Q-190 TH.UH. g€ H AT TUTE & T % (o0 i T A 97 Fd 82

hi

01. e FHTHT 02. forge + g HT



03. ey 04. Farer + TaT AT
05. w7 & S

Solution for Question 190 Ans Key: 3
eng Enter key is pressed to start a new paragraph in MS-word.
hi TH.UH-9S § TF TI7 FIUTE 9% FIF 6 (o0 Uee £ F97d 2
Q-191 Whatis the short cut key to highlight the entire column in MS-Excel?
eng
01. Ctrl+ Page Up 02. Cul+C
03. Ctrl+ Space Bar 04. Ctrl+ Enter
05. None of these
Q-191  MS-Excel # T FeH Tl ETEeATEE F2 % (o107 FI AT 2ehe ot TN Fid & 2
hi
01. Ctrl+ Page Up 02. Ctrl+C
03. Ctrl+EHaT™ 04. Ctrl+ Enter
05. = & 7E
Solution for Question 191 Ans Key: 3
Ctrl + space bar highlights the entire column.
- Ctrl + C is used for copying
- Ctrl + Enter is used for page break
Ctrl + W IR THUT HIcH BT BTZATSC PRAT © |
- Ctrl + C Bd B & foIg UART BIam 2 |
- Ctrl + Enter U 8 & foT¢ Y7 8iar 2 1
Q-192 Microsoft Excel is a powerful...........
01. DBMS package 02. Spreadsheet package
03. Communication S/W Package 04. Word processing package
05. None of these
Q-192 ATEAHEITE TFHA T AT ---------- ]
01. DBMS st 02. w=efiz fas
03. FHE[AhIrT AFZAT Tebot 04. =€ JTHTERT Tohst
05. =78 q FI2 Tol
Solution for Question 192 Ans Key: 2
Microsoft Excel is a spreadsheet package.
hi ATZAHTETTE TH TIEefie T 2|
Q-193  Multiple calculations can be made in a single formula using. ... ....in MS Excel.
eng
01. Smart Formula 02. Standard Formula
03. Complex Formula 04. Array Formula
05. None of these
Q-193  MS Excel # -------- T T T2 (e BT § A e deqa o grdl 2l
hi
01. +=wTE e 02. e wET
03. FFrF FRAT 04. ¥ T
05. s & s
Solution for Question 193 Ans Key: 4

eng Array formula allows users for multiple calculations.

hi TX. FHTHAT T2 FT HEa O HeRA 9T § TEAH TG &

Q-194 Comments put in cells are called .....
eng



01. Smart Tip 02. Cell Tip
03. Soft Tip 04. Web tip

05. None of these
Q-194 & & 0 gu FHee oo FEAT &)

hi
01. =rs oy 02. er frg
03. g g 04. g
05. =8 & F1E TEH

Q-195  Which option can be used to set custom timings for slides in a presentation?
eng

01. Slide Show Setup 02. Slider Timer
03. Slider Timings 04. Rehearsal
05. None of these

Q-195 v # 9% | F1-A7 ST FATES 1 FEEH 2127 il HE FIA & (o0 TINT 2am g 2

hi
01. =TT 9 qesTT 02. TTIET [THT
03. TATZEY IS 04. frgder
05. =zt & % T
Solution for Question 195 Ans Key: 4
Rehearsal option set the custom setting for slide.
Redet e warEe it Feew AT 92 AT 2l
Q-196 The secret data that restricts entry to some programs is ----------
01. Password 02. Passport
03. Entry code 04. Access code
05. None of these
Q-196 iae =Ter ST fOreT T & TS & ThaT 2, a8 -------- AT el
01. gmas 02. TTEIre
03. Zdrehre 04. TFH FTS
05. i & 7S At
Solution for Question 196 Ans Key: 1
Panword is secret data that restricts entry to some programs.
TS, A FIE & ST HE TUTH 61 TS FT a7 g
Q-197 Information that comes from an external source and fed in to computer software is called .
eng
01. output 02. input
03. Throughput 04. Reports
05. None of these
Q-197  <HIHIA ST THASAA HIH & AT g ¥ FFAEL diFeaay § qfag o smar g sq T SATAT Bl
hi
01. A3 02. A
03. o= 04. RO
05, e o T
Solution for Question 197 Ans Key: 2
eng Information that comes from an external source and fed into computer software is called input.
hi TR ST THFTEAA | F FFIEL H STAT ST g I TAYE Fgl SIraT gl

Q-198 What is the main folder on a storage device called ----------
eng



01. Interface 02. Platform
03. Root Directory 04. Device Driver
05. None of these
Q-198 T =T RaTed § e Hiee &l gl AT &
hi
01. Z=vie 02. e
03. == TTEvFT 04. Tz 3TEav
05. =% T FIS AT
Solution for Question 198 Ans Key: 3
eng Main folder on storage device is called root directory.
hi TS [RATER T BT Wiwe? A & SAHA F2d 51
Q-199 To make a copy of the current document to disk
eng
01. Use the duplicate command 02. This can not be done
03. use the “save” command 04. Copy the document
05. Use the “save as” command
Q-199 Fu STFgHE AT foew | F1ft a9 * forg
hi
01. geefiahe FHATIE AN F4d & 02. =H TE1 FoFaT ST TFaT 2l
03. “H= FHTIS TAN F7d 2| 04. sfFpHe Fft F77 21
05. g TS’ FHTIE TN Fd 2l
Solution for Question 199 Ans Key: 5

eng

hi

Q-200

eng

Q-200

hi

Use ' save as' command to make a copy of the current document to disk.

'Save as' FHTUVE HT THIT A AT STFLAE F 1 FTUT {TEF 9T FIF F AT FIT §)

With word wrap, when we type a word that extends into the

01. Right 02.
03. T()p 04.

05. None of these
& T 3 | ST 2 UF 9758 212 F § AT

01. =rari 02.
03. =t 04.
05. =% & IS TEl

Solution for Question 200

Bottom
Left

margin, both the insertion point and the word move automatically to the next line.

AT H 21 8, ZA1 89 TaTge ST orea S T STt A2 9% 99 FT S 3|

Ans Key: 2

eng

With word wrap in word, when we type a word that extends into the right margin.

hi

TS H TT % AT, ST W U AT 2129 F3d @ aI 98 a1 Ao | 98 ST 2




